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100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~
P

15000

10000

5000 7

TVC(cbch) (o 6,1)

AL Ju4e+09/3
<1292+ 0.1
1923+ 0.0

= -5.2(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (O 6

AL L2 /jze+09/3
-1257+ 0.1
189 5% 0.0

= -5.28 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (0, 6

rnany msbe+09/3
-1350% 0.1
1958+ 0.0

=-5.11 [ps/ch]
- 5

100

TP delay [ns]

TVC(C, bch) (o 6,13)

T 4 usze+09/3
-1085+ 0.1
182 5+ 0.0

%548 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000

10000

TVC(cbch) (o 6,2)

Tonangz, /me+09/3
-1177+ 0.1
185.4+ 0.0

= -5.39I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (O 6, 6

S rnu 2.8r5e+09/3
pO 41293+ 0.1
pl 191.9:+ 0.0

‘= -5.21 [ps/ch]
- EY

100
TP delay [ns]

TVC(cbch) (O 6 10

T 2.924e+09 /3
-1371+ 0.1
194.7+ 0.0

= -5.14I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (o 6,14

5000~
3

Tina Zyye+09/3
-1191+ 0.1
188.4+ 0.0

= -5.31I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (0 6,3)

AL 4 v4e+09/3
-1354+ 0.1
194 3% 0.0

= -5.1?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (0 6

Sz, /bHE+09/3
-1157 £ 0.1
185.1+ 0.0

= -5.40 [ps/ch]
= 5

100
TP delay [ns]

TVC(cbch) (0 6 11

Sy, iJ_le+0913
-1553+ 0.1
203 6+ 0.0

= -4.91 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (o 6,15)

T znyde+09/3
-1156 £ 0.1
1872+ 0.0

534 lpsic)

TP delay [ns]



15000

10000

5000

T zuse+09/3

TVC(c,b,ch)=(0,7,0)
T A

po -1510+ 0.1
pL 198.6:+ 0.0

= -5.03 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(0,7, 4

S a2 o8e+09 /3
po 1150+ 0.1
p1 185.7+ 0.0

15000
10000~ 7]
5000 | 71
= -5.39 [ps/ch]
0 = 5(') 100
TP delay [ns]
TVC(c,b,ch)=(0, 7, 8)
; X~ 1 2815e+09 / 3
po 1235 0.1
p1 / 189.3+ 0.0
15000
10000 7]
5000 [ ]
= -5.28 [ps/ch]
% - 5[') 100
TP delay [ns]
TVC(c,b,ch)=(0, 7, 12)

, X1 zozre+09 /3
15000~ zll) / fjfj;gg
10000 7]

5000 - 7
= -5.84 [ps/ch]
[ - —

TP delay [ns]

15000

10000

5000

TVC(c.b.ch)=( 0, 7,
T A

1)

T s.usse+09 /3

TVC(c,b,ch)=(0,7,2)
- T .

“rnuan 3urve+09/3
po -1668+ 0.1
pL / 206.2+ 0.0
I~ -4.85 [ps/ch]
5'5 100
TP delay [ns]

TVC(c,b,ch)=(0,7,5)

15000~
10000 [~ 7]
5000 [~ 7]
i~ -5.12 [ps/ch]
0 - 55 100
TP delay [ns]

15000 =
10000 [~ 7]
5000 [~ 71
= -5.13 [ps/ch]
50

15000

10000

5000

TVC(c,b,ch)=(0,7,9)

rnun 2.g/e+09/3

po -1287+ 0.1
pl 194.8+ 0.0

Srnur Zyse+09/3
po -1353% 0.1
p1 1952 0.0

100

TP delay [ns]

rnun Z.89e+09 /3

TVC(c,b,ch)=(0, 7, 13)

po 1394+ 0.1
pl 197.1+ 0.0

¢ -5.07 [psich]

100

TP delay [ns]

po -1478+ 0.1
[ pl / 196.9+ 0.0
15000 ]
100001 ]
5000 -— _-
[ G4 -5.08 [ps/ch]
0 £ T00
TP delay [ns]
TVC(c,b,ch)=(0, 7, 6)
C . X~ Z830e+09/ 3
L LY 1067+ 0.1
15000~ Pl / 179.9+ 0.0
100001 ]
5000 -— _-
L (4= -5.56 [ps/ch]
o = £ 00

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 10

aal 4.a)zve+09/3
po / -1081+ 0.1
15000 pl 184.1+ 0.0
10000~ J
5000~ J
™ <4
[
-
[ £z -5.43 [ps/ch]
0, = 1 1
0 50 T00

TP delay [ns]

TVC(c,b,ch)=( 0, 7, 14

. “rnu z.s)o::e+09 /3
po -1251% 0.1
L pl 192+ 0.0
15000~ 7]
10000~ 7]
5000 [~ 7]
N ]
[
-
[ 4= -5.21 [ps/ch]
A M B
0 £ G 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(0, 7, 3)
: A1 nun Z8sse+09/ 3
0 - + 0.
n /s
= -5.02 [ps/ch]
gé 100
TP delay [ns]

TVC(c,b,ch)=(0,7,7)

Srna Zore+09/3
po 9723+ 0.1
p1 178.7+ 0.0

= -5.60 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(0, 7, 11)

rnun 2.83e+09/3

po -1231# 0.1
pl 188.5+ 0.0

= -5.31 [ps/ch
ﬁ[p ]

100

TP delay [ns]

Tinaz2814e+09/3

TVC(c,b,ch)=(0, 7, 15)

po -1280+ 0.1
pl 192.6+ 0.0

A 5190t

TP delay [ns]



TVC(cbch) (O 8,0)

Trnua g, uuoe+m‘
1195+ 0.1
15000~ / 1858+ 0.0
10000~ ]
5000 1
= -5.38 [ps/ch]
R = ey 100
TP delay [ns]
TVC(c,b ch) (o, 8 )
T Z.bbbe+09 /3
PO 048+ 0.
15000~ pl / 1182‘?1: o.o1
10000~ ]
5000 = n
‘= -5.49 [ps/ch]
0 B % 100
TP delay [ns]
TVC(c,b ch) (0, 8 )
Tonaz.3e+09/3
PD -1239+ 0.1
15000 pL / 188.9+ 0.0
10000 1
5000 [ ]
= -5.29 [ps/ch]
% - ey 100
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TVC(c,b ch) (0o, 8 12)
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/ 1404+ 0.1
197.2+ 0.0
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5000~ 1
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R _Il5fl’l"'100
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10000

5000
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10000

5000 [~

15000

10000

5000
b

15000

10000
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TVC(cbch) (0 8,1)

Tz uue+09/3
-1063+ 0.1
183 7% 0.0

= -5.445_1é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (O 8

SR /515+09/3
-1037+ 0.1
183 6+ 0.0

‘= -5.45 [ps/ch]
=

100
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TVC(c,b ch) (0 8,9

Tz /bbe+09/3
-1379+ 0.1
1983+ 0.0

= -5.04 [ps/ch]
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100

TP delay [ns]

TVC(c, bch) (0 8 13)

T 4 Dbbe+09/3
-1345+ 0.1
1958+ 0.0

€ 511 sl

100

TP delay [ns]

15000

10000
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10000
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10000
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0

15000

10000
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TVC(cbch) (O 8,2)

AL 434a9+09/3
-1244+ 0.1
188.3+ 0.0

= -5.31 [ps/ch]
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TP delay [ns]

TVC(c b ch) (O 8,6

Crnaz32e+09/3
PO 1197 + 0.1
pL 189.1+ 0.0

‘= -5.29 [ps/ch]
=

100
TP delay [ns]

TVC(e.b.ch)= (o 8,10

T 2,po0e+09 /3
-1345+ 0.1
196.4+ 0.0

= -5.09I [ps/ch]

1
50 100
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TVC(cbch) (0 8 14

S rnu z.834e+09/3
-1418+ 0.1
200.2+ 0.0
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10000
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10000

5000

15000

10000

5000

TVC(cbch) (0 8,3)

Tz, /b3e+09/3
-1181+ 0.1
186.1+ 0.0

= -5.3; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (0, 8

s nar z 14e+09/3
-1175+ 0.1
189. 1+ 0.0

= -5.29 [ps/ch]
B—

100
TP delay [ns]
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T2 ‘Jble+09/3
-1337+ 0.1
195.1+ 0.0

£ -5.13 [ps/ch
= ﬁ[p ]

100

TP delay [ns]

TVC(c, bch) (0 8 15)

- nar 2. De-v-OQ /3
1324+ 0.1
197 3+0.0

4 50; [ps/ch] "

TP delay [ns]



15000

10000

5000

15000

10000

5000
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15000
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TVC(cbch) (o 9,0)

LAl £6(59+09/3
-1238+ 0.1
191.2+ 0.0

= -5.23I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (O 9,4

- rnun 2.890e+09 /3
pO -1310+ 0.1
pl 194+ 0.0

= -5.15 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (O 9,8

Tz, g0e+09 /3
PD -1087+ 0.1
- pl 181.6+ 0.0

= -5.51 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (0,9,12

Tnu zo83e+09/3
PO -1128+ 0.1
pl 187+ 0.0

- -5.35I [ps/ch]

100

TP delay [ns]
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10000
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10000
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10000
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TVC(cbch) (o 9,1)

Trnang u:wze+09/3
-1083+ 0.1
182.1+ 0.0

= -5.4&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (O 9,5

AL L2 H/le+09/3
-1162 £ 0.1
186 7% 0.0

‘= -5.36 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (0 9,9

Ty /ue+09/3
-1193+ 0.1
189+ 0.0

= -5.29I [ps/ch]
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100

TP delay [ns]

TVC(C, bch) (o 9,13)

T 4 /we+09/3
-1049+ 0.1
180.1+ 0.0
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15000
10000

5000
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10000

5000

15000
10000

5000
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15000
10000

5000 [~

TVC(cbch) (o 9,2)

ALY zavae+09/3
-1337+£ 0.1
193.7+ 0.0

= -5.16I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (O 9,6

S rnu 2.822e+09/3
pO 1304+ 0.1
pl 194+ 0.0

‘= -5.15 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (O 9 10

Tz ryse+09 /3
-1169 £ 0.1
186.5+ 0.0

= -5.36I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (o 9,14

T zpyve+09 /3
-876.8+ 0.1
176.8+ 0.0

- -5.66I [ps/ch]

1
50 100

TP delay [ns]

15000

10000
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15000

10000
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15000

10000

5000

15000

10000

5000

TVC(cbch) (0 9,3)

AL 4 voe+09/3
-1196+ 0.1
189+ 0.0

= -5.226 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (0 9,7

S 2 31HE+09 13
-1534+ 0.1
204.1% 0.0

= -4.90 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (0 9

Tz ame+09/3
-1246+ 0.1
190 5+ 0.0

= -5.25 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (o 9,15)

T z:m:;e+09/3
-966.6+ 0.1
1769+ 0.0
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15000

10000
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15000

10000
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15000

10000

5000

0

15000

10000
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TVC(cbch) (o 10,0)

ALY uuAe+09/3
-1091+ 0.1
184+ 0.0

= -5.43I [ps/ch]

100

TP delay [ns]

TVC(cbch) (o 10,4

S 3.141e+09/3
-1421% 0.1
197.9+ 0.0

‘= -5.05 [ps/ch]
50

100
TP delay [ns]

TVC(c,b, ch) (0, 10

“onu zg11e+09/3
PD -1108+ 0.1
pl 1815+ 0.0

= -5.51 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (0,10,12

Tonu 3.u2ye+09/3
-1489+ 0.1
P1 199.7 + 0.0

£-5.0 ps/ch)

100

TP delay [ns]

15000

10000

5000

15000

10000
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15000

10000
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15000

10000
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TVC(cbch) (0 10, 1)

LA u:wse+09/3
-1121+ 0.1
185 5+ 0.0

= -5.3&;)é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (0 10,5)

Ty, UHQE+09/3
-1577+ 0.1
2029+ 0.0

= -4.93 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (0 10

Ty, UUbe+09/3
-1437+ 0.1
198 5+ 0.0

‘= -5.04 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (o 10,13)

T ¢ Uuze+09/3
-1298+ 0.1
1938+ 0.0

<516 psich)

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

0

15000

10000

5000

TVC(cbch) (o 10,2)

ALY dlébe+09/3
-1057+ 0.1
180.2+ 0.0

= -5.55I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (o 10,6

S rnuz./61e+09/3
-1410+ 0.1
193.3+ 0.0

-5.17 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (O 10 10

5000~
P

Trna 3.02e+09/3
-1283+ 0.1
189.9+ 0.0

= -5.27I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (o 10, 14

T 3.200e+09 /3
-1447+ 0.1
199.4+ 0.0

£ -5.01 [psich]

50 100

TP delay [ns]
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10000
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10000
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10000
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TVC(C, bch) (0 10, 3)

Ao 4 Uuqe+09 13

-3908+ 0.1
3024+ 0.0

£ -3.3é[ps/ch]

100

TP delay [ns]

TVC(c, bch) (0 10,7)

T g Ubbe+09/3
2014+ 0.0

-1513+ 0.1

= -4.97 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (0 10 11)

Tz azze+09/3
L 184 8+ 0.0

-1092+ 0.1

= -5.41 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(cbch) (0 10,15)

-1329+ 0.1

T z 33:;e+09/3
190.1+ 0.0

£ 5265

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (0,11,0)

Tnun 25p0e+09/3
PO -1065+ 0.1
pl 181+ 0.0

= -5.52I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (0,11,4

“anu o zy1e+09/3
pO -1108% 0.1
pl 184.2:+ 0.0

= -5.43 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b, ch) (0,11,8

T 2p21e+09 /3
PD -884.9% 0.1
pl 169.5+ 0.0

‘= -5.90 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (011,12

Tonuzyyre+09/3
1266+ 0.1
P1 1915+ 0.0

= -5.22I [ps/ch]

100

TP delay [ns]

15000

10000
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15000

10000
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15000
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TVC(cbch) (0,11,1)

= -5.545_1é [ps/ch]

100

TP delay [ns]

TVC(cbch) (o 1,5)

AL L2 3me+09/3
-1226+ 0.1
192 5% 0.0

= -5.20 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (o 11,9

5000 [~

15000

10000

AL zmze+09/3
-889.9+ 0.1
1722+ 0.0

'~ -5.81 [ps/ch]
= 5

100

TP delay [ns]

TVC(cbch) (o 11,13)

5000 7

T 4 v34e+09 /3
-1246+ 0.1
189 6+ 0.0

<527 psich)

100

TP delay [ns]

A 2ip4e+09/3

PO / -1121£ 0.1 i
. L
P 1806+ 0.0 15000

10000

5000

15000

10000

5000 [~
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15000
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TVC(cbch) (0,11,2)

“inuzypre+09/3
PO -1146 + 0.1
pl 184.4+ 0.0

= -5.42I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (0,11,6

‘= -5.41 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (O 11 10)

15000

- -5.81I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (o 11,14)

T 2943e+09 /3

5000~
3

-1203+ 0.1
1894+ 0.0

= -5.28I [ps/ch]
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TP delay [ns]

15000
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pO 1202+ 0.1
pl 184.9+ 0.0 15000
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-845.8+ 0.1
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10000
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TVC(cbch) (0,11,3)
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100

TP delay [ns]

TVC(cbch) (0,11,7)

weoz yze+09 /3
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PO -939.2% 0.1
L pl 178+ 0.0

'~ -5.62 [ps/ch]
= 5

100
TP delay [ns]
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AL X UUHE+09/3
L 182 8+ 0.0

-1117+ 0.1

= -5.47 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (o 11,15)

-1011+ 0.1

T z B15e+09 /3
L 182.1+ 0.0

h
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TVC(CbCh) (O 12,0)
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-1162+ 0.1
186.7+ 0.0
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£ = 100
TP delay [ns]
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“nun 2.808e+09 / 3
G4£ -5.13 [ps/ch]
5(') 100
TP delay [ns]
TVC(c,b, ch) (0,12,8)
“ o 3.uoye+09 /3
Zi’ /. _‘
= -5.21 [ps/ch]
5[') 100

TP delay [ns]

TVC(Cbch) (0,12,12)

X~ 1nun 285e+09/3
-1083+ 0.1
p1 183.2+ 0.0
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100
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RATEE) uyhe+09/3
-1427+ 0.1
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= -5.09 [ps/ch]
5

100
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Ty, Ume+09/3
-1189 £ 0.1
185 5+ 0.0

= -5.39I [ps/ch]
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100

TP delay [ns]

TVC(c,b ch) (0 12 13)

S 4 sue+0913
-1246+ 0.1
191 2+ 0.0

S 5235,

TP delay [ns]
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T suvue+09/3
-1290+ 0.1
191.7+ 0.0
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p1 190+ 0.0

= -5.26I [ps/ch]
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Trnu Zpye+09/3
Po -1070+ 0.1
pl 183+ 0.0

‘= -5.46 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=( 1, 3, 12

Tainuzorse+09/3
po -844.6+ 0.1
pl 1755+ 0.0

= -5.70I [ps/ch]

TP delay [ns]

15000

10000

5000

20000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

TVC(c,b,ch)=(1,3,1)
T A

“nun 3.usoe+09 /3
PO 1162 + 0.1
p1 187.6+ 0.0

= 5.3::é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 5)

“nan1ubge+09 /2

Y -1461% 0.1
pL 208.9:+ 0.0

= -4.79 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(1, 3,9)

’
Tonaz.//9e+09/3

p0 -1000+ 0.1
- pl 178.8+ 0.0

= -5.59I [ps/ch]
50

100

TP delay [ns]

Tinuz.903e+09 /3

TVC(c,b,ch)=(1, 3, 13)

PO -1058+ 0.1
pl 186.1+ 0.0

¥ 53T loslen]

TP delay [ns]

T 29s/e+09/3

15000

10000

5000

TVC(c,b,ch)=(1, 3,2)
T X

po 1362+ 0.1
pl 193.7+ 0.0

= -5.16 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 6

15000

10000

5000

- rnun 3.088e+09 /3
LY 1573+ 0.1
pl 203.8+ 0.0

= -4.91 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(1, 3, 10

15000

10000

5000

0

T zp/8e+09 /3
po -1093+ 0.1
pl 185.9+ 0.0

‘= -5.38 [ps/ch]

- 1 1
50 100

TP delay [ns]

15000

10000

5000~

[ &= -5.65 [ps/ch]

TVC(c,b,ch)=(1, 3, 14

S 12e+06/3
PO -507.7+ 2.9
pl 177.1+ 0.1

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

AT rnun 3.115e+09/ 3

TVC(c,b.ch)=(1, 3, 3)

PO -1459+ 0.1
pl 198.9+ 0.0

= -5.025:3é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 3, 7)

S nu3.uz3e+09/3

Y -1658+ 0.1
pL 207.8+ 0.0

= -4.81 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(1, 3, 11)

rnur 2.8ye+09 /3

p0 -1149+ 0.1
pl 188.7+ 0.0

= -5.30 [ps/ch
= ﬁ[p |

100

TP delay [ns]

Tinanz./91e+09/3

TVC(c,b,ch)=(1, 3, 15)

PO 1096+ 0.1
pl 187.4+ 0.0

¥ 534 kslen]

TP delay [ns]



X 1 nun 1.1e+09/2 S 1 zuve+09 /2 S 5194e+09 /3 S 3.14e+09 /3

TVC(c,b,ch)=(1, 4,0) TVC(c,b,ch)=(1,4,1) TVC(c,b,ch)=(1, 4,2) TVC(c,b,ch)=(1, 4, 3)

0 1428+ 0.1 20000 0 1574+ 0. [ 0 1656+ 0. 0 15174 0.
E1 / 207.8+ 0.0 Sl / 2115:7544; g; L gl / 226751 gol 51 / zéilal g;
15000~ 7] 15000 — 15000 :_ _: 1800 ]
10000} E 10000 ] 10000 — — 10000 -
5000 4 s000 2 5000 [ ] 5000 f~ B
) G -4.81 [psich] 0 &£ -4.66 [ps/ch] : G&-4.83 [psich] 1] | & -4.98 [psich]
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 4, 4) TVC(c,b,ch)=(1,4,5) TVC(c,b,ch)=(1, 4,6) TVC(c,b,ch)=(1,4,7)
T X~ 1 nun 3.06be+09 / 3 T X~/ nur 3.0b1e+09 /3 T X~ 1nun 3011e+09/ 3 T X~ nun 3.000e+09 /3
po -1063:+ 0. po -1189 £ 0. I po -1215:% 0. po -1219: 0.
150001 pl / 1:112,3: o.o1 15000k pl / 1;15.2: c>vol 15000k pl / 151561951 0.01 ook Pt / 1;9-15_1 001
10000~ = 10000 - -1 10000 -— 1 10000 - =1
5000~ N 5000 |~ -1 5000 -— 1 5000 1
= -5.49I [ps/ch] = -5.37I [ps/ch] L A= -5.35I [ps/ch] = -5.28I [ps/ch]
0 EY 00 0 50 100 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 4, 8) TVC(c,b,ch)=( 1, 4, 9) TVC(c,b,ch)=( 1, 4, 10) TVC(c,b,ch)=(1, 4, 11)
T X™ 1 Zyae+09/3 T AT 28/0e+09/3 r T X~ 31/1e+09/3 T A™rnun 2y31e+09/3
po 1274+ 0.1 po 41265+ 0.1 [ PO 1286+ 0.1 po 173+ 01
pl / 188.3% 0.0 pL / 191.1% 00 ] pL / 1916+ 00 pL / 186.2+ 0.0
15000 |~ 15000 b = 15000 = 15000 |-
100001~ N 10000 [ - 10000 L ] 10000~ N
5000~ 1 5000 [~ — 5000 L ] 5000 [~ 1
= -5.31I [ps/ch] = -5.23I [ps/ch] [ = -5.22I [ps/ch] . = '5'31 [ps/ch]
% - 50 00 0 = 50 100 % 50 00 0 = 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 4,12) TVC(c,b,ch)=(1, 4, 13) TVC(c,b,ch)=(1, 4, 14) TVC(c,b,ch)=(1, 4, 15)
T X~ 1 z801e+09 / 3 T X~ 1 3.003e+09 /3 T X~ 1 2.893e+09 / 3 1000F T )&(’J rnun151/e+09/3
0 - +0.. 0 - +0.. r 0 - + 0. = - P 1288+ 0.1
15000} 21 / 1:;’921 301 15000k 21 / lgi?:_t 00.; ook gl / 1;17?31 g.ol i p1 1577+ 0.01
[ ] 3000 B
10000} - 10000F - 10000 ]
[ 1 2000 = J
L ] =L ] L ] wol- C = -63.40 [ps/ch] .
= -5.39I [ps/ch] = '5'2:i [ps/ch] [ &= -5.34I [ps/ch] . ] - | .
0 B E— T - B— - AT R —T o

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (1,50)

ALY wase+09/3
/ 1150 + 0.1
185.7:+ 0.0
15000~
10000~ 4
5000 [~ 4
= -5.38 [ps/ch]
° = 51'7 100
TP delay [ns]
TVC(eh.eh)=(1,5,4)
- 287 1e+09/3
pO 229+ 0.
15000} pl / 1;55: 0.01
10000~ 4
5000 - J
= -5.39 [ps/ch]
° = Sll) 100
TP delay [ns]
TVC(c,b ch) (1, 5 )
“nuZobre+09/3
PO -1160+ 0.1
15000 pl / 182.1+ 0.0
10000~ 4
5000 [~ 4
= -5.49 [ps/ch]
% = Eg 00
TP delay [ns]
TVC(c,b ch) (1, 5 12)
Tonun 2 588e+09 /3
15000 pl / 1;2752:(?01
10000~ 4
5000 [~ 4
‘= -5.48 [ps/ch]
K -IISfI)""mo

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 7

15000

10000

5000

TVC(cbch) (1 5,1)

Trnang ame+09/3
-1047+ 0.1
1794+ 0.0

= -5'5; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1, 5

AL L2 3545+09/3
-1108 £ 0.1
179 5% 0.0

= -5.57 [ps/ch]
= 5

100
TP delay [ns]

TVCEebeh)=( 1, 5

rnany ﬁble+09/3
-1065% 0.1
182 5+ 0.0

= -5.48I [ps/ch]
50

100

TP delay [ns]

TVC(c,b Ch) (1 5 13)

Tona 43419+09/3
-1144 + 0.1
1867+00

2 538 psch].

100

TP delay [ns]

20000
15000
10000

5000

15000
10000

5000 [~

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (1 5,2)

AL 45419+09/3
-2062+ 0.1
2226+ 0.0

-4.49 [ps/ch]

100

TP delay [ns]

TVC(c b ch) (1 5,6

S 3198e+09 /3
PO -1310+ 0.1
pl 195.1+ 0.0

‘= -5.13 [ps/ch]
EY

100
TP delay [ns]

TVC(cbch) (1 5 10

T 3.018e+09 /3
-1175+ 0.1
189.. 3+ 0.0

= -5.28 [ps/ch]

1
50 100

TP delay [ns]

TVC(E.beh)= (1 5,14

Trna 30ve+09/3
-1095+ 0.1
185.9+ 0.0

= -5.38I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 5,3)

Tnuan g uu/e+09/3
-1050+ 0.1
184.1+ 0.0

= -5.4:; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 57

AL dU44&+09/3
-1136 £ 0.1
1866+ 0.0

= -5.36 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (1 5

SRALUED uae+09/3
-1188 £ 0.1
187 3+ 0.0

‘= -5.34 [ps/ch
= ﬁ[p ]

100

TP delay [ns]

TVC(c,b ch) (1 5 15)

Tona z sme+0913
-1061+ 0.1
182 7+0.0

4 54; [PS/.Ch.] -

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

TVC(cbch) (1 6,0)

L ERL2 /1Ae+09/3
-1418+ 0.1
191.1+ 0.0

= -5.23I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 6,4

S rnun 2.894e+09 /3
pO 1337+ 0.1
pl 191.2:+ 0.0

= -5.23 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (1 6,8

5000 [~

0

15000

10000

5000

T zpyze+09 /3
PD -954.4% 0.1
pl 177.5+ 0.0

‘= -5.63 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (1,6,12

Tonu3uz/e+09/3
-1394+ 0.1
P1 194.6 + 0.0

-5.14I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

TVC(cbch) (1 6,1)

Tona J lUDe+09/3
-1311+ 0.1
191 6+ 0.0

= -S'Zé [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1, 6

s $UilE+09/3
-1267+ 0.1
191 5% 0.0

= -5.22 [ps/ch]
- %

100
TP delay [ns]

TVC(c,b ch) (1 6,9

Ty /we+09/3
-972.1£ 0.1
181 2+ 0.0

= -5.52I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (1 6,13)

5000 -

T zynle+0913
-1150 £ 0.1
1847+00

£ 5425l

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000 [~

0

15000

10000

TVC(cbch) (1 6,2)

LAl su/e+09/3
-1594+ 0.1
206.8+ 0.0

-4.84 [psich]

100

TP delay [ns]

TVC(c,b ch) (1 6, 6

S rnan 2z gse+09/3
pO 41180 + 0.1
pl 187.9:+ 0.0

= -5.32I [ps/ch]

50 100
TP delay [ns]

TVC(cbch) (1 6,10

X~ 1nun 2g5e+09 /3
-905.4+ 0.1
176.8+ 0.0

= -5.66I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 6,14

5000~
3

T z921e+09/3
-1204+ 0.1
189. 4+ 0.0

= -5.28I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 6,3)

Tona 4:fu¢e+09/3
-1180+ 0.1
1859+ 0.0

= -5.3?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 6,7

S Allbe+09/3
-636.2+ 0.1
1707+ 0.0

= -5.86 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1 6

Tz, /b4e+09/3
-812.4% 0.1
1737+ 0.0

= -5.76 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (1 6,15)

T z 3:;:;e+09/3
-1291+ 0.1
193 5+ 0.0

£ 517 lpsien]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(c,b,ch)=(1,7,0)
T *

1nu5.183e+09 /3

po 1432+ 0.1
pL 198.2:+ 0.0

= -5.05 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 7,

4

S 3163e+09 /3

po -1400+ 0.1
p1 194+ 0.0

-5.15 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=(1, 7,

8

1 nun 2. 9s8e+09 /3

po 1324+ 0.1
pl 1915+ 0.0

= -5.22 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=( 1, 7, 12

1nu2y77e+09/3

po 1075+ 0.1
p1 181.7+ 0.0

= -5.50I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

15000

10000

5000 7

1w 2.904e+09 /3

TVC(c,b,ch)=(1,7,1)
T A

po 12251+ 0.1
pL 187.1 0.0

= 5.345_1é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 7,

5)

1 3,020e+09 /3

po 1273+ 0.1
p1 1882 0.0

= -5.31 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(1, 7,

9)

rnun3.100e+09 /3

po
pL 188.8+ 0.0

-1201% 0.1

= -5.30I [ps/ch]
50

100

TP delay [ns]

Tona3.022e+09/3

TVC(c,b,ch)=(1, 7, 13)

po 1240+ 0.1
pl 189.2+ 0.0

529 psich]

100

TP delay [ns]

- o

TVC(c,b,ch)=(1,7,2)
T A

" 2.901e+09/3

po 1462+ 0.1
_ p1 / 2003+ 0.0
15000 ]
10000 - _
5000 -— _-
L GA= -4.99 [ps/ch]
0 £ 5(') 100
TP delay [ns]
TVC(c,b,ch)=(1,7,6)
. : X1 3 2738e+09 / 3
po 1367+ 0.1
r p1 / 194.7+ 0.0
15000 ]
10000 -_ _-
5000 -— _-
[ G4 -5.14 [ps/ch]
0 = 00

TP delay [ns]

TVC(c,b,ch)=( 1, 7, 1

1nut3.03/e+09 /3

po -1106 £ 0.1
pl 180.8+ 0.0

15000 -—
10000 -— _-
5000 -— _-
[ &= -5.53 [ps/ch]
0 = 5(') 10'0

TP delay [ns]

TVC(c,b,ch)=(1, 7, 14)
r X~ 1 29r4e+09 /3
+ 0 - +0.
v
100001 .
5000-— .
[ &f= -5.45 [ps/ch]
[ - EE—

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(1, 7,
T X

3)

1w 5.200e+09 /3

= 5.1:; [ps/ch]

po -1393+ 0.1
pL 1951 0.0

100

TP delay [ns]

TVC(c,b,ch)=(1, 7,

7)

Snu3138e+09 /3

po 1462+ 0.1
p1 199.1+ 0.0

‘= -5.02 [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=(1, 7,

11)

i 3.34e+09 /3

po -1340 0.1
pL 194.1+ 0.0

= -5.15 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tinanz.795e+09/3

TVC(c,b,ch)=(1,7,15)

po 1176+ 0.1
pl 188.7+ 0.0

530 psleh]

100

TP delay [ns]



1nun5.199e+09 /3

TVC(c,b,ch)=(1, 8,0)
T r

0 1183+ 0.
15000 - zl / 1];573 + g_ol
10000 i
5000~ ]
= -5.41 [ps/ch]
R = 5:) 100
TP delay [ns]
TVC(c,b,ch)=(1, 8, 4) /
T X7 nun 3.102e+09 /3
PO 1399+ 0.
pL / 1;4,6: o.o1
15000~ =
10000~ -
5000 - -
C = -5.14 [ps/ch]
o EY 00
TP delay [ns]
TVC(c,b,ch)=(1,8,8) —
T K™ rnun 3. 14ze+H
PO -1306+ 0.1
p1 / 1905+ 0.0
15000 =
10000 ]
5000 [~ ]
= -5.25 [ps/ch]
% EY 100
TP delay [ns]
TVC(c,b,ch)=(1, 8, 12
T X~ 1wz yo4e+09 / 3
0 1144 + 0.
15000 |- 21 / 1]:3?1 (())_01
10000 i
5000~ ]
‘= -5.46 [ps/ch]
I

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

TVC(c,b,ch)=(1,8,1)
T A

T 8.103e+09 /3
po 1201+ 0.1
p1 184.2+ 0.0

= -5.42é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1,8,5)

Sona32/2e+09/3

po -1471% 0.1
p1 200.8+ 0.0

= -4.98 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(1,8,9)

1 2. 838e+09 /3

po -1060+ 0.1
[ pL 180.4 % 0.0

= -5.54I [ps/ch]
50

100

TP delay [ns]

rua 2.84e+09 /3

TVC(c,b,ch)=(1, 8, 13)

po -998.6% 0.1
- pl 178.1+ 0.0

£ 58205

TP delay [ns]

X1 nai 2.4ef09 /3

15000
10000

5000

TVC(c,b,ch)=(1, 8, 2
T

po -1289+ 0.1
pl 191.8+ 0.0

= -5.21 [ps/ch]

1
50 100

TP delay [ns]

15000
10000

5000

TVC(c.b,ch)=(1, 8, 6

- rnu 3.019e+09 /3
po 1393+ 0.1
p1 197.1% 0.0

= -5.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 8, 10

15000
10000

5000 [~

0

~ i 3.0use+09 /3
po 1108 + 0.1
p1 184.7+ 0.0

‘= -5.41 [ps/ch]

- 1 L
50 100

TP delay [ns]

15000
10000

5000 [~

TVC(c,b,ch)=(1, 8, 14

T 3.0sve+09 /3
po 1288+ 0.1
p1 191.8+ 0.0

= -5.21 [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(1, 8, 3)
T A

T s.uoLe+09 /3
po 1286+ 0.1
p1 1916+ 0.0

= 62?& [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1,8,7)

Snu3131e+09/3

po -1459+ 0.1
p1 199.2 0.0

‘= -5.02 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(1, 8, 11)

Tonan3.u27e+09/3

po 1114 0.1
pL 183.1+ 0.0

= -5.46 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tonanz.yzoe+09/3

TVC(c,b,ch)=(1, 8, 15)

po 1162+ 0.1
pl 187.7+ 0.0

5335,

TP delay [ns]



15000

10000

5000

15000

10000

5000~

15000

10000

5000 [~

0

15000

10000

5000

TVC(c,b,ch)=(1, 9,
T X

-

0)

nun 2syze+09 /3

po 1120+ 0.1
pL 1813+ 0.0

= -5.52I [ps/ch]

51

100

TP delay [ns]

TVC(c,b,ch)=(1, 9,

4

“anu 284e+09 /3
po 1228+ 0.1
p1 184+ 0.0

= -5.44 [ps/ch]
- =%

100

TP delay [ns]

TVC(c,b,ch)=(1,9, 8

T 2.883e+09 /3
PO 9524+ 0.1
pl 174.2+ 0.0

= -5.74 [psich]
EY

100

TP delay [ns]

TVC(c,b,ch)=( 1,9, 12

T z910e+09 /3
po 41022+ 0.1
p1 180.3+ 0.0

= -5.55I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

TVC(c,b,ch)=(1,9,1)
T A

po
pL

= 5.2&;)é [ps/ch]

T 2.954e+09 /3
-1196 + 0.1
189.1+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(1,9,5)

p0
pl

“nun 2 8y0e+09 /3
-1381+ 0.1
196.7 + 0.0

= -5.09 [ps/ch]
%

100

-

TVC(c,b,ch)=(1, 9
F T A

:2)

nun 3.203e+09 /3

po 1336+ 0.1
[ p1 / 193.4+ 0.0
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= -5.37 [ps/ch]
= 56 100
TP delay [ns]

TVC(c,b,ch)=( 1, 12, 11)

Tonanz./yre+09/3
po 8827+ 0.1
p1 174.9% 0.0

'~ -5.72 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tananz.z5e+09/3

TVC(c,b,ch)=( 1, 12, 15)

po -944.2+ 0.1
r pl 174.7+ 0.0

£ 573l

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 =

0

15000

10000

5000

T 5.200e+09 /3

TVC(c,b,ch)=( 1, 13,0)
T X

PO -1391# 0.1
pl 191+ 0.0

-5.24I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 13, 4

S rnun 2.940e+09 /3
PO -1142+ 0.1
pl 185.1+ 0.0

‘= -5.40 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b,ch)=(1, 13,8

T zpoze+09 /3
Po -1038+ 0.1
pl 184.3+ 0.0

-

‘= -5.43 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=(1, 13, 12)

S 2926409/ 3
PO -1197+ 0.1
pl 188.2+ 0.0

= -5.31I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

AT 1 nur 2.990e+09/ 3

TVC(c,b,ch)=(1, 13, 1)
T

PO -1515+ 0.1
pl 200.8 % 0.0

= -4.9% [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 13,5)

“nun 2. 9ype+09 /3

Y 41149+ 0.1
pL 187+ 0.0

= -5.35 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b,ch)=(1, 13,9)

Tonu2851e+09/3

p0 -897.7+ 0.1
r pl 174+ 0.0

= -5.75 [ps/ch]
5

100

TP delay [ns]

~ona 3.00e+09 /3

TVC(c,b,ch)=( 1, 13, 13)

PO -1308+ 0.1
pl 191.9+ 0.0

S 521 psich)

100

TP delay [ns]

15000~
10000~

5000 =

TVC(c,b,ch)=( 1, 13, 2)

X/ nur s.2ev09 /3
po -1457+ 0.1
pl 198.7+ 0.0

= -5.03 [psich]

100

TP delay [ns]

TVC(c,b,ch)=( 1, 13, 6

Srnun gz zoe+09/3

20000 po 2003+ 0.1

[ pl 227.7+ 0.0
15000 3
10000 — —

so00|- ]
L ]
[
-
[ -4.39 [ps/ch]
0 - 50 00

TP delay [ns]

TVC(c,b,ch)=(1, 13, 10

15000~
10000

5000~

S 25ye+09/3
PO -990.8+ 0.1
pl 177.3+ 0.0

= -5.64I [ps/ch]

0

- 1
50 100

TP delay [ns]

15000

10000

5000 [~

TVC(c,b,ch)=(1, 13, 14 )

[ A= -5.21 [ps/ch]

Trnu3.u5/e+09/3
PO -1279+ 0.1
pl 192+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(1, 13, 3)
T

AT 1nun 2 ys4e+09 /3

PO -1248+ 0.1
pl 187.6+ 0.0

G4 -5.33 [psich]
= gé 100
TP delay [ns]
TVC(c,b,ch)=(1, 13,7) -
T X~ rnar 3.01e+09/3
n / imacos
e ‘= -5.03 [ps/ch]
- 5(‘) 100
TP delay [ns]

TVC(c,b,ch)=( 1, 13, 11)

Tonan 2. 885e+09 /3

p0 -1128+ 0.1
pl 186.2+ 0.0

= -5.37 [ps/ch
= ﬁ[p |

100

TP delay [ns]

Tinun3.163e+09/3

TVC(c,b,ch)=( 1, 13, 15)

PO -1454% 0.1
pl 199.8+ 0.0

£ -5.00 [psich]

100

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (1 14,0)

ALY .sszse+09/3
-1232+ 0.1
188.4+ 0.0

= -5.31I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (114

1 nar d)ie+\)g /3
pO -1165 + 0.1
pl 184.7+ 0.0

= -5.41 [ps/ch]
- £

100
TP delay [ns]

TVC(ebeh)=(1, 14,8

Tz, rg0e+09 /3
PD -729.8+ 0.1
pl 168.9+ 0.0

= -5.92 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (1,14,12

Tnu3.041e+09/3
1279+ 0.1
P1 191+ 0.0

= -5.23I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -
e

TVC(cbch) (1 14,1)

Ao J wse+09/3
-1324+ 0.1
1934+ 0.0

= -5.1Zé [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1 14,5)

Ty, Mye+09/3
-1405+ 0.1
195 2+ 0.0

i~ -5.12 [ps/ch]
%

100
TP delay [ns]

TVC(c,b ch) (1, 14

Ty /is&-le+09/3
-904.5+ 0.1
1746+ 0.0

= -5.73 [ps/ch]
= 5:) 100

TP delay [ns]

TVC(cbch) (1 14,13)

T ¢ Uéde+09/3
-1356+ 0.1
196 5+ 0.0

£ 509 sl

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

10000

5000 [~

0

15000

10000

5000 [~

TVC(cbch) (1 14,2)

ALY s¢a49+09/3
-1374+ 0.1
196+ 0.0

= -5.10I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (1 14,6

S rnu2973e+09/3
-1365+ 0.1
192.6+ 0.0

= -5.19 [ps/ch]
£

100
TP delay [ns]

TVC(eb.ch)= (1 14,10)

15000

aal 4aa¢e+09/3
-863+ 0.1
1726+ 0.0

= -5.79I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,14)

- nar oevOQ /3
1286+ 0.1
195 1+ 0.0

= -5.13I [ps/ch]

50

1
100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (1 14, 3)

AT g, uu:-e+09/3
-1132+ 0.1
- 180+ 0.0

= -5.56;6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1 14,7)

s dUddE+09/3
-1168 £ 0.1
1837+ 0.0

‘= -5.44 [ps/ch]
- %

100
TP delay [ns]

TVC(c,b ch) (1 14 1)

Sl zbuae+09/3
-884+ 0.1
o 1774+00

'~ -5.64 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (1 14,15)

T 4 UHJe+09/3
-1255+ 0.1
192 3+ 0.0

£ 5200

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000

TVC(cbch) (1 15,0)

T .s:bxse+09/3
-1577+ 0.1
201.3+ 0.0

-4.97 [psich]

100

TP delay [ns]

TVC(cbch) (1 15,4

S rna315/e+09/3
-1394+ 0.1
199.4+ 0.0

'~ -5.01 [ps/ch]
50

100
TP delay [ns]

TVC(c,b, ch) (1,15, 8

X~ rnun 3.1/e+09/3
Po -1100+ 0.1
pl 183.2+ 0.0

= -5.46 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (1,15,12)

Tinu zyse+09/3
-1140+ 0.1
P1 186.6 + 0.0

= -5.36I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

TVC(cbch) (1 15,1)

Ao J mae+09/3
-1471+ 0.1
199 9+ 0.0

= -5'025 [ps/ch]

100

TP delay [ns]

TVC(cbch) (1 15,5)

sz, 3545+09/3
-1150 £ 0.1
185 3% 0.0

= -5.40 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (1 15,9

Sonan g, Ubée+09/3
-1157 £ 0.1
186 7+ 0.0

= -5.36I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (1 15,13)

AL 4 /439+09/3
-1008+ 0.1
1789+ 0.0

£ 559 bsen]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

10000

5000

TVC(cbch) (1 15,2)

Lt sawe+09/3
-1401x 0.1
192.. 2+ 0.0

= -5.20I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (1 15,6

S rnu3.13/e+09/3
-1112+ 0.1
185.3+ 0.0

‘= -5.40 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (1 15 10

T 3.08ve+09 /3
-1234+ 0.1
187.4+ 0.0

= -5.34I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 15, 14

15000

AT inun 2yse+09/3
-710.6+ 0.1
169.3+ 0.0

- -5.91I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (1 15, 3)

AT g, 1u:-e+09/3
-1258+ 0.1
189 3% 0.0

= -5.2?6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1 15,7)

SRRITTIRS ibbe+09/3
-1055+ 0.1
1824+ 0.0

= -5.48 [ps/ch]
= 5

100
TP delay [ns]

TVC(ehch)=(1, 15 1)

1 2.9ge+09 /3
-1120% 0.1
188+ 0.0

= -5.32 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (1 15,15)

A 4 Ume+09/3
-1023+ 0.1
181 9+ 0.0

=550 psich]

100

TP delay [ns]



15000

10000

5000

15000

10000

5000~

15000

10000

5000 [~

0

15000

10000

5000 [~

TVC(c,b,ch)=(2,0,0)
T r

rnu 3.u0e+09/3

po 1452 0.1
pL 197.2:+ 0.0

= -5.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(2, 0, 4

S rnun 2.891e+09 /3
po -1036+ 0.1
p1 1822+ 0.0

= -5.49 [ps/ch]
= EY

100
TP delay [ns]

TVC(c,b,ch)=(2,0, 8

,8)
< 2124040913
po -904.1% 0.1
pl 173.2+ 0.0

‘= -5.77 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=( 2,0, 12

Tz, r03e+09 /3
po -914+ 0.1
p1 178.1+ 0.0

= -5.62I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

S 3.071e+09/3

TVC(c,b,ch)=( 2,0, 1)
T A

po -1514% 0.1
pL 200.6 £ 0.0

= -4.9&;)% [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(2,0,5)

“anua2y1/e+09/3
po 7385+ 0.1
pl 169.7+ 0.0

'~ -5.89 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b,ch)=(2,0,9)

1 2.a3/e+09/3

po -1304: 0.1
pL 196.3+ 0.0

=-5.09 [ps/ch]
50

100

TP delay [ns]

~inun zpvse+09 /3

TVC(c,b,ch)=( 2, 0, 13)

po 976.7+ 0.1
[ pl 178.4+ 0.0

<564 [psion]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

T 29s1e+09 /3

TVC(c,b,ch)=( 2,0, 2)
T X

po 1420+ 0.1
pL 196.3+ 0.0

-5.09 [ps/ch]

1
50 100

TP delay [ns]

TVC(c.b,ch)=(2, 0, 6

T 284e+09/3
po 41093+ 0.1
p1 184.2+ 0.0

‘= -5.43 [ps/ch]
= EY

100
TP delay [ns]

TVC(c,b,ch)=( 2, 0, 10

T 2.831e+09 /3
po 1241+ 0.1
pl 190.2+ 0.0

‘= -5.26 [ps/ch]

- 1 L
50 100

TP delay [ns]

[ = -5.39 [ps/ch]

TVC(c,b,ch)=(2, 0, 14

T 2.890e+09 /3
po -1089+ 0.1
p1 185.4+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

T 2yre+09/3

TVC(c,b,ch)=( 2,0, 3)
T A

po -1375+ 0.1
pL 197.1 0.0

= -S'OZ}, [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(2,0,7)

- nun 2.880e+09 /3
po 1064+ 0.1
p1 185+ 0.0

= -5.41 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(2, 0, 11)

rnur 2.9ye+09 /3

po -1157+ 0.1
pL 186.7+ 0.0

= -5.36 [ps/ch
ﬁ[p ]

100

TP delay [ns]

Tonaz827e+09/3

TVC(c,b,ch)=( 2,0, 15)

po -1001x 0.1
pL 184.2+ 0.0

£ 543 pslon]

-

100

TP delay [ns]



20000

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

X rnar Leerd9 /2

TVC(c,b,ch)=(2, 1,0)

p0 -1756+ 0.1
pl 220.4+ 0.0

-4.54 [psich]

100

TP delay [ns]

TVC(c,b,ch)=(2, 1,4

Srnan3179e+09/3

po -884.4% 0.1
p1 171.5+ 0.0

'~ -5.83 [ps/ch]
= £

100

TP delay [ns]

TVC(c,b,ch)=( 2, 1, 8

rnun3.231e+09 /3

po 1467+ 0.1
pl 201.2+ 0.0

= -4.97 [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=( 2, 1, 12

1w 3.043e+09/ 3

po 911.7+ 0.1
p1 176.9+ 0.0

= -5.65I [ps/ch]

100

TP delay [ns]

20000

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(2,1,1)
T A

T 1180e+09 /2

» 0 - + 0.
n/ i
G4 -4.65 [ps/ch]
5'5 100
TP delay [ns]

TVC(c,b,ch)=(2,1,5)

p0
- Pl

“onuar3a51e+09/3
-1136 £ 0.1
184.1% 0.0

= -5.43 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(2,1,9)

7 nur 3.001e+09 /3
po 1372 0.1
p1 / 197.6+ 0.0
'~ -5.06 [ps/ch]
50 00
TP delay [ns]

TVC(c,b,ch)=(2, 1, 13)

T z.ryye+09 /3
po -1202+ 0.1
[ p1/186.7t0.0
= -5.36 [ps/ch]
e VSEE——T
TP delay [ns]

TVC(c,b,ch)=(2,1,2)
r T A

T s.2/4e+09/3

po 1606+ 0.1
p1 / 206.1+ 0.0
15000 .
100001 .
5000 -— _-
[ -4.85 [ps/ch]
0 = 100
TP delay [ns]
TVC(c,b,ch)=(2,1,6)
i : X 1 254e+09 / 3
po 1274+ 0.1
[ p1 / 191.7+ 0.0
15000 ]
10000 -— _-
5000 -— _-
[ A= -5.22 [ps/ch]
0 = 5(') 100

TP delay [ns]

TVC(c,b,ch)=(2, 1, 10

rnut 3.113e+09/ 3
-1150+ 0.1
187.9+ 0.0

po
L p1 /
15000~
10000 .
so00|- .
[ G= -5.32 [ps/ch]
0 = 5(') 10'0

TP delay [ns]

TVC(c,b,ch)=(2, 1, 14)
_ . X~ 1 3.040e+09 / 3
0 1215+ 0.
i i/ avios
15000~ 7]
10000:— '
so00|- .
[ &£=-5.25 [ps/ch]
[ - EE——T

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c.b.ch)=( 2, 1,
T A

3)

T s.108e+09 /3

po
pL

-1567+ 0.1
204.6+ 0.0

= -4'82}, [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(2, 1,

7)

Cnu3121e+09/3
<1114+ 0.1
182.2+ 0.0

po
pl

= -5.49 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(2, 1,

11

)

~nun3.09ve+09 /3

po
pl

-1269+ 0.1
192.2+ 0.0

= -5.20 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(c,b,ch)=(2, 1, 15)

T 2.947e+09/3
po -1154£ 0.1
p1/187.7t0.0
‘= -5.33 [ps/ch]
U SE——T
TP delay [ns]



TVC(c,b,ch)=(2,2,0)
T X1 zy1/e+09 /3
0 -1016+ 0.
15000 zl / 12.1461 g.ol
10000 = -
5000 [~ -
‘= -5.64 [ps/ch]
° = 51'7 100
TP delay [ns]
TVC(cbch)=(2,2,4) _
T X© 1 3114409/ 3
0 -1338+ 0.
15000 - Sl / 118?1 00_01
10000 = -
5000 [~ -
= -5.37 [ps/ch]
° ER 100
TP delay [ns]
TVC(c,b,ch)=(2,2,8) —
T K71 nun 3 .guseH
0 -1138+ 0.
15000 zl / 1181;? + g,ol
10000~ -
5000 - -
‘= -5.40 [ps/ch]
% = ey 00
TP delay [ns]
TVC(c,b,ch)=(2, 2,12)
T K™ 1nun2914e+09 /3
0 -1270+ 0.
n/ uros
15000 =
10000~ -
5000 [~ -
= -5.25 [ps/ch]
K — 5(I3 — "

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

-

TVC(c,b,ch)=(2, 2,
T A

i 2.yzve+09/3
-1384+ 0.1

po
pl 197.2+ 0.0

- -5.OZé [ps/ch]

100

TP delay [ns]

5)

TVC(c,b,ch)=( 2, 2,

= -5.12 [ps/ch]
%

“inu 313e+09/3
Y -1337£ 0.1
pL 195.4 + 0.0

0 100
TP delay [ns]
TVC(c,b,ch)=(2,2,9)
: X rnunz.52e+09 /3
po 1100+ 0.1
ool p1 / 185+ 0.0
10000 - 71
5000 7]
= -5.40 [ps/ch]
0 = 56 100
TP delay [ns]
TVC(c,b,ch)=( 2, 2, 13)
. A nun Zuues09/3
0 - + 0.
n/ e
15000 ]
10000} 1
5000 ]
= -5.26 [ps/ch]
0 -_—
50 100
TP delay [ns]

15000

10000

5000

15000

10000

5000

-

TVC(c,b,ch)=(2, 2
[ T "

:2)

nur 3.u34e+09 /3
-1387+ 0.1

po
pl 194.8+ 0.0

G4£ -5.13 [ps/ch]

5(') 100

TP delay [ns]

TVC(ebeh)=(2,2,6)

T X~ nun 2.899e+09 / 3

i 5/ _‘

G4 -5.14 [ps/ch]

S(I) 100

TP delay [ns]

TVC(c,b,ch)=( 2, 2, 10)
r X~ 1 2815e+09/ 3
[ po -1100 + 0.1
15000-— pl / 181.8+ 0.0
10000 L ]
s000|- ]
L (#= -5.50 [ps/ch]
% = S!IJ 10'0

TP delay [ns]

TVC(c,b,ch)=(2, 2, 14)
: X- o 5u4e0973
- 0 - +0.
; 2/ s
15000~ 7]
10000 .
so00|- '
[ G4 -5.08 [psich]
0 - ST

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b.ch)=(2, 2, 3)
T A

“nung10ve+09 /3
PO -1508+ 0.1
pl / 199+ 0.0
= -5.02 [ps/ch]
) 100
TP delay [ns]

TVC(c,b,ch)=( 2, 2, 7)

po
pl

~nu 3.uyse+09 /3

-1470+ 0.1
199.2+ 0.0

‘= -5.02 [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=(2, 2,

~inun 2. 9p4e+09 /3

po

n/

11)

-1090+ 0.1
183.1+ 0.0

= -5.46 [ps/ch
= ﬁ[p ]

100

TP delay [ns]

TVC(c,b,ch)=(2, 2

po

.15)

Tona3.021e+09/3

-1166 + 0.1
pl 187.3+ 0.0

534 sl

100

TP delay [ns]



0 - + 0.
o L/
10000 ]
5000 7]
= -5.34 [ps/ch]
0, - 5[') 100
TP delay [ns]
TVC(c,b,ch)=(2,3,4)
: X1 3.03/e+09 /3
po -1388+ 0.
b/ imais
15000 ]
10000~ 7]
5000 - 7
-5.11 [ps/ch]
0, = 00
TP delay [ns]
TVC(c,b,ch)=( 2, 3, 8)
T X™ 1 2931e+09 /3
po 1390+ 0.1
p1 / 194.2+ 0.0
15000~ 7
10000 ]
5000 [ ]
G4 -5.15 [ps/ch]
05 = 00
TP delay [ns]
TVC(c,b,ch)=( 2, 3, 12)
r A~ 1w 2 yn4e+09 /3
0 991.1% 0.
1 R/ e
10000 ]
5000~ ]
‘= -5.57 [ps/ch]
ot

T s.0y1e+09/3

TVC(c,b,ch)=(2,3,0)
T X

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(2,3,1)
T A

= 5.1::é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(2,3,5)

“nua2y1ve+09 /3
po 1119+ 0.1
[ pL 180.7 + 0.0

T 2.9sve+09 /3
po 1346+ 0.1
p1 195+ 0.0

‘= -5.53 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b,ch)=(2,3,9)

1 2.804e+09 /3

po -1356+ 0.1
pl 197.1 0.0

= -5.07 [ps/ch]
50

100

TP delay [ns]

rae 2.94e+09 /3

TVC(c,b,ch)=( 2, 3, 13)

po 9882+ 0.1
[ pl 179.5+ 0.0

4 557 [pslen]

100

TP delay [ns]

T s103e+09 /3

15000~
10000~

5000 [~

TVC(c,b,ch)=(2, 3,2)
F T x

po 1268+ 0.1
pL 191.2:+ 0.0

‘= -5.23 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(2, 3,6

15000~
10000~

5000 =

S rnuz2yr9e+09/3
po -1210% 0.1
pl 187.4+ 0.0

‘= -5.34 [ps/ch]
= =5

TVC(c,b,ch)=(2, 3, 10

100
TP delay [ns]

15000~
10000~
5000 [~

0

Tz (0e+09/3
-1141+ 0.1
185+ 0.0

‘= -5.41 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b,ch)=(2, 3, 14

15000~
10000~

5000~

[ - -5.64I [ps/ch]

S §z0e+09/3
po 9745+ 0.1
pl 177.2+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(2, 3, 3)
T A

T s.uyre+09/3
po 41198+ 0.1
p1 187.5+ 0.0

G4 -5.33 [ps/ch]
= gé 100
TP delay [ns]
TVC(c,b,ch)=(2,3,7)
T X7 rnun 3151e+09/ 3
i n / JﬁE‘
= -5.38 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(2, 3, 11) —
T . .ﬂ_ﬁle-i- o
i n/ e
‘= -5.52 [ps/ch]
= gé 100
TP delay [ns]
TVC(c,b,ch)=( 2, 3,15)
T A~ 1 2. 930e+09 /3
g n J
G4 -5.30 [ps/ch]
E— gé * * — 100
TP delay [ns]



15000

10000

5000

15000

10000

5000 [~
b

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (2 4,0)

AT g, /ue+09/3
9714+ 0.1
174.6+ 0.0

= -5.73I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 4,4

S rnu 2.918e+09 /3
pO 1238+ 0.1
pl 189.1+ 0.0

= -5.29 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (2 4,8

T 3.334e+09 /3
PD -1651% 0.1
pl 207.9+ 0.0

= -4.81 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (2,4,12

Tona o 2ye+09/3
-916.5+ 0.1
P1 174.9+ 0.0

= -5.72I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000
b

15000

10000

5000

TVC(cbch) (2 4,1)

AL J use+09/3
-1172+ 0.1
189. 1+ 0.0

= -5.2&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 4,5

AT 3bde+09/3
-1123+ 0.1
1819+ 0.0

= -5.50 [ps/ch]
= 5

100
TP delay [ns]

TVCebeh)=(2, 4

(AL bbbe+09/3
-1392+ 0.1
196 6+ 0.0

= -5.09I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (2 4,13)

AL 4 uuue+09/3
-1009+ 0.1
181.1+ 0.0

£ 55205

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000

10000

TVC(cbch) (2 4,2)

AT 1nw usue+09/3
-1156 + 0.1
187.6+ 0.0

= -5.33I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (2 4,6

- rnun 3.005e+09 /3
pO 1356+ 0.1
pl 194.6:+ 0.0

= -5.14 [ps/ch]
£

100
TP delay [ns]

TVC(e.b.ch)= (2 4,10

T 3.081e+09 /3
-1489+ 0.1
200.9+ 0.0

= -4.98 [psich]

50 100

TP delay [ns]

TVC(cbch) (2 4,14

5000~
I

T 2874e+09 /3
-1115+ 0.1
187.5+ 0.0

= -5.33I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 4,3)

Tna 4 u/e+09/3
-1314+ 0.1
191 9+ 0.0

= -5.2;[ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 4,7

a2 3/1&+09/3
-1330+ 0.1
192 2+ 0.0

= -5.20 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (2 4

Tnun g UUHE+09/3
-1362+ 0.1
193 5+ 0.0

= -5.17 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (2 4,15)

A z 3:;4e+09/3
-1063+ 0.1
183 2+ 0.0

548 lpsich]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000

TVC(cbch) (2 50)

'/IU'L‘.HAS+09/3
-1145+ 0.1
183.4+ 0.0

= -5.45 [ps/ch]
= = 100
TP delay [ns]
TVC(c,b ch) (2 5,4)
“nu 2yroe+09 /3
_ 2/ ]
G4 -5.29 [psich]
5(') 100
TP delay [ns]
TVC(c,b ch) (2 5,8)
T rnun z5yze+09/3
. Zi’ ya _‘
= -5.67 [ps/ch]
5[') 100
TP delay [ns]
TVC(c,b ch) (2, 5 12)
S rnun z585e+09/3
r pL / 16767505‘
= -6.01 [ps/ch]
e EE—— T

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

TVC(cbch) (2 51)

AL 4uuue+09/3
-1192 + 0.1
1885+ 0.0

= -5.3(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 55

AT Uhhe+09/3
-1331% 0.1
192 5% 0.0

= -5.19 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (2, 5

7 nun zsme+09/3
-965.7+ 0.1
17B7+ 0.0

« -5.60 [ps/ch]
e

100

TP delay [ns]

TVC(Ebeh)=(2, 5 13)

7o 4 ltde+09/3
-728.4+ 0.1
168.1+ 0.0

§-5.95 sich]

100

TP delay [ns]

15000
10000

5000

15000

10000

15000
10000

5000 [~

0

15000
10000

5000

TVC(cbch) (2 52)

T swve+09/3
-1300+ 0.1
193 4+ 0.0

= -5.17 [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (2 5,6

5000 [~
Fa.

S rnu3.079e+09/3
pO 1274+ 0.1
p1 189.7+ 0.0

‘= -5.27 [ps/ch]
- EY

100
TP delay [ns]

TVC(cbch) (2 5,10

X~ g, 11:e+09/3
-944.8+ 0.1
1779*'00

- -5.62I [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (2 5 14)

T 4044e+09/3
-840.3+ 0.1
1706+ 0.0

= -5.86I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 5,3)

Tnun g :uae+09/3
-1267+ 0.1
190 2+ 0.0

= -5.26;6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 57

a2 334&+09/3
-1224+ 0.1
188 5% 0.0

= -5.31 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (2 5

S zau/e+09/3
-787.2+ 0.1
1757+ 0.0
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TVC(c,b ch) (3 2,6

T rnun3155e+09/3
pO 1178+ 0.1
p1 185+ 0.0

‘= -5.41 [ps/ch]
EY

100
TP delay [ns]

TVC(cbch) (3 2 10

T 31/9e+09/3
-1377+ 0.1
194.9+ 0.0

= -5.13I [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (3 2 14

T 2.850e+09 /3
-1077+ 0.1
182.9+ 0.0

= -5.47I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 2,3)

Tna 4 uuze+09/3
-1586+ 0.1
203 7+ 0.0

= -4.9;[ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 2,7

S g iUdE+09/3
-1212+ 0.1
188+ 0.0

= -5.32 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3 2

Tz u::ae+09/3
-1223+ 0.1
190.1+ 0 0

‘= -5.26 [ps/ch
ﬁ[p |

100

TP delay [ns]

TVC(c,b ch) (3 2 15)

AL z 341e+09/3
-1141+ 0.1
187 9+ 0.0

S 532 lpslcn)

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (3 3,0)

L UlL/Ne+O9/3
-1112+ 0.1
182.1+ 0.0

= -5.49I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 3,4

Srnan 2z zoe+09/3
pO 7483+ 0.1
pl 166.2:+ 0.0

= -6.02 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (3 3,8

T z822e+09 /3
PD -1018+ 0.1
pl 180.6+ 0.0

‘= -5.54 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (3,312

Tinuz8yre+09/3
1072+ 0.1
P1 180.1% 0.0

- -5.55I [ps/ch]

100

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 3,1)

AL 414e+09/3
-1265+ 0.1
1893+ 0.0

= -5.2?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 3,5

S zﬁbde+09/3
-941.8+ 0.1
1765+ 0.0

'~ -5.66 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3, 3

7 zﬁase+09/3
-849.9+ 0.1
1743‘* 0.0

= -5.74I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (3 3,13)

T uwse+09/3
-1162 + 0.1
1867+00

<538 lpsich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000 [~

0

15000
10000

5000

TVC(cbch) (3 3,2)

LAl 6UU49+09/3
-1147+ 0.1
184.7+ 0.0

= -5.41I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (3 3,6

T rnu2.949e+09 /3
pO 1090+ 0.1
pl 184.7:+ 0.0

‘= -5.41 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (3 3 10

T 3.0z3e+09 /3
-997.2+ 0.1
179+ 0.0

= -5.59I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3 3,14

T 2.894e+09 /3
-1165+ 0.1
186.3+ 0.0

= -5.37I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 3,3)

Tornan g, /::4e+09/3
-848.9+ 0.1
1724+ 0.0

= -5.8(5_)6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 3,7

s sz/E+09/3
-824.3+ 0.1
1725+ 0.0

'~ -5.80 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3 3

Sl Z‘J/He+09/3
-1143+ 0.1
185B+ 0.0

‘= -5.38 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (3, 3 15)

o ¢ u49+09/3
-1318+ 0.1
193+ 0.0

£ 518 0psic)

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000~
b

-

TVC(c,b,ch)=(3, 4,
T A

0)

nur 5.ur3e+09/3

-1371x 0.1

= -5.16I [ps/ch]

po
p1 193.7+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(3, 4,

4

“anu 7, 4e+09 /3
po 1320+ 0.1
p1 191+ 0.0

= -5.23 [ps/ch]
- 55

100

TP delay [ns]

TVC(c,b,ch)=(3, 4,8

T zp1/e+09/3
po -902.7+ 0.1
pl 176.7+ 0.0

=~ -5.66 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=(3, 4, 12

T 2930e+09 /3
po 41253+ 0.1
p1 188.9+ 0.0

= -5.29I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 4, 1)
T A

po
pL

= 5.2(;»é [ps/ch]

S 3.070e+09 /3
-1282+ 0.1
189.9+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(3,4,5)

po
pl

“ina2ygze+09 /3
-1311+ 0.1
192+ 0.0

= -5.21 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(3,4,9)

1 2.804e+09 /3

po 975+ 0.1
[ pL 179.2+ 0.0

-

= -5.58I [ps/ch]
50

100

TP delay [ns]

Tinanz./18e+09/3

TVC(c,b,ch)=(3, 4, 13)

po 1458+ 0.1
pl 199.3+ 0.0

4 5,02 [psieh]

100

TP delay [ns]

-

15000

10000

5000

TVC(c,b,ch)=( 3, 4
T X

1 2)

nur 3.uz24e+09 /3

po 1184+ 0.1
pL 187.2:+ 0.0

= -5.34I [ps/ch]

50

100

TP delay [ns]

TVC(c,b,ch)=(3, 4

15000

10000

5000

, 6

- Susze+09 /3
po -1457+ 0.1
p1 198.2+ 0.0

= -5.05 [psich]
50

100

TP delay [ns]

TVC(c,b,ch)=( 3, 4, 10

15000

10000

5000 [~

0

Tz, 80e+09 /3
po 1052+ 0.1
pl 178.3+ 0.0

‘= -5.61 [ps/ch]

- 1 L
50 100

TP delay [ns]

15000

10000

5000

TVC(c,b,ch)=(3, 4, 14

T 2.800e+09 /3
po 1231+ 0.1
p1 188.6 + 0.0

= -5.30I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 4, 3)
T A

po
pL

= 62?& [ps/ch]

T 2u81e+09 /3
-1339+ 0.1
191.6+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(3,4,7)

po
pl

~nun 2.840e+09 /3
-1237+ 0.1
191.4+ 0.0

= -5.22 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(3, 4,11)

Tinun 2.8b4e+09 /3

po 9204+ 0.1
pL 176+ 0.0

'~ -5.68 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tinan2.9s4e+09/3

TVC(c,b,ch)=(3, 4,15)

po -1183+ 0.1
pl 186.1+ 0.0

53t

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

T sur2e+09/3

TVC(c,b,ch)=(3,5,0)
T X

po 1290+ 0.1
pL 192.7:+ 0.0

= -5.19I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3, 5, 4

- rnun 3.090e+09 /3
po 1274+ 0.1
p1 192+ 0.0

= -5.21 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b,ch)=(3,5, 8

T 2.800e+09 /3
PO 1064+ 0.1
p1 185.4+ 0.0

-

= -5.39 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=( 3,5, 12

Sinu Supe+09/3
po 1244+ 0.1
p1 192.6 + 0.0

= -5.19I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 -

TVC(c,b,ch)=(3,5,1)
T A

= 5.2(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3,5,5)

- Suase+09 /3
po -12451+ 0.1
pL 190.2:+ 0.0

Srnur Zyse+09/3
po -1103% 0.1
p1 1845+ 0.0

= -5.42 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(3,5,9)

1 2.834e+09 /3

po -909.5+ 0.1
[ pL 179.2+ 0.0

-

= -5.58I [ps/ch]
50

100

TP delay [ns]

Tinun3.100e+09 /3

TVC(c,b,ch)=(3, 5, 13)

po 1335+ 0.1
pl 194.9+ 0.0

S 51305,

TP delay [ns]

T s.usve+09 /3

15000~
10000~

5000~

TVC(c,b,ch)=(3,5,2)
F T A

po -1200+ 0.1
pL 188.8:+ 0.0

= -5.30I [ps/ch]

50 100

TP delay [ns]

TVC(c,b,ch)=(3,5, 6

15000~
10000~

5000~

- rnuz.9uze+09 /3
po 1012+ 0.1
p1 182.1% 0.0

‘= -5.49 [ps/ch]
= EY

100
TP delay [ns]

TVC(c,b,ch)=(3, 5, 10

T 2.938e+09 /3

15000~
10000
5000~

0

-871.5+ 0.1

- -5.68 [ps/ch]

L 1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 5, 14

15000~
10000 =

5000 [~

| O 4.9 psich]

T 3113e+09/3
po 1419+ 0.1
p1 201.7+ 0.0

L L
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 5, 3)
T A

T 3.uoBe+09 /3
po 1322+ 0.1
p1 1947+ 0.0

= -5.145}6 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3,5,7)

S nun 2. /40e+09 /3
po -1032% 0.1
p1 183.9+ 0.0

= -5.44 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b,ch)=(3,5,11)

Tonua282/e+09/3

po -971.1% 0.1
pL 182.7+ 0.0

'~ -5.47 [ps/ch
- ﬁ[p |

100

TP delay [ns]

T inan 3.008e+09 /3

TVC(c,b,ch)=( 3,5, 15)

po 1334+ 0.1
pl 194.6+ 0.0

S sa4psin)

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~
b

15000

10000

5000

0

15000

10000

5000~

TVC(cbch) (3 6,0)

LAl 4346+09/3
-825.3+£ 0.1
174+ 0.0

= -5.75I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 6,4

S rnun 262e+09 /3
pO -1181% 0.1
pl 188.8:+ 0.0

‘= -5.30 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (3 6,8

T 2. 388e+09 /3
PD -1234+ 0.1
pl 190.9+ 0.0

= -5.24 [psl/ch]
- EY

100

TP delay [ns]

TVC(cbch) (3,6, 12

X-inu Zaze+09/3
-1067+ 0.1
P1 182.9+ 0.0

= -5.47I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

TVC(cbch) (3 6,1)

Trnang ::u::e+09/3
-1009+ 0.1
1824+ 0.0

= -5.4?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 6,5

AT uue+09/3
-1363+ 0.1
198 7% 0.0

‘= -5.03 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (3, 6

7 z4bbe+09/3
-1058+ 0.1
184 7+ 0.0

= -5.41I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (3 6,13)

T 44339+09/3
-1049+ 0.1
1828+ 0.0

<547 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000 [~

TVC(cbch) (3 6,2)

ALY 440ae+09/3
-1101+ 0.1
186.2+ 0.0

= -5.37I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (3 6, 6

S rnu 2.b1se+09 /3
pO 41233+ 0.1
pl 192.3+ 0.0

‘= -5.20 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (3 6 10

T 2puse+09 /3
-1086+ 0.1
186.4+ 0.0

= -5.36I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3 6,14

T z502e+09 /3
-1230+ 0.1
191.6+ 0.0

= -5.22I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 6,3)

Trnan g, dule+09/3
-979+ 0.1
- 180+ 0.0

= -5.56;6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 6

Sz, /dye+09/3
-1411+ 0.1
199 7% 0.0

‘= -5.01 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (3 6

Tz :mse+09/3
-1087+ 0.1
L 182 9+ 0.0

‘= -5.47 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (3 6,15)

T z4u/e+09/3
-1068+ 0.1
185 7+0.0

C5390psich)

TP delay [ns]



TVC(cbch) (3,7,0)

T L‘Jbbe+09/3
9412+ 0.1
15000~ / 1745+ 0.0
10000~ E
5000~ R
‘= -5.73 [ps/ch]
0 = £ T00
TP delay [ns]
TVC(cbch) (3,7,4)
Srna 3113e+09/3
1186+ 0.1
pl / 186.8+ 0.0
15000~
10000 = -
5000 = -
= -5.35 [ps/ch]
0 = =% 100
TP delay [ns]
TVC(ebeh=(3,7, 8)
“nun3.140e+09/3
pO -1461% 0.1
pl / 198.6+ 0.0
15000 1
10000~ R
5000 E
= -5.04 [ps/ch]
% £ 00
TP delay [ns]
TVC(c,b Ch) (3, 7 12)
Tonu2581e+09/3
15000~ pl / 19747551: ((J) 01
10000~ _
5000~ R
‘= -5.63 [ps/ch]
0 B E—

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 7

TVC(cbch) (3 7,1)

Trnang UJle+09/3
-1036+ 0.1
179 5+ 0.0

= -5'5; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 7,5

AL L2 3/ze+09/3
-987.1+£ 0.1
178 7% 0.0

‘= -5.59 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3, 7

rnany m—lle+09/3
-1035% 0.1
1804+ 0.0

= -5.54I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (3 7,13)

T uﬂme+09/3
-966.2+ 0.1
177.1+ 0.0

£ 565 sl

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (3 7,2)

ALY suwe+09/3
-1264+ 0.1
190+ 0.0

= -5.26I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (3 7,6

S rnu 3.204e+09 /3
pO 41195+ 0.1
pl 186.2:+ 0.0

= -5.37I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (3, 7 10

g, J_L‘Je+09 /3
-1169+ 0.1
1867+ 0.0

= -5.36I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3 7,14)

T zazoe+09/3
-860.4+ 0.1
1735+ 0.0

- -5.76I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 7.3)

AL uue+09/3
- 176 9+ 0.0

-960.5+ 0.1

= -5.6; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 7,7

S 2 Sble+09/3
[ 182 5+ 0.0

-1090+ 0.1

‘= -5.48 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3 7

-1340% 0.1

SRALUED ule+09/3
192 6+ 0.0

= -5.19 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (3 7,15)

-1081+ 0.1

T z sme+0913
- 181 6+ 0.0

CssLipsicn)

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~
P

15000

10000

5000

0

15000

10000

5000

T z9u4e+09 /3

TVC(c,b,ch)=(3, 8,0)
T X

po -1435+ 0.1
pl 195.6+ 0.0

-5.11 I[ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3, 8, 4

“anu 294e+09 /3
po 1313+ 0.1
pl 194.9+ 0.0

= -5.13 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b,ch)=(3,8,8

T 3.28e+09/3
Po -1573+ 0.1
pl 202.1+ 0.0

= -4.95 [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=( 3, 8, 12

Tinu Z3e+09/3
po 1192+ 0.1
pl 187.9+ 0.0

= -5.32I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 8, 1)
T A

“rnun zu5/e+09/ 3
PO 1176+ 0.1
p1 187.5+ 0.0

= 5.3::é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3, 8, 5)

Srnun Z289e+09 /3
Y 1253+ 0.1
pL 1916+ 0.0

= -5.22 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(3, 8,9)

’
“ina 2 /69e+09 /3

p0 1176+ 0.1
pl 187.3+ 0.0

= -5.34I [ps/ch]
50

100

TP delay [ns]

Tonan2822e+09/3

TVC(c,b,ch)=(3, 8, 13)

PO -1260+ 0.1
pl 190.4+ 0.0
15000 [ =
10000 [~ -
5000 [~ N
b
-
-
= -5.25 [ps/ch]
0 POREPEEE B S
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

10000

15000

10000

5000

T suzse+09 /3

TVC(c,b,ch)=(3, 8, 2)
[ T A

po -1361 0.1
pl 1949+ 0.0

= -5.13 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 8, 6

a2l 19e+09 /3
L po -1003+ 0.1
- pl 178.7+ 0.0

‘= -5.60 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b,ch)=(3, 8, 10

20000

T z010e+09 /3
po 4681+ 0.1
pl 3334+ 0.0

-3.00 [ps/ch]
50

100

TP delay [ns]

[ O 5.07 [psich]

TVC(c,b,ch)=(3, 8, 14

Tonaz.(r3e+09/3
PO -1368+ 0.1
pl 197.1+ 0.0

| N
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 8, 3)
T A

T 298re+09 /3
po 1314 0.1
pl 191.3+ 0.0

= -5.2:; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3,8,7)

S nuz2y16e+09/3

Y -1144+0.1
pl 183.5+ 0.0

= -5.45 [ps/ch]
5

100
TP delay [ns]
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1418+ 0.1
pl 197.4+ 0.0

% 5,07 Ipsich)

100

TP delay [ns]

TVC(c,b,ch)=( 4, 3,2)
. T A~ 1w zyoze+09 /3
0 - + 0.
! n /e
15000 7]
10000:— _:
5000-— _-
[ G4 -5.15 [ps/ch]
0, - 5(') 100
TP delay [ns]
TVC(c,b,ch)=(4,3,6)
; X~ 1 Ui Zysoe+09 / 3
- 0 - + 0.
_ n [
15000~ 7]
10000 -— _-
5000 -— _:
[ 4= -5.13 [ps/ch]
0 = 100

TP delay [ns]

TVC(c,b,ch)=( 4, 3,10)
_ . X~ 1 2 9o9e+09 / 3
po 1329+ 0.1
[ pl / 191.4+ 0.0
15000~ 7]
10000 — _
s000|- .
[ G&=-5.22 [ps/ch]
05 = 00

TP delay [ns]

TVC(c,b,ch)=( 4, 3, 14)

. X1 3.191e+09 /3

0 -1486% 0.

: s )
15000 ]
10000:— '
so00 |- _

e = -4.96 [ps/ch]
L - EE—T

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=( 4, 3,
T A

3)

T 2938e+09 /3
-1106 + 0.1
185.7+ 0.0

po
pL

= -5.326 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,3,7)

S nu3014e+09/3
-1254+ 0.1
190.2+ 0.0

po
pl

= -5.26 [ps/ch]
%

100
TP delay [ns]
TVC(c,b,ch)=(4, 3,11)
r A7 rnun 2.904e+09 /3
0 - + 0.
21/19132.21: 301
G4 -5.17 [psich]
- gé 100
TP delay [ns]
TVC(c,b,ch)=(4, 3,15)
: AT nun Zwze+09/3
0 - + 0.
n/ e
= -5.37 [ps/ch]
- T I
TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (4 4,0)

ALY £6359+09/3
-1223+ 0.1
1892+ 0.0

= -5.28I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 4,4

- rnan 3.0uze+09 /3
pO 1472+ 0.1
pl 198.6:+ 0.0

= -5.03 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (4 4,8

T z.843e+09 /3
PD -1460+ 0.1
pl 195.8+ 0.0

= -5.11 [ps/ch]
£

100

TP delay [ns]

TVC(cbch) (44,12

“nu zobse+09/3
-984.5+ 0.1
P1 179+ 0.0

= -5.59I [ps/ch]

100

TP delay [ns]

15000

10000

TVC(cbch) (4 4,1)

5000 [~

15000

10000

5000

15000

10000

5000

15000

10000

Tona J ubue+09/3
-1300+ 0.1
1894+ 0.0

= -5.2?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 4,5

AT 1Uhe+09/3
-1616+ 0.1
206.1% 0.0

= -4.85 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (4, 4

rnany UUée+09/3
-1307+ 0.1
193 7+ 0.0

= -5.16 [ps/ch]
- 5

100

TP delay [ns]

TVC(c,b ch) (4 4,13)

5000 -

T 4 uwe+09/3
-1082+ 0.1
184 2+ 0.0

=543 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000
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TVC(cbch) (4 4,2)

ALY suwe+09/3
-1254+ 0.1
1908+ 0.0

= -5.24I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (4 4,6

- 288 e+09 /3
PO -1551+ 0.1
pl 204.1% 0.0

< -4.90 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (4 4 10

Tonan gy lee+09/3
-1090+ 0.1
182.1+ 0.0

= -5.49I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 4,14)

T 4 /me+09 /3
-891+ 0.1
174 4+ 0.0

- -5.73I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (4 4,3)

Tona 4 :ﬂue+09/3
-1421+ 0.1
196 7+ 0.0

= -5.0?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 4,7

SRRITTIRY Ubye+09/3
-1413+ 0.1
198 3% 0.0

‘= -5.04 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (4 4

AL X U542+09/3
-1410+ 0.1
197 6+ 0.0

‘= -5.06 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (4 4,15)

T z sue+0913
-1001£ 0.1
1774+ 0.0

£ s64lpsic)

TP delay [ns]



po -1207+ 0.1
15000k p1 / 182+ 0.0
10000~ ]
5000 - T
= -5.49 [ps/ch]
0, - 5[') 100
TP delay [ns]
TVC(c,b,ch)=(4,5,4)
: X1 nun Z.896e+09 / 3
po -1288+ 0.
sl p1 / 1189t o.o1
10000~ 7
5000 - T
= -5.29 [ps/ch]
0, = 100
TP delay [ns]
TVC(c,b,ch)=( 4, 5, 8)
T X1 2804e+09 /3
po 1377+ 0.1
p1 / 195.8+ 0.0
15000~ 7
10000~ 7]
5000~ 1
G£ -5.11 [ps/ch]
05 = 100
TP delay [ns]
TVC(c,b,ch)=( 4, 5, 12)
r A™ 1 zooze+09 /3
0 1021+ 0.
R/ e
10000~ ]
5000 [~ ]
‘= -5.57 [ps/ch]
o

T z571e+09/3

TVC(c,b,ch)=(4,5,0)
T A

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

T g.281e+09 /3

TVC(c,b,ch)=(4, 5,1)
T A

po -1593+ 0.1
pL 2005+ 0.0

= -4.9&;)% [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,5,5)

= -5.13 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(4,5,9)

rnur 2. r8e+09 /3

po 1243+ 0.1
pL 187.6:+ 0.0

“nan2,9y3e+09 /3
po -1391# 0.1
pl 195.1+ 0.0

= -5.33I [ps/ch]
50

100

TP delay [ns]

Tinunz.ag9e+09 /3

TVC(c,b,ch)=(4, 5, 13)

po -949.8+ 0.1
L pl 176.7+ 0.0

Yo s eglpsich
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10000

5000

15000

10000
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T 29s0e+09 /3

TVC(c,b,ch)=(4,5,2)
T A

po 1299+ 0.1
pL 1913+ 0.0

= -5.23 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 5, 6
: X

-/ nar A).lje+09 /3
po  /-1344:+0.1
pl 194.2+ 0.0

= -5.15 [ps/ch]
- EY

100
TP delay [ns]

TVC(c,b,ch)=( 4, 5, 10

S nun 4.ts)we+09/3
i po -1350+ 0.1
[ p1 195.7:+ 0.0
150001~ 7]
10000 .
5000 - ]
C ]
[
-
[ G&= -5.11I[ps/ch]
0y 50 100

15000

10000

5000

TP delay [ns]

[ (= -5.36 [ps/ch]

TVC(c,b,ch)=( 4,5, 14

T z,.r34e+09 /3
po 1161+ 0.1
p1 186.5+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000
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15000

10000

5000

20000

15000

10000

5000

TVC(c,b,ch)=(4, 5, 3)
T A

T 2z0e+09 /3
po 1223+ 0.1
p1 189.1+ 0.0

= -5.226 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,5,7)

Cnazryre+09/3

po -1362+ 0.1
p1 197.8+ 0.0

= -5.06 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(4, 5, 11)

~onan 2. yuge+09 /3

po -1221# 0.1
pl 189.1 0.0

=-5.29 [ps/ch
ﬁ[p ]

100

TP delay [ns]

Tinuaz2.341e+09/3

TVC(c,b,ch)=(4, 5, 15)

L po 2039+ 0.1
pl 225.9+ 0.0
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15000

10000

5000

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000

TVC(cbch) (4 6,0)

ALY .swze+09/3
-1673+ 0.1
206.1% 0.0

-4.85 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 6,4

- rnun 2.9o0e+09 /3
pO 14341 0.1
pl 194.2:+ 0.0

= -5.15 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (4 6,8

Tna28/e+09/3
PD -1168+ 0.1
- pl 1835+ 0.0

= -5.45 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (4,6,12

S na L)ae+09l3
-1238+ 0.1
p1 193+ 0.0

= -5.18I [ps/ch]
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20000

15000

10000

5000
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10000
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10000
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15000

10000
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b

TVC(cbch) (4 6,1)

Tona 1 lbbe+09/2
-1554+ 0.1
212 5+ 0.0

= -4.7; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 6,5

Ty, lhle+09/3
-1416+ 0.1
195.1+ 0.0

i~ -5.13 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (4, 5

rnany wue+09/3
-1163 £ 0.1
185.1+ 0.0

= -5.40I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 6,13)

T 4 3339+09/3
-1345+ 0.1
1963+ 0.0

£ 509 psich)

TP delay [ns]

TVC(cbch) (4 6,2)

20000
15000
10000

5000

15000
10000
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10000

0

15000
10000
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AL 14:79+09/2
-1460+ 0.1
209.4+ 0.0

— -4.78 [psich]

100

TP delay [ns]

TVC(c,b ch) (4 6, 6

Srnu 31r2e+09/3
pO 1576+ 0.1
pl 201.8+ 0.0

= -4.96 [psich]
50

100
TP delay [ns]

TVC(cbch) (4 6,10

5000~
P

T 2.948e+09 /3
-1203+ 0.1
188.5+ 0.0

= -5.31I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 6,14

Tz, 2e+09 /3
-1079+ 0.1
181.3+ 0.0

= -5.52I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (4 6,3)

AL 4 144e+09/3
-1490+ 0.1
197 7+ 0.0

= -5.06;6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 6,7

T g Udhe+09/3
-1389+ 0.1
194 2+ 0.0

= -5.15 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (4, gs

LRI 2 Hbe+09 13
-1144% 0.1
185 6+ 0.0

= -5.39 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (4 6,15)

T z 341e+09/3
-1228+ 0.1
lBB 2+ 0.0

S5 3Lipsic)

TP delay [ns]



TVC(c,b,ch)=(4,7,0)
T *

a2 rsye+09/3
PO 1118+ 0.1
15000~ pl / 180.7+ 0.0
10000~ 4
5000~ 4
= -5.53 [ps/ch]
0 = 5ll) 100
TP delay [ns]
TVC(eb.ch)=(4,7,4)
T X~ rnun 2y9e+09 /3
po 41325+ 0.1
pl / 1924+ 0.0
15000~ =
10000 -
5000 = -
= -5.20 [ps/ch]
0 EY 00
TP delay [ns]
TVC(c,b,ch)=(4,7,8) —
T K™ 1nun 2 pzzeH
po 1193+ 0.1
15000 p1 / 1861+ 0.0
10000 -
5000 [~ 4
= -5.37 [ps/ch]
% - SIIJ 100
TP delay [ns]
TVC(c,b,ch)=(4,7,12)
T X~z (03e+09 / 3
PO <1114+ 0.1
pl / 188.4+ 0.0
15000 =
10000 J
5000~ J
‘= -5.31 [ps/ch]
Ot g

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(4,7,1)
T A

Sz 49e+09 /3

po
pl

-1061+ 0.1
180.3+ 0.0

= 55?5 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,7,5)

“nan2,944e+09 /3
-1135+£ 0.1
185.4+ 0.0

p0
pl

= -5.40 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(4,7,9)

1 2913e+09/ 3
pO 1137+ 0.1
I pl / 187.1+ 0.0
= -5.34 [ps/ch]
= 5 100
TP delay [ns]

TVC(c,b,ch)=( 4, 7, 13)

Tz 83e+09 /3
PO -1211+ 0.1
Pl/ 192.2+ 0.0
= -5.20 [ps/ch]
s
TP delay [ns]

TVC(c,b,ch)=(4,7,2)
[ T "

Tonan gz zze+09/3
po <1128+ 0.1
15000-— pl / 182.9+ 0.0
10000 L ]
s000f- ]
[ GA=-5.47 [ps/ch]
K = 5:) 100
TP delay [ns]
TVC(c,b,ch)=( 4, 7, 6)
F T X~ 2891e+09 /3
LY 41225+ 0.1
r pl / 189.3+ 0.0
15000~
10000 -— _-
5000 -— _-
[ (= -5.28 [ps/ch]
° = EY 100

TP delay [ns]

TVC(c,b,ch)=(4, 7, 10

T 2.804e+09 /3
-1215+ 0.1
191.2+ 0.0

po
_ © /
15000
10000 -— _-
5000 -— _-
[ = -5.23 [ps/ch]
% - Stl) 10'0

TP delay [ns]

TVC(c,b,ch)=(4, 7, 14
_ . X~ 1 Z,po3e+09 / 3
-1084+ 0.1
N 188.1+ 0.0
15000 ]
100001 .
so00|- _
[ = -5.32 [ps/ch]
L - BEE—

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=( 4, 7,
T X

3)

5 -5.1?6 [ps/ch]

Trnung131e+09/ 3
PO 41277+ 0.1
pl 194.2+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(4,7

wr 2.r0e+09/3

, 7)
-
Y 1208+ 0.1
pL 191.8:+ 0.0

= -5.21 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(4, 7,

11)

1 2.yoe+09/3

po
p1

-1245+ 0.1
192+ 0.0

=-5.21 [ps/ch
= ﬁ[p ]

100

TP delay [ns]

Tinanz.024e+09/ 3

TVC(c,b,ch)=( 4, 7, 15)

PO -919.2+ 0.1
pl 176.6+ 0.0

¥ 566 lpsic]

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000 [~

TVC(cbch) (4 8,0)

ALY 54U1€+09/3
-1370+ 0.1
193+ 0.0

= -5.18I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 8,4

S rnan 3.243e+09 /3
pO 1372+ 0.1
pl 192.2:+ 0.0

= -5.20 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (4 8,8

T 2. 880e+09 /3
PD -1036+ 0.1
pl 177.6+ 0.0

= -5.63 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (4,812

Taonuz9r1e+09/3
-991.1% 0.1
P1 177.5+ 0.0

= -5.63I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000
F

15000

10000

5000 [~

15000

10000

5000

TVC(cbch) (4 8,1)

Tona J 13/e+09/3
-1414+ 0.1
195 2+ 0.0

= -5'%5 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 8,5

AT zhﬁe+09/3
-1582+ 0.1
204 7% 0.0

= -4.89 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (4 8,9

Ty /me+09/3
-985.9+ 0.1
178.1% 0.0

‘= -5.61 [ps/ch]
= 5

100

TP delay [ns]

TVC(C, bch) (4 8,13)

T 4 3tu.e+09/3
-1183+ 0.1
187.1+ 0.0

<534 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (4,82

X1 na 24ef09/3
po 1183+ 0.1
pl 182.8+ 0.0

= -5.47I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (4 8,6

- 5 180e+09 /3
PO -1451+ 0.1
pl 197.8+ 0.0

= -5.06 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (4 8,10

T z912e+09 /3
-989.2+ 0.1
1766+00

= -5.66I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 8,14

“rnun z544e+09 /3
-730.6+ 0.1
168.8+ 0.0

= -5.93I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (4 8,3)

Tona 4 dude+09/3
-1469+ 0.1
197 3% 0.0

= -5.0; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 8,7

S g ibde+09/3
-1317+ 0.1
190 5+ 0.0

= -5.25 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (4 8

Tz awe+09/3
-1044+ 0.1
180 5+ 0.0

= -5.54 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (4 8,15)

T 4 14ue+09/3
-1102 £+ 0.1
1845+ 0.0

S 5 a20psieh]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000

-

TVC(c,b,ch)=(4, 9,
T X

0)

nun 2541e+09/3

po
pL

-1275+ 0.1

£ -5.21I [ps/ch]

191.8+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(4, 9,

4

“anua oz, r9e+09 /3
po 1312+ 0.1
p1 194.1% 0.0

= -5.15 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=(4, 9,

"

8

T z571e+09/3
po -1014+ 0.1
[ p1 181.8+ 0.0

‘= -5.50 [ps/ch]
£

100

TP delay [ns]

"

TVC(c,b,ch)=(4, 9,

12

T zose+09 /3
po -1083+ 0.1
p1 182.3+ 0.0

= -5.48I [ps/ch]

100

TP delay [ns]

15000

10000

5000 [~
P

15000

10000

5000 [~
b

15000

10000

TVC(c,b,ch)=(4,9, 1)
T A

po
pL

= 5.1?é [ps/ch]

T 2.530e+09 /3
-1373+ 0.1
195.2+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(4,9,5)

p0
pl

“ananZ /40e+09 /3
-1178 £ 0.1
188.5+ 0.0

= -5.30 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(4,9,9)

5000 [~

15000

10000
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po

1 2.3/8e+09/3

-707.8+ 0.1
pl 171.3+ 0.0

- -5.84I [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=( 4, 9

po

.13)

Tinuz.743e+09/3

n/

-1144 £ 0.1
186+ 0.0

535 sl

100

TP delay [ns]

TVC(c,b,ch)=(4,9,2)
. T A1 2544e+09 /3
0 - + 0.
: n / eres
15000 ]
10000:— _
soo0}- .
e = -5.14 [ps/ch]
0, - 5(') 100
TP delay [ns]
TVC(c,b,ch)=(4,9,6)
_ : X- 1 28 12e+09 /3
F 0 1506+ 0.
: o [
15000 ]
10000 -— _-
soo0- '
[ A= -4.93 [ps/ch]
0 ) 00

TP delay [ns]

TVC(c,b,ch)=( 4, 9,

'

15000

10000

5000 [~

0

10

T 2.443e+09 /3
[ po -857.6+ 0.1
[ pL 177.4% 00

= -5.64I [ps/ch]

50

1
100

TP delay [ns]

'

15000

10000

5000 [~

TVC(c,b,ch)=(4, 9,

14

T 2552e+09 /3
[ po 8605+ 0.1
N p1 176.6+ 0.0

[ = -5.66 [ps/ch]

1
50

1
100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

po
pL

TVC(c,b,ch)=(4, 9, 3)
T A

= -5.1:; [ps/ch]

T nun 2, 04e+09 /3
-1357+ 0.1
194.9+ 0.0

100

TP delay [ns]

po
pl

TVC(c,b,ch)=(4,9,7)

= -5.12 [ps/ch]
%

“nun 2 84e+09 /3
-1345+ 0.1
195.1+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=( 4, 9,

T nun 2.0bbe+09 /3

pO

11)

-916.4+ 0.1
pL 178.9+ 0.0

— -5.59 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 9

po

.15)

T inunz.pbbe+09 /3

-1000+ 0.1
pl 183.2+ 0.0

=546 [pslo

100

TP delay [ns]
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10000
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10000
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15000

10000

5000

0

15000

10000

5000

TVC(c,b,ch)=( 4, 10,0)
T X

T 1131e+06/3

PO -2235+ 0.2
B pl 2456+ 0.0

-4.07 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 10, 4

S rna2.942e+09 /3
PO 1205+ 0.1
pl 188.2:+ 0.0

= -5.31 [ps/ch]

-
- 1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 10, 8

T 2.845e+09 /3
Po -1184+ 0.1
pl 187.5+ 0.0

‘= -5.33 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=( 4, 10, 12)

Tonun3.z04e+09 /3
po 1234+ 0.1
pl 188.5+ 0.0

I~ -5.30I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 [~

AT rnuns.14/e+09/3

TVC(c,b,ch)=( 4, 10, 1)
T

PO -1069+ 0.1
- p1 181.6+ 0.0

= 55; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4, 10, 5)

nur 3.01e+09/3

Y -1006+ 0.1
- pL 178.4:+ 0.0

‘= -5.60 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(4, 10,9)

“inuz9y/e+09/3

p0 -1254+ 0.1
pl 191.7+ 0.0

= -5.22I [ps/ch]
50

100

TP delay [ns]

Tinu3.u14e+09/3

TVC(c,b,ch)=( 4, 10, 13)

po -1249% 0.1
pl 191.2+ 0.0

o523 [pslen]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

S 5.09e+09/3
PO -1211% 0.1
I pl 188.7 + 0.0
15000~
10000~ -
5000 [~ 1
5 J
[=
-
[ GA= -5.30 [ps/ch]
0, n - n 1 n n n n 1
50 100

Tz 900e+09 /3

TVC(c,b,ch)=( 4, 10, 2)
T X

[ po -1106 + 0.1
L pl 183.7+ 0.0

= -5.44I [ps/ch]

50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 10, 6

S rnu 3.021e+09 /3
LY -1316+ 0.1
pl 192.2:+ 0.0

= -5.20 [ps/ch]
£

100
TP delay [ns]

TVC(c,b,ch)=(4, 10, 10

T 3.159e+09 /3
po -1485+ 0.1
pl 201.3+ 0.0

= -4.97 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 10, 14)

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

AT 1 nun 2.9oye+09/ 3

TVC(c,b,ch)=( 4, 10, 3)
T

PO 1189+ 0.1
pl 187+ 0.0

= -5.3; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 10, 7)

~nun 2. 9p9e+09 /3

Y 41127+ 0.1
pL 188.3+ 0.0

= -5.31 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=( 4, 10, 11)

Tona2y37e+09/3

po -1128 £ 0.1
pl 185.3+ 0.0

= -5.40 [ps/ch
= ﬁ[p |

100

TP delay [ns]

Tonan3.105e+09/3

TVC(c,b,ch)=( 4, 10, 15)

PO -1097+ 0.1
L pl 183.4+ 0.0

=545 psich)

100

TP delay [ns]



TVC(cbch) (4,11,0)

15000

10000

5000

Tnun 2520e+09/3
- PO -660.1% 0.1
pl 160.7 + 0.0

= -6.22 [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (4,11,4

15000

10000

5000

- 3.213e+09 /3
PO 1158 + 0.1
pl 187.2+ 0.0

= -5.34 [ps/ch]
= £

100
TP delay [ns]

TVC(ebeh)=(4, 11,8

15000

10000

5000

0

T 3.081e+09 /3
PD -1302+ 0.1
pl 190.6+ 0.0

0

= -5.25 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (4 11,12)

T 4 ywe+09 /3
-1362+ 0.1
195 7+ 0.0
15000~
10000~ -1
5000 [~ -1
P
-
-5.11 [ps/ch]
0 I =&

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

TVC(cbch) (4,11,1)

“nun z8u0e+09 / 3
PO -845.5+ 0.1
p1 172.8+ 0.0

= -5.7‘?é [ps/ch]

100

TP delay [ns]

TVC(cbch) (4 1,5)

Ty, ua/e+09/3
-1198 £ 0.1
187+ 0.0

= -5.35 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 11

Ty, Ubbe+09/3
-1105+ 0.1
1858+ 0.0

= -5.38I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (4 11,13)

5000 7

T 4 8r3e+09/3
-1284+ 0.1
189 5+ 0.0
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TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (4,11,2)

= -5.92I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (4,116

Tnun 2840e+09/3
PO -737.6+ 0.1
pl 169+ 0.0

S rnu3.070e+09/3
pO 1321+ 0.1
pl 194+ 0.0

= -5.15 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (4 11,10)

ALV azae+09/3
- -1018+ 0.1
- 180+ 0.0

- -5.56I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 11,14)

= -5.21I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

T 4 Buze+09 /3
-1228+ 0.1
191 8+ 0.0 15000

10000

5000

TVC(cbch) (4,11,3)

“onuan g, rye+09/3
PO 854+ 0.1
r p1 1743+ 0.0

= -5.745}6 [ps/ch]

100

TP delay [ns]

TVC(cbch) (4, ;1 7)

nur 2. 3/HE+09/3
-1264+ 0.1
191 9+ 0.0

= -5.21 [ps/ch]
- 5

100
TP delay [ns]

TVC(Ebeh)=(4 11, 11)

X~ U 29se+09/3
-1096+ 0.1
Pl 184.8+ 0.0

= -5.41 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(cbch) (4 11,15)

T z Y1be+09 /3
-1076+ 0.1
1824+ 0.0
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TP delay [ns]



T .0u0e+09 /3

TVC(c,b,ch)=( 4, 12,0)
T X

po -1066+ 0.1
15000k p1 / 179+ 0.0
10000 ]
5000 [~ 7
= -5.59 [ps/ch]
0, £ 5[') 100
TP delay [ns]
TVC(c,b,ch)=(4,12,4)
: X1 nun 3.186e+09 / 3
po 1346+ 0.
p1 / 120‘,‘7: o.o1
15000 [~ T
10000 - T
5000 [~ 7]
= -5.25 [ps/ch]
0, = 00
TP delay [ns]
TVC(c,b,ch)=(4, 12, 8)
T X™ 1 29r9e+09 /3
po 1207+ 0.1
ool p1 / 187+ 0.0
10000 - T
5000 [~ ]
= -5.35 [ps/ch]
% - 5(') 100
TP delay [ns]
TVC(c,b,ch)=(4, 12,12)
T A1 3.uose+09 /3
0 1245+ 0.
L/
10000 ]
5000 - T
= -5.36 [ps/ch]
o —=——

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 1)
T

AT rnuan s 1wse+09/3

15000~

10000~

5000 -

PO -1148 + 0.1
pl 185.2+ 0.0

= 5.4(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 5)

S 3.164e+09 /3

Y -1405+ 0.1
pL 196+ 0.0

15000
10000 - =1
5000 [~ -1
= -5.10 [ps/ch]
0 5 00
TP delay [ns]

Tonuan 3110e+09/3

TVC(c,b,ch)=( 4,12, 9)

po -1337+ 0.1

pL / 194.8+ 00
15000 = =
10000 -
5000 - -

= -5.13 [ps/ch]
0 g 00

TP delay [ns]

Tinu3101e+09/3

TVC(c,b,ch)=( 4, 12, 13)

po -1261 0.1
15000 pl / 188.1+ 0.0
10000~ 1
5000 [~ ]
= -5.32 [ps/ch]
-
TP delay [ns]

T s.09se+09 /3

15000~
10000~

5000 [~

TVC(c,b,ch)=( 4, 12, 2)
- T N

po -1008+ 0.1
pl 1825+ 0.0

= -5.48 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 6

20000

10000~

T 2.110e+09/ 3
LY 4403+ 0.1
pl 320.8+ 0.0

-3.12 [ps/ch]
50

100
TP delay [ns]

15000
10000

5000 [~

TVC(c,b,ch)=( 4, 12, 10

Trna 3.0/e+09/3
-1179+ 0.1
186+ 0.0

‘= -5.38 [ps/ch]

0

- 1 1
50 100

TP delay [ns]

15000~
10000~

5000 [~

[ (A= -5.41 [ps/ch]

TVC(c,b,ch)=( 4, 12, 14)

Trnugayze+09/3
po 1145+ 0.1
pl 184.8+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 3)
T A

T s113e+09/3

PO -1273+ 0.1
pl 189.7+ 0.0

15000~
10000 = T
5000 - T
= -5.27 [ps/ch]
0 = & 100
TP delay [ns]
TVC(c,b,ch)=(4,12,7)
: A~ 3.2250+09 / 3
po 1336+ 0.
s/
15000 - T
10000 T
5000 - =
= -5.15 [ps/ch]
0 5 00
TP delay [ns]
TVC(c,b,ch)=(4, 12,11)
T AT rnu zgyre+09/3
0 -948.8+ 0.
15000 [~ 21 / f:j;: g.ol
10000 - T
5000 - T
= -5.74 [ps/ch]
0 - L
50 100
TP delay [ns]
TVC(c,b,ch)=(4, 12,15)
T A1 3.ub3e+09 /3
0 - + 0.
o000k 21 / 1{;;; g.ul
10000 = T
5000 - T
= -5.39 [ps/ch]
0 Bl
TP delay [ns]



TVC(cbch) (4 13,0)
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10000
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15000

10000
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15000
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0

15000

10000
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Trnang, Lwe+09/3
-1704+ 0.1
211.6+ 0.0

= -4.73 [ps/ch]

100

TP delay [ns]

TVC(cbch) (4,134

S 32516409/ 3
1256+ 0.1
pl 188.9+ 0.0

= -5.30 [ps/ch]
- £

100
TP delay [ns]

TVC(c,b, ch) (4,13,8

T 2. 9o8e+09 /3
PD -958+ 0.1
- pl 180.1 0.0

= -5.55 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (4,13,12

Tnu3u1ye+09/3
-1040+ 0.1
P1 180.8 + 0.0

= -5.53I [ps/ch]

100

TP delay [ns]
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15000

10000

5000

15000

10000
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15000

10000

5000 [~

15000

10000

5000 -

TVC(C, bch) (4 13,1)

Ao 4 ume+09/3
-2683+ 0.1
2524+ 0.0

= -3.96;é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4 13,5)

Ty, zhﬁe+09/3
-1321£ 0.1
192 4+ 0.0

= -5.20 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (4 13,9

Ty, Uble+09/3
-932.6+ 0.1
178+ 0.0

= -5.62 [ps/ch]
= 5

100

TP delay [ns]

TVC(C, bch) (4 13,13)

T 1 uoe+09/3
-1003+ 0.1
1919+ 0.0
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15000

10000
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10000
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15000

10000
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0

15000

10000
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TVC(cbch) (4 13,2)

ALY s;:ue+09/3
-1406+ 0.1
196.6+ 0.0

-5.09I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (4,136

- 3.453e+09 /3
PO 41511+ 0.1
pl 200.7+ 0.0

= -4.98 [psich]
50

100

TP delay [ns]

TVC(cbch) (4 13 10

Trna 3.08e+09/3
-829.1+ 0.1
1742+ 00

- -5.74I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 13, 14

T g1/9e+09/3
-1231+ 0.1
194.4+ 0.0

= -5.14I [ps/ch]

50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000
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TVC(C, bch) (4 13,3)

AT g, uuae+09/3

-1251+ 0.1
193 8+ 0.0

= -5.16;6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4 13,7)

Sy, ible+09 13

-1478+ 0.1
201+ 0.0

‘= -4.98 [ps/ch]
50

100
TP delay [ns]

TVC(eb,ch)= (4 13,11)

Ty i/de+09/3
190 6+ 0.0

-911.7+£ 0.1

=~ -5.25 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (4 13,15)

T z Idle+09/3
o 176 6+ 0.0

-1001£ 0.1

 s66lpsic)

TP delay [ns]



TVC(c,b,ch)=( 4, 14,0)
T X~ 1w 2 9yoe+09 / 3
0 - + 0.
n / amaies
15000 7]
10000[~ 71
5000 [~ 7]
-4.89 [ps/ch]
0 = 5[') 100
TP delay [ns]
TVC(c,b,ch)=(4, 14, 4
: X- 1 4.20/e+05/ 3
20000~ po 1491+ 4.3
p1 / 21:,41: 3.2
15000~ ]
10000~ ]
5000 7]
'~ -4.58 [ps/ch]
0 - 50 100
TP delay [ns]
TVC(c,b,ch)=(4, 14, 8)
T X~ z80/e+09/3
po 1112+ 01
ook p1 / 1835+ 0.0
10000 = T
5000 7
‘= -5.45 [ps/ch]
05 = = 100

TP delay [ns]

T 8.100e+09 /3

TVC(c,b,ch)=( 4, 14, 12

po -1467+ 0.1
pl 198.8+ 0.0

15000 [~ —

10000 [~ 4

5000 [~ —

9
-
/< -5.08 [ps/eh] |
0 50 T00

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

-

TVC(c,b,ch)=( 4, 14
T A

1)

wos.11e+09/3

PO 1150+ 0.1
L p1 184.6+ 0.0

= 54?@ [ps/ch]

100

TVC(c,b,ch)=( 4, 14,2)
- T A1 3.unse+09 /3
0 - + 0.
i n/ iaos
15000 ]
10000 .
so00|- .
[ &#= -5.23 [ps/ch]
0 = =% 100

TP delay [ns]

TVC(c,b,ch)=( 4, 14,5)

nur 3.19e+09/3

Y -1375+ 0.1
pL 196.7 % 0.0

TP delay [ns]

= -5.08 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(4, 14

-

,9)

i 2.520e+09/ 3
-894 £ 0.1

po
- pl 174.9+ 0.0

- -5.72 [psich]
5

100

TP delay [ns]

-

TVC(c,b,ch)=( 4, 14,

13)

i 2.y30e+09/3

PO -1097+ 0.1
| pl 182.3+ 0.0
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100

TP delay [ns]

TVC(c,b,ch)=( 4, 14, 6

S 5.2&ae+09 13
LY 41169 + 0.1
r pl 187+ 0.0
15000
10000~ -1
5000 = -1
L ]
[
[ A= -5.35 [ps/ch]
1
0 = 50 00

TP delay [ns]

TVC(c,b,ch)=( 4, 14, 10

T 2.880e+09 /3
-907.2+ 0.1
177+ 0.0

- po
15000~ pL
10000 -— —-
so00}- ]
L Oz -5.65 [ps/ch]
% EY 00

TP delay [ns]

TVC(c,b,ch)=( 4, 14, 14

- 4.321e+09/3
PO -1195+ 0.1
[ pl 188+ 0.0
15000~
10000~ B
soo0}- ]
b 4
[=
-
[ (A= -5.32 [ps/ch]
0, n F_ n 1 n n n n 1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 14, 3)
T AT nun 2 588e+09 / 3
0 -1070+ 0.
ool n [ ases
10000 - -
5000 - -
‘= -5.47 [ps/ch]
o £ Eé 100
TP delay [ns]
TVC(c,b,ch)=(4, 14,7)
T X7 3.0u5e+09 /3
Y -1074% 0.
15000 | p1 / 1;2.774 + ool
10000 - -
5000 -
‘= -5.47 [ps/ch]
0 = 56 100
TP delay [ns]

TVC(c,b,ch)=( 4, 14, 11)

Tonua28y7e+09/3

po -1023+ 0.1
15000 pl 181+ 0.0
10000 - -
5000 -
= -5.53 [ps/ch]
0 5 00
TP delay [ns]

Tinua2.y74e+09/3

TVC(c,b,ch)=(4, 14, 15)

PO -1281+ 0.1

p1 / 1914+ 0.0
15000 B
10000 B
5000 - B

= -5.22 [ps/ch]
- E—

TP delay [ns]



T g1z0e+09 /3

TVC(c,b,ch)=( 4, 15,0)
T X

0 - + 0.
n/ s
15000~
10000~ 7
5000 - 7
= -5.25 [ps/ch]
0, 5[') 100
TP delay [ns]
TVC(c,b,ch)=( 4, 15,4 )
: X1 nun 3.166e+09 /3
po 1185+ 0.1
ook p1 / 187.3+ 0.0
10000 - T
5000 - N
= -5.34 [ps/ch]
0 = 5(') 100
TP delay [ns]
TVC(c,b,ch)=(4, 15, 8)
T X- 1 z8yre+09/3
po 1222+ 0.1
p1 / 1895+ 0.0
15000~ ]
10000 ]
5000 [~ 7
‘= -5.28 [ps/ch]
% - 5(') 100

TP delay [ns]

15000

10000

5000 [~

TVC(c,b,ch)=(4, 15, 12)

S 5.07e+09/3
PO -903.3+ 0.1
pl 176.8+ 0.0

= -5.66I [ps/ch]
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15000
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AT rnun 5.352e+09/ 3

TVC(c,b,ch)=( 4, 15, 1)
T

PO -1261+ 0.1
pl 187.8+ 0.0

= 5.3::é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 15, 5)

“ana29//e+09/3

Y 1024+ 0.1
- pL 177+ 0.0

‘= -5.65 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(4, 15,9)

Tonan3.245e+09 /3

pO -1169+ 0.1
[ pl 184.7+ 0.0

= -5.41I [ps/ch]
50

100

TP delay [ns]

Tonae 2511e+09/3

TVC(c,b,ch)=( 4, 15, 13)

PO -2605+ 0.1
u pl 247+ 0.0

TP delay [ns]

T g.200e+09 /3

15000~
10000~

5000 [~

TVC(c,b,ch)=( 4, 15, 2)
- T N

po -1194+ 0.1
pl 184.6+ 0.0

= -5.42 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 15, 6

15000~
10000~

5000 -

- rnu 3.014e+09 /3
LY 1349+ 0.1
pl 194.7:+ 0.0

= -5.14 [ps/ch]
EY

100
TP delay [ns]

TVC(c,b,ch)=(4, 15, 10

15000~
10000~

5000 [~

T 3.021e+09 /3
-1140 £ 0.1
185+ 0.0

= -5.41 [ps/ch]

0

- 1 1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 15, 14)

Trnang.224e+09/3
po -1446+ 0.1
L pl 197.5+ 0.0
15000~ -
10000~ 1
5000 [~ -
L ]
[=
-
[ -5.06 [ps/ch]
0, - n 5(I) n n n n &5

TP delay [ns]
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10000
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10000
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15000

10000
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AT nun 3.0r4e+09/ 3
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5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

[

TVC(c,b,ch)=(5, 6
T A

1)

T 2.9u0e+09 /3
po 1092+ 0.1
p1 182.7+ 0.0

(- 5.4Zé [ps/ch]

TP d

TVC(c,b,ch)=(5, 6

'

100

elay [ns]

.5)

“nan2.93pe+09 /3
po 1239+ 0.1
pl 186.9+ 0.0

= -5.35 [ps/ch]
5

TPd

TVC(c,b,ch)=(5, 6

100

elay [ns]

,9)

1nun 2pobe+09 /3

po 9134+ 0.1
pL 175.6 % 0.0

- -5.69 [ps/ch]
g

TP d

-

TVC(c,b,ch)=(5, 6,

100

elay [ns]

13)

nur 3.042e+09 /3
-1324+ 0.1

po
pl 192.8+ 0.0

<519 [psle

TP d

100

elay [ns]

TVC(c,b,ch)=(5, 6, 2)
- T A

- rnun zyoae+09 /3
-1042+ 0.1
181.6+ 0.0

- po
15000~ L
10000 -— _-
5000 -— _-
[ #= -5.51 [ps/ch]
0 £ =% 100
TP delay [ns]
TVC(c,b,ch)=(5, 6, 6)
; X7 Ui Zyzee+09 /3
[ po -1401# 0.
[ p1 / 1;;41: o.o1
15000~ 7]
10000 -— _-
5000 -— _:
[ -5.12 [ps/ch]
0 = 100

TP delay [ns]

TVC(c,b,ch)=(5, 6, 10)
T X~ z93/e+09 /3
[ po 1165+ 0.1
15000-_ pl / 187.3+ 0.0
mooo-— ]
soo0}- 1
[ (#= -5.34 [ps/ch]
% = ey 00

15000

10000

5000

TP delay [ns]

TVC(c,b,ch)=(5, 6

PO
pl

,14

T 3.004e+09 /3
-1335+ 0.1
194.4+ 0.0

= -5.14I [ps/ch]

50

1
100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

-

TVC(c,b,ch)=(5, 6, 3)
T A

nur zss/e+09/3
-1163+ 0.1

= -5.3(5_)6 [ps/ch]

po
p1 1886+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(5,6, 7

'

“nan2.844e+09 /3
p0 1102+ 0.1
p1 183+ 0.0

= -5.47 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(5, 6,

11

Tonun2.853e+09/ 3
po 9955+ 0.1
p1 180+ 0.0

'— -5.56 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

'

TVC(c,b,ch)=(5, 6,

15

Tinun3101e+09/3
po -1373+ 0.1
p1 193.7+ 0.0

4 516 et

100

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000 [~

T s.u90e+09 /3

TVC(c,b,ch)=(5,7,0)
T A

po 1258+ 0.1
pL 193.1: 0.0

= -5.18I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5,7, 4

“anu 2yye+09 /3
po -1082+ 0.1
p1 184+ 0.0

‘= -5.43 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b,ch)=(5,7,8

T 2pase+09 /3
po -1270+ 0.1
p1 192.4+ 0.0

= -5.20 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=(5, 7, 12

T 1uo1e+09/3
po -906 £ 0.1
p1 187.7+ 0.0

= -5.33I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

TVC(c,b,ch)=(5,7,1)
T A

T 283e+09 /3
po 1065+ 0.1
p1 1814+ 0.0

= 55; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5,7,5)

“nun 2 863e+09 /3
po 1117+ 0.1
pl 186.8+ 0.0

‘= -5.35 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(5,7,9)

’
“onaz./u3e+09/3

po -1269+ 0.1
pl 192.3+ 0.0

= -5.20I [ps/ch]
50

100

TP delay [ns]

Tinun 1 1o0e+09/3

TVC(c,b,ch)=(5, 7, 13)

po 1125+ 0.1
pl 198.1+ 0.0

505 lpsich]

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

S nun 4.ts)1$e+09/3
po / 1198+ 0.1
pl 189.1% 0.0
15000~ 7]
10000~ 7]
5000~ 7
L ]
[
-
[ &= -5.29 [ps/ch]
0 = : ;
o 50 100

15000 — 7]
10000 .
so00- '
I 54 -5.18 [ps/ch]
o——

Srnu z53e+09/3

TVC(c,b,ch)=(5,7,2)
T A

po 1121+ 0.1
pL 185.1: 0.0

= -5.40I [ps/ch]

50 100

TP delay [ns]

TVC(c,b,ch)=(5, 7,6

S rnanz.99e+09/3
po 1313 0.1
p1 1955+ 0.0

‘= -5.12 [ps/ch]
= EY

100
TP delay [ns]

TVC(c,b,ch)=(5, 7, 10

TP delay [ns]

TVC(c,b,ch)=(5, 7, 14

T Luyse+09 /3
po 1037+ 0.1
p1 193.2+ 0.0

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(5, 7, 3)
T A

< Zrare+09/3
po 1136 0.1
pL 184.9:+ 0.0

= -5.4; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5,7,7)

S o 28zze+09 /3
po 1146+ 0.1
p1 186.9+ 0.0

= -5.35 [ps/ch]
o

100
TP delay [ns]

TVC(c,b,ch)=(5, 7,11)

Tonanz./49e+09/ 3

po -1011+ 0.1
pl 180.8+ 0.0

= -5.53 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tonan11u0e+09/3

TVC(c,b,ch)=(5,7,15)

po 1047+ 0.1
pl 194.3+ 0.0

S 515 psicn)

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000 [~

T s.0uze+09 /3

TVC(c,b,ch)=(5, 8,0)
T X

po -1368+ 0.1
pL 192.4:+ 0.0

- -5.20I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 4

= -5.16 [ps/ch]
= 55

100
TP delay [ns]

TVC(c,b,ch)=(5, 8, 8

S rna29r3e+09/3
po -1325% 0.1
p1 1938+ 0.0

T 2.go0e+09 /3
po -1162+ 0.1
p1 184.8+ 0.0

= -5.41 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 12

T z91/e+09/3
po -983.2+ 0.1
p1 177.7+ 0.0

= -5.63I [ps/ch]

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 7

15000

10000

5000 -

TVC(c,b,ch)=(5, 8,1)
T A

- S/ re+09/3
po -1256:+ 0.1
pL 189.3+ 0.0

= 52?5 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5,8,5)

“nun2ogbe+09 /3
po -1068+ 0.1
pl 180.6+ 0.0

= -5.54 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(5,8,9)

1 2. 885e+09 /3

po -1180 + 0.1
pl 188.8+ 0.0

= -5.30I [ps/ch]
50

100

TP delay [ns]

Tinu3.014e+09/3

TVC(c,b,ch)=(5, 8, 13)

po 1286+ 0.1
pl 194.9+ 0.0

S 51305,

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

10000

5000

T pase+09/3

TVC(c,b,ch)=(5, 8, 2)
T X

po 1153+ 0.1
pL 196.7:+ 0.0

= -5.08 [psich]

100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 6

S rnun 2z 9oe+09/3
po -1001% 0.1
p1 1849+ 0.0

‘= -5.41 [ps/ch]
= EY

100
TP delay [ns]

TVC(c,b,ch)=(5, 8, 10

T z919e+09 /3
po 11257+ 0.1
pl 193.3+ 0.0

= -5.17 [ps/ch]

- 1 L
50 100

TP delay [ns]

15000

[ - -5.72 [ps/ch]

TVC(c,b,ch)=(5, 8, 14

Tz, z0e+09 /3
po -872.6+ 0.1
p1 174.9+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(5, 8, 3)
T A

T 29z3e+09 /3
po 1207+ 0.1
p1 188.2+ 0.0

= -5.3;[ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 7)

S nuZ2yzoe+09 /3
po 1017 0.1
p1 179+ 0.0

= -5.59 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(5, 8, 11)

Tonua2812e+09/3

po -950.5+ 0.1
pL 178.6 % 0.0

'— -5.60 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

Tonanz802e+09/3

TVC(c,b,ch)=(5, 8, 15)

po 1136+ 0.1
pl 183.7+ 0.0

S aalpsien]

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (5 9,0)

LAl £63é9+09/3
-798.7+ 0.1
170.5+ 0.0

= -5.86I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 9,4

- rnun Z.bbye+09 /3
pO -759.5+ 0.1
pl 166.8:+ 0.0

= -6.00 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (5 9,8

T zpoze+09 /3
PD -736.5% 0.1
pl 1726+ 0.0

= -5.79 [ps/ch]
5(‘) 100

TP delay [ns]

TVC(cbch) (5,9, 12

X-inun Zyse+09/3
-1087+ 0.1
P1 184.4+ 0.0

= -5.42I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

TVC(cbch) (5 9,1)

Tona zuaae+09/3
-706.2+ 0.1
1656+ 0.0

= -6.045_1é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 9,5

Sl zb&me+09/3
-730.7+ 0.1
1684+ 0.0

= -5.94 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (5 9,9

5000 [~

15000

10000

5000

Ty /Jée+09/3
-831.3+ 0.1
1718+ 0.0

- -5.82I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (5 9,13)

T 4 mse+0913
-787.3+ 0.1
1692+00

S 591 sl

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000 [~

TVC(cbch) (5 9,2)

AT rnan g, /abe+09/3
-7253+ 0.1
1676+00

= -5.97I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (5 9,6

S rnu 2.82/e+09/3
pO 1035 0.1
pl 1813+ 0.0

- -5.52I [ps/ch]

50 100
TP delay [ns]

TVC(cbch) (5, 9 10

L Abde+09/3
-543.7+ 0.1
1607+00

= -6.22 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 9,14)

T 434/e+09/3
-1006+ 0.1
1789+ 0.0

= -5.59I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 9,3)

BEALLFS Ible+09/3
-754.7+ 0.1
1683+ 0.0

= -5.94;& [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 9,7

Sz bdbe+09/3
-1003+ 0.1
182 8+ 0.0

= -5.47 [ps/ch]
%

100
TP delay [ns]

TVC(c,b ch) (5 9

Tz, /599+09/3
-655.4+ 0.1
1553+ 0.0

= -6.05 [ps/ch
A ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (5 9,15)

T z ns:;e+09/3
-939.1£ 0.1
177 6+ 0.0

2563 sl

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

TVC(cbch) (5 10,0)

LAl 54/ue+09/3
-1275+ 0.1
1899+ 0.0

= -5.27I [ps/ch]

100

TP delay [ns]

TVC(cbch) (5.10,4

i 3.096e+09 /3
1359+ 0.1
pl 194.8+ 0.0

= -5.13 [ps/ch]
£

100
TP delay [ns]

TVC(c,b, ch) (5, 10

Tinu3.04/e+09/3
pO 1343+ 0.1
pl 194.1+ 0.0

= -5.15 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (5.10,12

5000 [~

Tnu 2,yose+09/3
-946.9+ 0.1
P1 178.7+ 0.0

= -5.60I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000
b

20000

10000

15000

10000

5000 -

TVC(cbch) (5 10, 1)

Ao J uze+09/3
-1326+ 0.1
1908+ 0.0

= -5.245_1é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 10,5)

Ty, uy/e+09/3
-1275+ 0.1
1899+ 0.0

= -5.27 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (5 10

Ty Uwe+09/3
-4749% 0.1
336 5+ 0.0

-2.97 [ps/ch]
50

TP delay [ns]

TVC(cbch) (5 10,13)

T ¢ 1:me+09/3
-1310+ 0.1
194 6+ 0.0

S 514 psich)

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

0

15000

10000

5000

TVC(cbch) (5 10,2)

T Jste+09/3
-1297+ 0.1
190. 4+ 0.0

= -5.25I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (5 10,6

S rnuz29s/e+09/3
-1505+ 0.1
2015+ 0.0

= -4.96 [psich]
50

100
TP delay [ns]

TVC(cbch) (5, 10 10

5000 [~
P

oo 31ze+09/3
DO -1368+ 0.1
pl 195+ 0.0

= -5.13I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 10, 14

T 2823e+09 /3
-1043+ 0.1
181.8+ 0.0

= -5.50I [ps/ch]

1
50 100

TP delay [ns]

AT nan 4 oue+09/3
-1682+ 0.1
208 3+ 0.0
15000 -
10000 = N
5000 - -
= -4.80 [ps/ch]
0 P =L
50 100
TP delay [ns]
TVC(c,b ch) (5, 10 7)
RERTCTREY Ushe+09/3
-1400+ 0.1
197 4+ 0.0
15000 -
10000 - -
5000 - -
‘= -5.07 [ps/ch]
0 50 00
TP delay [ns]

T g zu::e+09/3
-1431+ 0.1
197 3+ 0.0
15000 -
10000~ 1
5000 - -1
= -5.07 [ps/ch]
0, L
50 100
TP delay [ns]

TVC(C, bch) (5 10, 3)

TVC(cbch) (5 10 11)

TVC(cbch) (5 10,15)

T z uude+09/3
-1079+ 0.1
184 8+ 0.0
15000 -
10000 = -1
5000 - 1
‘= -5.41 [ps/ch]
0, I P I I n I
50 100
TP delay [ns]



“rnu 2z yp1e+09/3
PO -1090+ 0.1
15000~ pl / 1802+ 0.0
10000 ]
5000 | ]
= -5.55 [ps/ch]
0 = 5ll) 100
TP delay [ns]
TVC(c,b Ch) (5, 11 )
“rna 310e+09/3
pO 1526+ 0.1
pl / 202.4+ 0.0
15000 -
10000 = -
5000 ]
L= -4.94 [ps/ch]
50 00
TP delay [ns]
TVC(eboh)=(5,11,8)
po 1072+ 0.1
15000~ pl / 182+ 0.0
10000~ -
5000 |- ]
= -5.50 [ps/ch]
% = SIIJ 100

15000

10000

5000

TVC(CbCh) (5, 11 0)

TP delay [ns]

TVC(cbch) (5 11,12)

= -5.37I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~
F

15000

10000

5000

T 4!!1(e+09/3
-1113+ 0.1
186.1+ 0.0 15000

10000

5000 -

TVC(Cbch) (5, 11 1)

S 2.944e+09 /3
PO -1280+ 0.1
p1 193.7+ 0.0

= -5.1(;»é [ps/ch]

100

TP delay [ns]

TVC(cbch) (5 1,5)

AL L2 3Uhe+09/3
-1391+ 0.1
195 8+ 0.0

= -5.11 [ps/ch]
5

100
TP delay [ns]

TVC(eb.ch)= (5 11,9

Ty uyze+09/3
-1248+ 0.1
192 7+0.0

= -5.19 [ps/ch]
= 5

100

TP delay [ns]

TVC(cbch) (5 11,13)

T uwue+09/3
-1132+ 0.1
1849+00

€ 5415l

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(CbCh) (5, 11 2)

“rnun 3.us4e+09 /3
PO 1430+ 0.1
pl 198.6+ 0.0

= -5.03 [psich]

100

TP delay [ns]

TVC(cbch) (5 11,6

Srna 2 gze+09/3
pO 41242+ 0.1
pl 188+ 0.0

= -5.32I [ps/ch]

50 100
TP delay [ns]

TVC(cbch) (5 11 10)

aal 4tsl:>e+09/3
-1374£ 0.1
194.8+ 0.0

= -5.13I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 11,14)

T 31/e+09/3
-1271+ 0.1
192.7+ 0.0

= -5.19I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5, 11 3)

T nun 2uo8e+09 /3
PO 1268+ 0.1
pl 190.3+ 0.0

= -5.26;6 [ps/ch]

100

TP delay [ns]

TVC(cbch) (5 1,7)

-1341£ 0.1

AL PR dsbe+09/3
194 5% 0.0

= -5.14 [ps/ch]
= 5

100
TP delay [ns]

TVC(cbch) (5, 11 11

-1166 £ 0.1

rnanz, /use+09/3
186 9+ 0.0

‘= -5.35 [ps/ch
= ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (5 11,15)

-1242+ 0.1

T z 823e+09 /3
190 8+ 0.0

£ 524 s/l

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (5 12,0)

L ERL2 /uoe+09/3
-958.2+ 0.1
179.5+ 0.0

= -5.57I [ps/ch]

100

TP delay [ns]

TVC(cbch) (5.12,4

S rnun2.845e+09 /3
-996.6+ 0.1
Pl 179.6+ 0.0

‘= -5.57 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b, ch) (512,8

T z518e+09 /3
PD -948.2+ 0.1
pl 176.5+ 0.0

‘= -5.66 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (512,12

Taonuzore+09/3
-948.7+ 0.1
P1 177.7+ 0.0

= -5.63I [ps/ch]

100

TP delay [ns]

15000

10000

TVC(cbch) (5 12,1)

5000

15000

10000

5000 [~
b

15000

10000

Trnang uze+09/3
-1107 £ 0.1
1828+ 0.0

= -5.4Zé [ps/ch]

100

TP delay [ns]

TVC(cbch) (5 12,5)

AL L2 Hh45+09/3
-1198 £ 0.1
188 6+ 0.0

= -5.30 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5 12,9

5000 [~

15000

10000

5000

Srnarz stse+09/3
-627 £ 0.1
162+ 0.0

= -6.17 [ps/ch]
5

100

TP delay [ns]

TVC(cbch) (5 12,13)

T 4nuoe+09/3
-1199 £+ 0.1
1916+00

£ 52205

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000

TVC(cbch) (5 12,2)

ALY 45449+09/3
-1374+ 0.1
196.3+ 0.0

= -5.09I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (5 12,6

Trnu2.092e+09/3
[ -1080+ 0.1
L 1819+ 0.0

‘= -5.50 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (5 12 10

T 2pU1e+09 /3
- -872.2+ 0.1
- 177.2+ 0.0

- -5.64I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 12, 14

T zy1/e+09/3
-1158 + 0.1
187.2+ 0.0

= -5.34I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (5 12,3)

AT rnan 4 354e+09/3
1904+ 0.0

-1310+ 0.1

= -5.2; [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 12,7)

Sz, /d/e+09/3
- 181 5% 0.0

-1003+ 0.1

‘= -5.51 [ps/ch]
= 5

100
TP delay [ns]

TVC(cbch) (5 12,11)

Tnun 2 b542+09/3
§ 168 500

-777.7+ 0.1

= -5.94 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (5 12,15)

-1151+ 0.1

T z uue+09/3
187 7+0.0

533 psich)

TP delay [ns]



TVC(cbch) (5 13,0)

15000

10000

5000

LAl wase+09/3
-1401% 0.1
193.8+ 0.0

-5.16I [ps/ch]

100

TP delay [ns]

TVC(cbch) (5.13,4

15000

10000

5000

S 3.0/1e+09/3
1339+ 0.1
pl 192.4+ 0.0

= -5.20 [ps/ch]
£

100
TP delay [ns]

TVC(c,b, ch) (5, 13

15000

10000

5000

0

T 2.874e+09 /3
PD -1324+ 0.1
pl 197.2+ 0.0

0

= -5.07 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (5 13, 12

T 3.0u1e+09 /3

15000

10000

5000

1164 £ 0.1
186.1+ 0.0

= -5.37I [ps/ch]

100

TP delay [ns]

20000

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

TVC(cbch) (5 13,1)

Ao 4 uuse+09/3
-2270+ 0.1
2328+ 0.0

= -4.3% [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 13,5)

Ty, u415+09/3
-1445+ 0.1
199 6+ 0.0

= -5.01 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (5 13

Ty HUIe+09/3
-1209+ 0.1
1893+ 0.0

= -5.28I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (5 13,13)

T dUdbe+09/3
-1115+ 0.1
1836+00

£ 545 sl

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~

0

15000

10000

5000~

TVC(cbch) (5 13,2)

ALY suoue+09/3
-1301x 0.1
193.2+ 0.0

= -5.18I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (5 13,6

“rnu2.871e+09/3
-1113+ 0.1
183.8+ 0.0

‘= -5.44 [ps/ch]
= EY

100
TP delay [ns]

TVC(cbch) (5 13 10

T 2.823e+09 /3
- -1124 £ 0.1
- 180.4+ 0.0

= -5.54I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 13, 14

T z812e+09/3
-1041+ 0.1
182.8+ 0.0

= -5.47I [ps/ch]

1
50 100

TP delay [ns]

20000

10000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (5 13,3)

AT o 1 u::ze+09/3
-3720+ 0.1
2944+ 0.0

3 -3.4(5_)é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 13,7)

S zdble+09/3
-1153 £ 0.1
1858+ 0.0

= -5.38 [ps/ch]
= 5

100
TP delay [ns]

TVC(cbch) (5 13 11)

Tz b/be+09/3
-1051% 0.1
180 9+ 0.0

= -5.53 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (5 13,15)

T z u44e+0913
-1228+ 0.1
190 2+ 0.0

£ 5265

TP delay [ns]



15000

10000

5000~

15000

10000

5000

15000

10000

5000

0

15000

10000

5000~
b

TVC(cbch) (5 14,0)

LAl ¢041e+09/3
-1033+ 0.1
177.5+ 0.0

= -5.63I [ps/ch]

100

TP delay [ns]

TVC(cbch) (5.14,4

T 2.539e+09/ 3
1266+ 0.1
pl 1901 6 +0.0

= -5.25 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (5, 14 8

Tz, r51e+09/3
PD -1137+ 0.1
pl 186.2+ 0.0

= -5.37 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (5,14, 12

Cnaz. /)e+09l3
pO -1156 + 0.1
pl 188.5+ 0.0

= -5.31I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000
P

15000

10000

5000

TVC(cbch) (5 14,1)

LA uue+09/3
-1283+ 0.1
1923+ 0.0

= -5.2(5_)é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 14,5)

Sy, /bde+09/3
-1282+ 0.1
190 7+ 0.0

= -5.24 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (5 14,9

Ty ::ue+09/3
-1135+ 0.1
189 2+ OO

= -5.29I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (5 14,13)

T 41419+09/3
-752.4+ 0.1
1742+00

£ 574 s/

100

TP delay [ns]

15000

10000

5000~

15000

10000

5000

20000

10000

0

15000

10000

5000 [~

TVC(cbch) (5 14,2)

AT rnan g, uze+09/3

-1184 + 0.1
188.2+ 0.0

= -5.31I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (5 14,6

- rnu 2.o81e+09 /3
-1280+ 0.1
193.2+ 0.0

‘= -5.18 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (5 14 10

T r8pe+09 /3
-4136+ 0.1
313.3+ 0.0

£-3.19 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (5. 14,14

-1124 + 0.1

T 2,.500e+09 /3
/ 185.4+ 0.0

= -5.39I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (5 14, 3)

AT o 4 b::ae+09/3
194+ 0.0

-1326+ 0.1

= -5.16;6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 14,7)

-1192 £ 0.1

Sz, /iye+09/3
189 6+ 0.0

= -5.27 [ps/ch]
= 5

100
TP delay [ns]

TVC(eb,ch)= (5 14,11)

-1160 £ 0.1

Tz, /we+09/3
187 5+ 0.0

= -5.33 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (5 14,15)

-1106 + 0.1

T z mme+09/3
- 1824+ 0.0

=548 psich)

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

T 25/0e+09 /3

TVC(c,b,ch)=(5, 15,0)
T X

PO -1145+ 0.1
pl 187.1+ 0.0

= -5.35I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5, 15, 4

- 3,0v4e+09 / 3
PO -1451+ 0.1
pl 200.2+ 0.0

= -4.99 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(5, 15, 8

T z.9use+09 /3
Po -1519+ 0.1
pl 201.1+ 0.0

= -4.97 [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=(5, 15, 12

Tinuzyrre+09/3
PO -1261+ 0.1
pl 192.1+ 0.0

= -5.21I [ps/ch]

TP delay [ns]

15000

10000

5000 7

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

AT rnur 2.9sye+09/3

TVC(c,b,ch)=(5, 15, 1)
T

po -957.5+ 0.1
o pl 177.9+ 0.0

= -S'Gé [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5, 15, 5

= -5.07 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(5, 15,9

Tinun2.093e+09 /3
po -1026+ 0.1
- pl 180.3+ 0.0

“nan3.023e+09 /3
po -1440+ 0.1
pl 197.2+ 0.0

= -5.55I [ps/ch]
50

100

TP delay [ns]

Tinuzy1ve+09/3

TVC(c,b,ch)=(5, 15, 13)

PO 1325+ 0.1
pl 1953+ 0.0

100

% 512 [pslen]

TP delay [ns]

15000

10000

5000

15000

10000

5000

10000

5000

0

Trnuzy19e+09/3
N PO -1328+ 0.1
L pl 196.2+ 0.0
15000~ -
10000 ]
5000 B
5 4
[=
-
[ G= -5.10 [ps/ch]
0, n F_ n 1 n n n n 1
50 100

T 29se+09 /3

TVC(c,b,ch)=(5, 15, 2)
T X

po -1428+ 0.1
pl 198.8+ 0.0

= -5.03 [psich]

100

TP delay [ns]

TVC(c,b,ch)=(5, 15, 6

= -5.09 [ps/ch]
£

100
TP delay [ns]

TVC(c,b,ch)=(5, 15, 10

15000

S rnuz2.981e+09 /3
LY 41396+ 0.1
pl 196.4 + 0.0

T z.9z8e+09 /3
po -1112+ 0.1
pl 185.6+ 0.0

‘= -5.39 [ps/ch]

- 1 1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 15, 14 )

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

AT 1o 2.893e+09/ 3

TVC(c,b,ch)=(5, 15, 3)
T

PO -1158 + 0.1
pl 187.1+ 0.0

= -5.3; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5, 15, 7)

“nu 2.890e+09 /3
Y -1358+ 0.1
pL 195.9:+ 0.0

‘= -5.10 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(5, 15, 11

Tonua2.914e+09/3
po -1227+ 0.1
pl 190.3+ 0.0

= -5.26 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(c,b,ch)=( 5, 15, 15

Tinuaz0/e+09/3
po 1158+ 0.1
p1 188+ 0.0

=532 psich]

100

TP delay [ns]



TVC(c,b,ch)=(6,0,0)
T X

T Lo14e+09 /3

0 - 7% 0.
b/ s
15000~ 7
10000~ 7]
5000 [~ 7]
= -5.10 [ps/ch]
0, 5[') 100
TP delay [ns]
TVC(c,b,ch)=(6,0, 4)
: X rnur 2.7e+09/3
po 976.5 0.
150000 p1 / 1778,;: o.o1
10000 [~ T
5000 - 7]
‘= -5.59 [ps/ch]
0 = = 100
TP delay [ns]
TVC(c,b,ch)=(6, 0, 8)
T X~ 29y1e+09 /3
po -1419+ 0.1
p1 / 196.4+ 0.0
15000~ 7
10000~ 7
5000~ 1
G4 -5.00 [ps/ch]
% - = 100
TP delay [ns]
TVC(c,b,ch)=(6, 0, 12)
T A- 1 z.292e+09 /3
0 715.3% 0.
15000 zl / 177115:1 ((J).Ol
10000~ T
5000 - 7
= -5.82 [ps/ch]
[ - (E—

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 [~

'

TVC(c,b,ch)=(6, 0
T A

1)

= -5.1?é [ps/ch]

w1 uase+09/3
po -1054% 0.1
pL 193.2:+ 0.0

TP d

TVC(c,b,ch)=(6, 0

'

100

elay [ns]

.5)

“nan 2. 9upe+09 /3
po 1307+ 0.1
pl 195.1+ 0.0

= -5.13 [ps/ch]
5

TPd

TVC(c,b,ch)=(6, 0

100

elay [ns]

.9)

1 2. yo3e+09 /3

po -1432+ 0.1
pl 198.4+ 0.0

'=-5.04 [ps/ch]
50

TP d

-

TVC(c,b,ch)=( 6, 0,

100

elay [ns]

13)

nur 3.0z0e+09 /3

po 1298+ 0.1
pl 191.7+ 0.0

& 522 psiefy

100

TP delay [ns]

T 2544e+09 /3

TVC(c,b,ch)=(6, 0, 2)
L T A

po 1110+ 0.1
15000-— pl / 181.7+ 0.0
10000 ]
s000|- ]
L (#= -5.50 [ps/ch]
R = 5:) 100
TP delay [ns]
TVC(c,b,ch)=(6, 0, 6)
F T X1 2.yn4e+09 /3
LY 1219+ 0.1
[ p1 / 189.1+ 0.0
15000~
10000 -— _-
5000 -— _-
[ Gf= -5.29 [ps/ch]
° = EY 100

TP delay [ns]

TVC(eh,ch)=(6,0,10) __
T ) .H-((e‘* o
15000 gl / 1;253;‘
mooo:— '
soo0|- ]
[ 54 -5.31 [ps/ch]
% = = 00

TP delay [ns]

TVC(c,b,ch)=(6, 0, 14)
r X~ 1w z.9y4e+09 /3
0 1208+ 0.
e
10000 .
s000|- .
[ (F= -5.32 [ps/ch]
[ - EE——

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

'

TVC(c,b,ch)=(6, 0
T A

:3)

T g.uzve+09 /3
po 41121+ 0.1
p1 181.9+ 0.0

= -5.5(5_)6 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(6, 0

'

' 7)

Cnuzozre+09/3
po -1033% 0.1
p1 1795+ 0.0

= -5.57 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=( 6, 0,

11)

“onuai2.yy/e+09/3

pO -1262+ 0.1
pl 191.3+ 0.0

= -5.23 [ps/ch
- ﬁ[p |

100

TP delay [ns]

-

TVC(c,b,ch)=( 6, 0,

15)

nun 2825e+09 /3

po 1173+ 0.1
pl 187+ 0.0

535 sl

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000 [~

TVC(cbch) (6 1,0)

ALY 5Ubbe+09/3
-1496+ 0.1
198.4+ 0.0

= -5.04 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 1,4

S rnu Z.9use+09 /3
pO -994.6+ 0.1
L pl 181.1+ 0.0

‘= -5.52 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (6 1,8

T 2.559e+09 /3
PD -966 + 0.1
- pl 178.8+ 0.0

‘= -5.59 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (61,12

S Zve+09/3
1125+ 0.1
P1 184.1+ 0.0

= -5.43I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 -

TVC(cbch) (6 1,1)

Tona J 4/Je+09/3
-1458+ 0.1
197+ 0.0

= -5.0?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 1,5

AT uzye+09/3
-1314+ 0.1
193.1% 0.0

= -5.18 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (6 1,9

Ty /4be+09/3
-937.2+ 0.1
1779+ 0.0

= -5.62 [ps/ch]
= 5

100

TP delay [ns]

TVC(cbch) (6 1,13)

T 43449+09/3
-1143+ 0.1
1853+00

<540 psich)

100

TP delay [ns]

15000

10000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

5000 [~
P

TVC(cbch) (6 1,2)

Tonan g, L:rse+09/3
-1564+ 0.1
203.3+ 0.0

-4.92 [psich]

100

TP delay [ns]

TVC(c b ch) (6 1,6

S rnu2.944e+09 /3
pO 41269+ 0.1
pl 191.8+ 0.0

‘= -5.21 [ps/ch]
- EY

100
TP delay [ns]

TVC(cbch) (6 1,10

T 2.939e+09 /3
-1021% 0.1
179.6+ 0.0

= -5.57I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6 1,14

T z9ure+09/3
-1178 £ 0.1
187.3+ 0.0

= -5.34I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (6 1,3)

Tona 4 :uue+09/3
-1409+ 0.1
195 6+ 0.0

= -5.11§é[ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 1,7

a2 bdye+09 13
-1009+ 0.1
181+ 0.0

= -5.53 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (6 l

Tz u::ye+09/3
-1114+ 0.1
187 3+ 0.0

= -5.34 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (6 1,15)

T z 3:;:;e+09/3
-1374+ 0.1
196 8+ 0.0

£ 508 sl

TP delay [ns]



TVC(cbch) (6 2,0)

15000

10000

5000

ALY 5UOA€+09/3
-1472+ 0.1
198.1+ 0.0

‘= -5.05 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 2,4

15000

10000

5000

Srna287/e+09/3
pO 1255+ 0.1
pl 190.6:+ 0.0

= -5.25 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (6 2,8

15000

10000

5000 =
P

0

T z.//1e+09/3
PD -1145+ 0.1
pl 188+ 0.0

0

= -5.32 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (6,2, 12

15000

10000

5000

X-inun Zsse+09/3
-984.4+ 0.1
P1 179.8+ 0.0

= -5.56I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (6 2,1)

Trnang U:w:)e+09/3
<1227+ 0.1
185 6+ 0.0

= -5.3(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 2,5

AL L2 wze+09/3
-1252+ 0.1
190 2+ 0.0

= -5.26 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (6, 2

rnany HUHe+09 13
-1226+ 0.1
191+ 0.0

= -5.24I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (6 2,13)

Cnar g vev\JQ /3
1272+ 0.1
188 6+0.0

<530 psich)

100

TP delay [ns]

15000
10000

5000

15000

10000

10000

0

15000

10000

TVC(cbch) (6 2,2)

ALY zalve+09/3
-1183+ 0.1
187.1+ 0.0

= -5.35I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (6 2,6

5000 [~
P

S Zbr(e+09 /3
PO -1177+ 0.1
pl 188.5+ 0.0

= -5.31I [ps/ch]

50 100
TP delay [ns]

TVC(cbch) (6,210

20000

T 19zze+09 /3
-4101% 0.1
Pl 312.1% 0.0

£ -3.20 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (6 2,14

5000~
P

Tinuw zyre+09/3
-1114+ 0.1
183.1+ 0.0

= -5.46I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (6 2,3)

AL 4 v4e+09/3
-1294+ 0.1
192 5+ 0.0

= -5.2(5_)6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 2

Sz, /4he+09/3
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= -5.00 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 3,4

S 3.135e+09/3
pO -1586+ 0.1
pl 204.6:+ 0.0
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50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

20000

15000

10000

5000
e

TVC(cbch) (6 3,3)

Tna 4 bzle+09/3
-1408+ 0.1
198 6+ 0.0
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100
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%

100
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TVC(c,b,ch)=(6, 6,9)

1 2.914e+09 /3

po -960.9:% 0.1
pL 178.7+ 0.0
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50 100
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100
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100
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100
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£ -3.44 [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=(6, 7, 8

1 nun 2oybe+09 /3

po -1263+ 0.1
pl 191.1+ 0.0
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100
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= -5.68 [ps/ch]
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-1061% 0.1
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-1225% 0.1
pl 190.4+ 0.0

525 sl

100

TP delay [ns]



15000

10000

TVC(cbch) (6 9,0)

5000 [~

15000

10000

5000

15000

10000

5000

0

15000

10000

ALY 5U10€+09/3
-1408+ 0.1
196+ 0.0

-5.10I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 9,4

- a2 bBYe+09 /3
pO 1046+ 0.1
pl 181.7:+ 0.0

‘= -5.50 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (6 9,8

T 2.838e+09 /3
PD -1001% 0.1
pl 179.8+ 0.0

‘= -5.56 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (6,9,12

5000 [~

Tnuz /bye+09/3
-751.3+ 0.1
P1 167.5+ 0.0

= -5.97I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (6 9,1)

AL 43::e+09/3
-1233+ 0.1
1893+ 0.0

= -5.2?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6 9,5

SRR 3b45+09/3
-1190 £ 0.1
189 7+ 0.0

= -5.27 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (6, 9

rnany ﬁaae+09 13
-1149 £ 0.1
187+ 0.0

= -5.35I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (6 9,13)

T dUéJe+09/3
-1106 + 0.1
1863+00

%537 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000 [~

15000
10000

5000 [~

0

15000
10000

5000 [~

TVC(cbch) (6 9,2)

Tonan g, mae+09/3
-1488+ 0.1
199+ 0.0

= -5.03 [psich]

100

TP delay [ns]

TVC(c,b ch) (6 9,6

T rnu 2.9o4e+09 /3
pO 41101+ 0.1
pl 184.7:+ 0.0

‘= -5.42 [ps/ch]
= EY

100
TP delay [ns]

TVC(cbch) (6 9 10

T 3.0s2e+09 /3
-1100 £ 0.1
179.9+ 0.0

= -5.56I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6 9,14

Tz 9o8e+09 /3
-1395+ 0.1
196.5+ 0.0

= -5.09I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (6 9,3)

AL 4 :ible+09/3
-1412+ 0.1
1964+ 0.0

= -5.026 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (6, 9

Al z 93e+09/3
-1284+ 0.1
192 5% 0.0

‘= -5.19 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (6 9

Sl zysze+09/3
-1140£ 0.1
1852+ 0.0

= -5.40 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (6 9,15)

T zsuze+09/3
-1172+ 0.1
1863+ 0.0

£ 537 loskch

TP delay [ns]



15000

10000

5000~

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

T suLse+09/3

TVC(c,b,ch)=( 6, 10,0)
T X

PO -1200+ 0.1
pl 188.5+ 0.0

= -5.31I [ps/ch]

51 100

TP delay [ns]

TVC(c,b,ch)=(6, 10, 4

= -5.16 [ps/ch]
£

100
TP delay [ns]

TVC(c,b,ch)=(6, 10, 8

nur 3.0/7e+09/3
po 1347+ 0.1
pl 193.7:+ 0.0

Tz 074e+09 /3
Po -1286+ 0.1
pl 188.3+ 0.0

= -5.31 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=( 6, 10, 12

Tananz29e+09/3
po -1034+ 0.1
pl 179.9+ 0.0

= -5.56I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 -

AT 1 nun 2.9o0e+09/3

TVC(c,b,ch)=( 6, 10, 1)
T

PO -1219+ 0.1
p1 187.1+ 0.0

= 5.345_1é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 6, 10, 5

=-5.10 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(6, 10, 9

S a3 1ebe+09 /3
Y -1334% 0.1
pl 196.1+ 0.0

“inu 2ye+09/3
po -970.3+ 0.1
pl 178.2+ 0.0

= -5.61 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=( 6, 10, 13 )

T 2.g52e+09 /3
PO -1078+ 0.1
pl 183.8+ 0.0

O 5aalpsic

TP delay [ns]

15000

10000

5000

15000

10000

5000

10000

5000

0

15000

10000

5000~

T z910e+09 /3

TVC(c,b,ch)=(6, 10, 2)
[ T .

po 1319+ 0.1
pl 194.2+ 0.0

= -5.15 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 6, 10, 6

S rnun2.849e+09 /3

LY 1417+ 0.1
pl 197+ 0.0

-5.08 [ps/ch]
£

100
TP delay [ns]

TVC(c,b,ch)=( 6, 10, 10

15000

T 3.08ve+09 /3
po -1250+ 0.1
pl 187.1+ 0.0

= -5.35 [ps/ch]

-
1 1
50 100

TP delay [ns]

L = -5.47 [ps/ch]

TVC(c,b,ch)=( 6, 10, 14

Trna 2, Z0e+09/3
PO -1067+ 0.1
pl 182.9+ 0.0

|
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=( 6, 10, 3)
T

X o Cset09/3
pO -1452+ 0.1
pl 199.7+0.0

= -5.0é[ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(6, 10, 7)

=i 2.920e+09 /3
Y <1154+ 0.1
pl 184.9+ 0.0

= -5.41 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(6, 10, 11

“onun2.899e+09 /3
pO -1222+ 0.1
p1 190.4 % 0.0

= -5.25 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(c,b,ch)=( 6, 10, 15

Tinanz.yobe+09/3
po 1115+ 0.1
p1 184.5+ 0.0

s a2lpsic)

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (6,11,0)

Tonanz,734e+09/3
PO 1054+ 0.1
pl 180+ 0.0

= -5.56I [ps/ch]

100

TP delay [ns]

TVC(cbch) (6,11,4

- rnun 3.0u9e+09 /3
pO 13741 0.1
pl 194.1+ 0.0

= -5.15 [ps/ch]
£

100
TP delay [ns]

TVC(c,b, ch) (6,118

Tz, r9pe+09 /3
PD -1251% 0.1
pl 193.1+ 0.0

= -5.18 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (6 11,12)

T 4 dlbe+09 /3
-1130+ 0.1
187 4+ 0.0

= -5.34I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 7

TVC(cbch) (6,11,1)

AT 1nunz,55e+09 /3
PO -1089+ 0.1
p1 184.7+ 0.0

= -5.4?é [ps/ch]

100

TP delay [ns]

TVC(cbch) (6 1,5)

AL L2 Sﬁbe+09/3
-1443+ 0.1
195 2+ 0.0

= -5.12 [ps/ch]
%

100
TP delay [ns]

TVC(c,b ch) (6 11,9

- -5.63 [ps/ch]
5

100

TP delay [ns]

TVC(cbch) (6 11,13)

Z549bsen

TP delay [ns]

TVC(cbch) (6,11,2)

15000

10000

5000

Tonan gz s2e+09/3
PO -1181% 0.1
pl 189.1+ 0.0

= -5.29I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (6,11,6

15000 =
10000 :— —:
5000 -— —:
[ G4 -5.22 [psich]
0 =

Srnuzb6re+09/3
pO 1369+ 0.1
pl 191.7:+ 0.0

100
TP delay [ns]

TVC(c,b, ch) (6 11, 10)

S z4&-lbe+09/3
9034+ 0.1 [
177 7+ 00 15000

10000

5000

0

P Abde+09/3
-996.7+ 0.1
1805+00

= -5.54I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6 11,14)

T 4 11ve+09 /3
-998.5:+ 0.1 I
182+ 0.0 15000

10000

5000

T zpose+09 /3
-878.4+ 0.1
171.2+ 0.0

= -5.84I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (6,11,3)

“nun 2z, /boe+09/ 3
PO -1088+ 0.1
pl 184.6+ 0.0

= -5.4?6 [ps/ch]

100

TP delay [ns]

TVC(cbch) (6 1,7)

-1378+ 0.1

S 2 bdﬂe+09 13
197.1% 0.0

= -5.07 [ps/ch]
50

100
TP delay [ns]

TVC(Ebeh)= (e 1,11)

-995.1+ 0.1

Tz a4le+09/3
- 180 5+ 0.0

= -5.54 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (6,11,15)

-1164 + 0.1

Tinanz.023e+09/3
pl / 189.9+ 0.0

£ 5275

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000~

TVC(cbch) (6 12,0)

LAl L‘JUOE+09/3
-938.7+ 0.1
172.3+ 0.0

- -5.81I [ps/ch]

100

TP delay [ns]

TVC(cbch) (6.12,4

a2, 8yse+09 /3
1285+ 0.1
pl 186.2+ 0.0

= -5.37I [ps/ch]

50 100
TP delay [ns]

TVC(c,b, ch) (6,12,8

Tz 04e+09 /3
PD -1065% 0.1
pl 180.1+ 0.0

‘= -5.55 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (612,12

Tnun 2030e+09/3
1023+ 0.1
P1 182.6+ 0.0

= -5.48I [ps/ch]

100

TP delay [ns]

20000

10000

15000

10000

5000 [~
3

15000

10000

TVC(cbch) (6 12,1)

Ao J IDUe+08/3
-3104+ 0.1
279 7% 0.0

3 -3.5?é [ps/ch]

100

TP delay [ns]

TVC(cbch) (6 12,5)

RATEE) UJBE+09/3
-1380+ 0.1
195 5% 0.0

= -5.11 [ps/ch]
%

100
TP delay [ns]

TVC(c,b ch) (e 12,9

5000 [~

15000

10000

5000

Ty /bbe+09/3
-1056+ 0.1
184 2+ 0.0

= -5.43I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (6 12,13)

T 4 /ue+0913
-976.9+ 0.1
175.1+ 0.0

2571 sl

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (6 12,2)

LAl 4‘.7U:)e+09/3
9148+ 0.1
1743+00

=-5.74 [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (6 12,6

S rnun 3.039e+09 /3
-1350+ 0.1
193.9+ 0.0

= -5.16 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (6 12 10

T 2.945e+09 /3
[ -1015+ 0.1
- 181.1+ 0.0

- -5.52I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6 12, 14

Tz 81e+09/3
-902.1+ 0.1
1748+ 0.0

= -5.72I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (6 12,3)

FSEALTIPX 3A/e+09/3
191 2% 0.0

<1242+ 0.1

= -5.2:; [ps/ch]

100

TP delay [ns]

TVC(c, bch) (6 12,7)

-1668+ 0.1

SRRITTIRY UUQE+09/3
209 2+ 0.0

= -4.78 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (e 12,11)

-1148 £ 0.1

Tz uuse+09/3
1854+ 0.0

= -5.39 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (6 12,15)

-980 £ 0.1

T z b14e+0913
- 179 5+ 0.0

2557 bS]

TP delay [ns]



T L‘.féée+09/3
-1407+ 0.1
/ 1966+ 0.0
15000~
10000} ]
5000 = =1
G4 -5.09 [ps/ch]
0 £ T00
TP delay [ns]
TVC(c,b Ch) (6, 13 4)
S rna2.871e+09/3
pl / 123:%33:0001
15000~
10000 =1
5000~ B
= -5.13 [ps/ch]
0 - EY 00
TP delay [ns]
TVC(c,b, Ch) (6, 13 )
Snu 2o83e+09/3
pD 1092+ 0.1
15000 p1 / 181+ 0.0
10000 = -1
5000 - E
= -5.53 [ps/ch]
% = EY 00

15000

10000

5000 [~

TVC(cbch) (6,13,0)

TP delay [ns]

TVC(cbch) (613,12

Tnuzyzoe+09/3
-1036+ 0.1
P1 178.6+ 0.0

= -5.60I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 7

TVC(cbch) (6 13,1)

AT rnan zuue+09/3
-1379+ 0.1
194+ 0.0

= -5.15;3é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (6, 13 5)

nur 3,4 UilE+09 13
-1302+ 0.1
192 4+ 0.0

= -5.20 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (6 13

T, wue+09/3
-1097+ 0.1
1844‘* 0.0

= -5.42I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (6 13,13)

AL uuoe+09/3
-901.9+ 0.1
1764+00

2567 s

TP delay [ns]

TVC(cbch) (6 13,2)

15000

10000

5000

AT 1nw suwe+09/3
-1337+£ 0.1
193.2+ 0.0

= -5.18I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (6 13,6

- rnu Z.9uee+09 /3
-1218+ 0.1
187.1+ 0.0

15000
10000 -— —-
5000 -— —-
[ G4 -5.35 [ps/ch]
0 = = 00

TP delay [ns]

TVC(cbch) (6 13 10

10000

5000 [~

0

T r51e+09/3
-357+0.1
1455+ 0.0

= -6.87 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6 13, 14

15000

10000

5000~
3

Tz 0e+09/3
-1215+ 0.1
189.3+ 0.0

= -5.28I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (6 13,3)

-1454+ 0.1

AT o 4 u:ue+09/3
2004+ 0.0

= -4'92}, [ps/ch]

100

TP delay [ns]

TVC(c, bch) (6 13,7)

-1150 £ 0.1

SRRITTPX b/de+09/3
[ 184 3+ 0.0

= -5.43 [ps/ch]
= 5

100
TP delay [ns]

TVC(cbch) (6 13 11)

-1082+ 0.1

A uuze+09/3
B 1764‘* 0.0

= -5.67 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (6 13,15)

-1166 + 0.1

A z b43e+09/3
L 1854+ 0.0

C5390psich)

TP delay [ns]



15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

0

TVC(cbch) (6 14,0)

T Awue+09/3
-1319+ 0.1
194.8+ 0.0

= -5.13I [ps/ch]

100

TP delay [ns]

TVC(cbch) (6,144

Sz, 785e+09 /3
1116+ 0.1
- pl 180.9+ 0.0

‘= -5.53 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b, ch) (6,14,8

T z5/8e+09 /3
PD -895.6+ 0.1
B pl 175+ 0.0

= -5.72 [psich]
EY

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

TVC(cbch) (6 14,1)

LA a:wze+09/3
-1219+ 0.1
189 5+ 0.0

= -5.2?é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (6 14,5)

Sy, yue+09/3
-1364+ 0.1
191 7+ 0.0

= -5.22 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (e 14,9

5000 7

AT szle+09/3
-902.2+ 0.1
1766+ 0.0

- -5.66 [ps/ch]
5

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

4000

2000

1000

0

TVC(cbch) (6 14,2)

Lt 6U649+09/3
-1252+ 0.1
187.3% 0.0

= -5.34I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (6.14,6

S rnu 3.013e+09 /3
pO 41344+ 0.1
pl 193+ 0.0

= -5.18 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (6, 14 10

3000

- C=.4554 [psich] 1

T 1.491e+09/3
- DO 1338+ 0.1
Pl ,21.96+0.01

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (6 14, 3)

AT g, u:me+09/3
I 183.1+ 0.0

-1120+ 0.1

= -5.46;6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (6 14,7)

SRRITTIPX :4b!4&+09/3
1924+ 0.0

-1351% 0.1

= -5.20 [ps/ch]
5

100
TP delay [ns]

TVC(cbch) (e 14,11)

Tnun 2 auue+09/3
188 2+ 0.0

-1095+ 0.1

= -5.31 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (614,12 TVC(cbch) (6 14,13) TVC(cbch) (6.14,14) TVC(cbch) (6 14,15)

Tanun g 329e+09 /3 S ¢ U639+09 13 Trnu3u1oe+09/3 S 4 use+09 13

/ 1162+ 0.1 1285+ 0.1 / -1473+ 0.1 -1169+ 0.1

pL 185.6+ 0.0 1909+uo [ 199.8+ 0.0 N 184.1+ 0.0

15000~ 15000~ 15000 o000
10000~ — 10000 i 10000k ] 10000 E
5000 [ 4 5000 | - 5000 ] 5000 |- E
= -5.39 [ps/ch] = -5.24 [ps/ch] [ A= -5.01 [ps/ch] = -5.43 [ps/ch]
0 B E— 0 B E— TV 0 e 0 =— g

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b,ch)=( 6, 15,
T

0)

X/ nur 2ver09/3
po -1340+ 0.1
pl 190.6+ 0.0
15000~ B
10000~ T
5000 - T
F-
-
-
= -5.25I [ps/ch]
0 - 50 T00

TP delay [ns]

TVC(c,b,ch)=( 6, 15,

4

e 2./3e+09/3

\
po -955.6+ 0.1
15000~ pl 175.4+ 0.0

10000~ E
5000 [~ =
‘= -5.70 [ps/ch]
0 = EY 00

TP delay [ns]

TVC(c,b,ch)=( 6, 15,

8

nur 2.803e+09 / 3

-
Po -835.5+ 0.1
15000~ pl 173.8+ 0.0

10000 = =
5000 1
= -5.75 [ps/ch]
% EY 00

TP delay [ns]

T 29a5e+09 /3

TVC(c,b,ch)=( 6, 15, 12

po -1380+ 0.1
pl 198.1+ 0.0
15000~ T
10000~ T
5000 [~ T
L
-
'~ -5.05 [ps/ch]
bt L il B

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=( 6, 15,
T A

1)

T s113e+09/3

po -1260+ 0.1
pL 189.6+ 0.0

= 52?5 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 6, 15,

5)

“nan 2 /ope+09 /3

Y -889.3+ 0.1
o pL 173.9:+ 0.0

= -5.75 [ps/ch]
= 5

100

TP delay [ns]

TVC(c,b,ch)=( 6, 15,

9)

“onunz./yve+09 /3

po -1092+ 0.1
pl 186.7 + 0.0

= -5.35I [ps/ch]
50

100

TP delay [ns]

Tina3.004e+09 /3

TVC(c,b,ch)=( 6, 15, 13 )

PO 1384+ 0.1
pl 198.7+ 0.0

4 5.03 psieh]

100

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 2)
T X~ 3.Us5e+09 / 3
0 1252+ 0.
i n/ iaios
100001 .
so00|- .
[ Gf= -5.34 [ps/ch]
0 £ 5(') 100

TP delay [ns]

TVC(c,b,ch)=(6, 15, 6)
T X7 nun 2. 991e+09 /3
[ 0 -1158+ 0.
15000-— zl / 1152: 00.01
100001 ]
5000 -_ _-
L (4= -5.41 [ps/ch]
° = EY 100

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 10

1nun 2o5/e+09/3

po -867.4+ 0.1
pl 1715+ 0.0

15000}
10000 -_ =
s000|- ]
[ U= -5.83 [ps/ch]
% EY 00

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 14

1nun 2.ys2e+09 /3

PO 1386+ 0.1
pl 198.8+ 0.0

15000 — .
10000 — -
so00}- —
L (A= -5.03 [ps/ch]
o

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(6, 15, 3)
T

AT susse+09 /3
po 1335+ 0.1
3 p1 / 190+ 0.0
i~ -5.26 [ps/ch]
- gé 100
TP delay [ns]

TVC(c,b,ch)=(6, 15, 7)

TVC(c,b,ch)=(6, 15,11)

Tonan 2 /52e+09/3

pO
pl

Crnan zrg9e+09 /3
po 1010+ 0.1
N p1 / 181.3+ 0.0
= -5.52 [ps/ch]
5(‘) 100
TP delay [ns]

-967.1£ 0.1

180.6+ 0.0

= -5.54 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 15)

T 3.1z0e+09 /3
po -1400% 0.1
p1 / 198+ 0.0
‘= -5.05 [ps/ch]
- SR
TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000~
b

TVC(cbch) (7 0,0)

LAl .saue+09/3
-1350+ 0.1
192.9+ 0.0

= -5.18I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 0,4

S rnu 2.820e+09 /3
pO 941+ 0.1
pl 175.6:+ 0.0

‘= -5.70 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (7 0,8

Tz o8e+09 /3
PD -1013+ 0.1
pl 177.3+ 0.0

‘= -5.64 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (7,0,12

Tinu2570e+09/3
-1320+ 0.1
P1 190.1+ 0.0

= -5.26I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

15000

10000

5000

TVC(cbch) (7 0,1)

Trnang 1:me+09/3
-1256+ 0.1
187+ 0.0

= -5.35;3é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 0,5

AT uzye+09/3
-1059+ 0.1
180 6+ 0.0

‘= -5.54 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7 0,9

Ty /4/e+09/3
-1222+ 0.1
1893+ 0.0

= -5.28I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (7 0,13)

T ¢ UUJe+09/3
-1486+ 0.1
ZDO4+ 0.0

£ -4.99 [psich]

100

TP delay [ns]

15000
10000

5000

15000
10000

5000~

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (7 0,2)

ALY saae+09/3
-1339+ 0.1
193+ 0.0

= -5.18I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (7 0,6

Srnaz29e+09/3
pO 1035 0.1
pl 182.13 0.0

‘= -5.49 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (7 0,10

T 3.012e+09 /3
-1205+ 0.1
187.6+ 0.0

= -5.33I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 0,14

T gaz/e+09/3
-1470+ 0.1
200+ 0.0

£ 5,00 [psich]

50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 0,3)

AL J uvoe+09/3
-1298+ 0.1
190 7+ 0.0

= -5.245}6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 0,7

Srnuan 2 dyye+09/3
-982.5+ 0.1
- 179.1% 0.0

= -5.58 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7 O

AL X Uzée+09/3
-1137£ 0.1
186+ 0.0

= -5.38 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (7 0,15)

T 4 U:)Ie+09/3
-1299+ 0.1
192 5+ 0.0

5190psic)

TP delay [ns]



15000

10000

5000~

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000 [~

TVC(cbch) (7 1,0)

LAl 513/e+09/3
-1056+ 0.1
178.9+ 0.0

= -5.59I [ps/ch]

100

TP delay [ns]

TVC(c, bch) (7 1,4

- Zysze+09 /3
PO -1177+ 0.1
pl 187.3+ 0.0

= -5.34 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (7 1,8

T 2.800e+09 /3
PD -947.3+ 0.1
- pl 177.4+ 0.0

‘= -5.64 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (7,1,12

X-inun Zog(e+09/3
9419+ 0.1
P1 176.9+ 0.0

= -5.65I [ps/ch]

100

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 1,1)

Tona J 1/Je+09/3
-1292+ 0.1
1894+ 0.0

= -5.2?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 1,5

AL L2 3hbe+09/3
-1221£ 0.1
190 9+ 0.0

= -5.24 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (7, 1

Ty //se+0913
-923.6+ 0.1
- 1798+OO

- -5.56I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (7 1,13)

T ¢ U1£e+09/3
-1014+ 0.1
1814+ 0.0

=551 psich)

100

TP delay [ns]

15000

10000

5000~

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (7 1,2)

LAl 454rse+09/3
-788+ 0.1
175.2+ 0.0

= -5.71 [ps/ch]
- S(I) 100
TP delay [ns]
TVC(cbch) (7.1,6)
“nun 3.018e+09 /3
- E? /. _‘
‘= -5.37 [ps/ch]
= S(I) 100

TP delay [ns]

TVC(e.b.ch)= (7 1,10

T 2.838e+09 /3
-437.2+ 0.1
1585+00

= -6.31 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 1,14

T z910e+09 /3
-989.9+ 0.1
178.9+ 0.0

= -5.59I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 1,3)

Tnun g :iuze+09/3
-1120+ 0.1
185+ 0.0

= -5.4; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 1,7

S zd4de+09/3
-1120£ 0.1
1877+ 0.0

= -5.33 [ps/ch]
= 5

100

TP delay [ns]

TVC(eh.eh)=(7, ;

1 zwe+09/3
-824.8+ 0.1
1732+ 0.0

= -5.77 [psich]
gé 100

TP delay [ns]

TVC(cbch) (7 1,15)

T zub4e+0913
-986.3+ 0.1
o 17B3+00

=561 psich]

100

TP delay [ns]



15000

10000

5000~

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

T s15e+09/3

TVC(c,b,ch)=(7,2,0)
T A

po
pL

-1250+ 0.1
189.1+ 0.0

£ -5.29I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7, 2, 4

po
pL

1 3.018e+09 /3
-1233+ 0.1
188.6+ 0.0

= -5.30 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=(7, 2, 8

T 2. 880e+09 /3
-1469+ 0.1
197.7+ 0.0

-5.06 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=(7, 2

,12

T 2,940e+09 /3
-1174 + 0.1
187+ 0.0

= -5.35I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~

15000

10000

5000 -

'

TVC(c,b,ch)=(7, 2
T X

1)

T 3.uove+09 /3
po 1201+ 0.1
p1 183.1+ 0.0

po
pl

T suaze+09/3

TVC(c,b,ch)=(7,2,2)
- T A

-1409+ 0.1
195.5+ 0.0

15000~
10000~

5000 [~
P

-5.12 [ps/ch]

= 5.4(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,2,5)

'

“nua3.ug/e+09/3
po 1186 + 0.1
pl 185+ 0.0

= -5.40 [ps/ch]
%

TPd

TVC(c,b,ch)=(7, 2

100

elay [ns]

,9)

1nun 2.py4e+09 /3

po -1075+ 0.1
pl 183.8+ 0.0

= -5.44I [ps/ch]
50

100

TP delay [ns]

-

TVC(c.b.ch)=(7, 2,

13)

nur 3.003e+09 /3

po -1089+ 0.1
pl 180.3+ 0.0

555 oSl

100

TP delay [ns]

o= £ T00
TP delay [ns]
TVC(c,b,ch)=(7,2,6)
- T X~ 1 Z504e+09/ 3
[ PO 410151 0.
15000~ pl / 1;7,1;: o.o1
10000 ]
5000-_ _-
[ (A= -5.63 [ps/ch]
0 = % 100

TP delay [ns]

TVC(c,b,ch)=( 7, 2, 10)
- . X~ 3.135e+09 / 3
po 1270+ 0.1
[ p1 / 191.7+ 0.0
15000 ]
10000 .
so00- .
[ A= -5.22 [ps/ch]
% - 5(') 10'0

TP delay [ns]

TVC(c,b,ch)=(7, 2, 14)
- r X~ 1w 3.u01e+09 /3
0 1252+ 0.
[ n/ s
15000 7]
10000 .
so00|- .
[ &#= -5.23 [ps/ch]
[ - E——T

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

'

TVC(c,b,ch)=(7, 2, 3)
T A

= -5.145}6 [ps/ch]

T s.108e+09 /3
po 1355+ 0.1
p1 194.6+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(7,2,7)

'

S nuz2y12e+09/3
po 1252+ 0.1
p1 188.1+ 0.0

= -5.31 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(7, 2,

11)

Tonan3.207e+09/3

po -1322+ 0.1
pL 1915+ 0.0

= -5.22 [ps/ch
ﬁ[p ]

100

TP delay [ns]

-

TVC(c.b.ch)=(7, 2,

15)

nur 3.034e+09 /3
-1211+ 0.1

po
pL 187.8+ 0.0

533 oSl

100

TP delay [ns]



TVC(cbch) (7 3,0)

T 5U‘U.e+09/3
/ 1102+ 0.1
15000 184.8+ 0.0
10000 1
5000~ ]
= -5.41 [ps/ch]
R = ey 100
TP delay [ns]
TVC(c,b ch) (7 3,4)
=1 s /8e+09 /3
PO 286+ 0.
pl / 1;2,7: o.o1
15000 &
10000 - n
5000 = n
= -5.19 [ps/ch]
0 B % 100
TP delay [ns]
TVC(c,b ch) (7, 3 )
T zwze-wm‘
PD 1281+ 0.1
15000 pL / 189.5+ 0.0
10000 1
5000 [ ]
= -5.28 [ps/ch]
% - ey 100
TP delay [ns]
TVC(c,b Ch) (7, 3 12)
Tonunz502e+09/3
p1 / 123)475:(?01
15000~
10000~ ]
5000~ ]
= -5.24 [psl/ch]
R — 5(I’ — "5

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~
b

15000

10000

5000

TVC(cbch) (7 3,1)

Tonan J ubze+09/3
-1450+ 0.1
1973+ 0.0

S -5.OZé [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 3,5

SR 3/15+09/3
-1288+ 0.1
191. 1+ 0.0

= -5.23 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (7, 3

nar J use+09 /3
-1385+ 0.1
1964+ 0.0

5 -5.09I [ps/ch]
50

100

TP delay [ns]

TVC(c, bch) (7 3 13)

T ¢ Uuze+09/3
-1207+ 0.1
1874+ 0.0

€534 oSl

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (7 3,2)

AL 4:7a/e+09/3
-1231+ 0.1
Pl 1897+ 0.0

= -5.27I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (7 3,6

S rnun3.100e+09 /3
PO 1124+ 0.1
pL 1813+ 0.0

= -5.52 [ps/ch]

50 00
TP delay [ns]

TVC(cbch) (7 3 10

T 3133e+09 /3
-1248+ 0.1
188.3+ 0.0

= -5.31I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 3 14

T z9z3e+09 /3

-1184 + 0.1
187.2+ 0.0

= -5.34I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 3,3)

AT rnan 4353e+09/3
1148 + 0.1
B 1827+OD

= -5.4;é [ps/ch]

- 100
TP delay [ns]
TVC(c,b ch) (7 3,7 /
S 2 ﬁ/be+09 3
105;‘
B 181.1+ 0.0
‘= -5.52 [ps/ch]
= % T00
TP delay [ns]
TVC(C b Ch) (7 3 09/3
121;‘
- 188 5+ 0.0
‘= -5.30 [ps/ch]
gé 100
TP delay [ns]

TVC(c, bch) (7 3 15)

-1161+ 0.1

T z ume+09/3
186 6+ 0.0

Z 53slpsct]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (7 4,0)

ALY L‘J‘U.e+09/3
-1058+ 0.1
177.6+ 0.0

= -5.63I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 4,4

S rnu2yo1e+09/3
pO 1043 0.1
r pl 175+ 0.0

= -5.72 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (7 4,8

T 2.889e+09 /3
PD -1083+ 0.1
pl 185.3+ 0.0

‘= -5.40 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (7,4,12

S $13e+09/3
-1178+ 0.1
P1 184.8+ 0.0

= -5.41I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 4,1)

Tona 43b::e+09/3
-1103+ 0.1
1823+ 0.0

= -5.4?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 4,5

Ty, uue+09/3
-1268+ 0.1
191 3+ 0.0

= -5.23 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7, 4

AL zﬁase+09/3
-927.8+ 0.1
1785+ 0.0

= -5.60 [ps/ch]
= 5

100

TP delay [ns]

TVC(C, bch) (7 4,13)

T dUdJe+09/3
-1123+ 0.1
1827+00

547 psieh

100

TP delay [ns]

15000
10000

5000

15000
10000

5000 [~

15000
10000

5000

0

15000
10000

5000 [~

TVC(cbch) (7 4,2)

ALY su.sze+09/3
-1116+ 0.1
181.4+ 0.0

= -5.51I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (7 4,6

S rnu 2.980e+09 /3
pO 1218+ 0.1
pl 185.5+ 0.0

‘= -5.39 [ps/ch]
£

100
TP delay [ns]

TVC(e.b.ch)= (7 4,10

T 3152e+09 /3
-864.4% 0.1
1743+ 0.0

- -5.74I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 4,14

T 3.070e+09/3
-1237+ 0.1
191.3+ 0.0

= -5.23I [ps/ch]

1
50 100

TP delay [ns]

20000

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 4,3)

Tona 4 /ue+09/3
- -2267+ 0.1
233 3% 0.0

= -4.2% [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 4,7

T g U/ye+09/3
-1467+ 0.1
200 8+ 0.0

= -4.98 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (7 4

AL X UUHE+09/3
-1031% 0.1
183.1+ 0.0

= -5.46 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (7 4,15)

T 4 Ulde+0913
-1364+ 0.1
195 7+0.0

£supscn

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

TVC(cbch) (7 5,0)

LAl 51a/e+09/3
-1023+ 0.1
179.6+ 0.0

= -5.57I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (7 54

Srnaz./31e+09/3
pO -871.3+ 0.1
pl 173.8+ 0.0

= -5.75 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (7,5,8

5000 =

0

15000

10000

5000 [~
b

X~ rnu 3use+09/3
-1212+ 0.1
Pl 184.9+ 0.0

= -5.41 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (7,5,12

Tonuz9use+09/3
-1240+ 0.1
P1 190.3+ 0.0

= -5.25I [ps/ch]

100

TP delay [ns]

15000

10000

5000 7

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 5,1)

Tona Juue+09/3
-989.4+ 0.1
178.1% 0.0

= -S'Gé [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 55

AT ujye+09/3
-1084+ 0.1
1824+ 0.0

‘= -5.48 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7, 5

rnany m—lle+09 13
-1290+ 0.1
192.1+ 0.0

= -5.21 [ps/ch]
5

100

TP delay [ns]

TVC(C, bch) (7 5,13)

T ¢ U449+0913
-1216+ 0.1
1874+ 0.0

£ 534 sl

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

TVC(cbch) (7 5,2)

AL B lébe+m‘
- 630.3+ 0.1
163 4+ 0.0
= -6.12 [ps/ch]
= S(I) 100
TP delay [ns]
TVC(c,b ch) (7, 5 /
T2 \Juae+09 3
-944.7+ 0.1
r 174 4:‘
= -5.73I [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (7 5,10

Tnan g ldze+09/3
-1111+ 0.1
181 5+ 0.0

= -5.51I [ps/ch]

50 1(3:0
TP delay [ns]

TVC(cbch) (7 5,14)

5000 [~
3

T s uze+09 /3
-1266+ 0.1
1905+ 0.0

= -5.25I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 5,3)

Tnuan g u/:-e+09/3
-1150 + 0.1
188+ 0.0

= -5.3?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 57

a2 Sdle+09 13
-1041£ 0.1
182 4+ 0.0

= -5.48 [ps/ch]
= 5

100
TP delay [ns]

TVC(cbch) (7 511

S dUJ_le+0913
-1220+ 0.1
189 3+ 0.0

‘= -5.28 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (7 5,15)

T z uu:;e+09/3
-1080+ 0.1
183 3+ 0.0
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15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000 [~

-

TVC(c,b,ch)=(7, 6
T X

.0)

nun 3.303e+09 /3

po -1471% 0.1
pL 203.8+ 0.0

= -4.91 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7, 6, 4

= -5.12 [ps/ch]
EY

100
TP delay [ns]

TVC(c,b,ch)=(7,6,8

T 3.333e+09 /3
po 1286+ 0.1
p1 1955+ 0.0

Srnue Z23e409/3
po 9236+ 0.1
pl 177.1+ 0.0

=~ -5.65 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=(7, 6, 12

T g.100e+09 /3
po -700.3+ 0.1
p1 171.6+ 0.0

= -5.83I [ps/ch]
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15000

10000
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10000
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15000

10000
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-

TVC(c,b,ch)=(7, 6
T A

1)

nur 3.209e+09 /3

po -1498+ 0.1
pL 204.9:£ 0.0

= -4.8% [ps/ch]

100

T s.2u2e+09 /3

TVC(c,b,ch)=(7,6,2)
T A

po 1391+ 0.1
_ p1 2004+ 0.0
15000~ ]
10000~ ]
5000 -— _-
C ]
[
L GA= -4.99 [ps/ch]
0 = 5(')

TP delay [ns]

TVC(c,b,ch)=(7,6,5)

“onan3.262e+09 /3

po 1293+ 0.1
p1 1965+ 0.0

= -5.09 [ps/ch]
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100
TP delay [ns]

TVC(c,b,ch)=(7,6,9)

1 2.934e+09 /3

po -1240+ 0.1
pL 1926+ 0.0

= -5.19 [ps/ch]
g

100

TP delay [ns]

Tnun 3.300e+09 /3

TVC(c,b,ch)=( 7, 6, 13)

po -1081x 0.1
pl 187.2+ 0.0

534 0pscn)

TP delay [ns]

100
TP delay [ns]
TVC(c,b,ch)=(7,6,6)
: X~ 3330409 /3
[ po -1305:% 0.
[ p1 / 1;6751 o.o1
15000 ]
10000:— _:
so00- .
t =-5.08 [ps/ch]
0, - 50 100

S nun 3.24@4—09/3
[ po -1169+ 0.1
[ pL 191.7+ 0.0
15000~ 7]
10000~ 7]
soo0}- .
C ]
[
-
[ GA= -5.22 [ps/ch]
0 = : ;
0 50 100

“rnu 6.:))Ne+09 /3
N po -1404+ 0.1
L p1 202+ 0.0
15000~ ]
10000 .
5000~ ]
C ]
[
-
[ = -4.95 [ps/ch]
) S P PP

TP delay [ns]

TVC(c,b,ch)=(7, 6, 10

TP delay [ns]

TVC(c,b,ch)=(7, 6, 14
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15000
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15000

10000
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15000

10000

5000

-

TVC(c,b,ch)=( 7,6, 3)
T A

nur 3.224e+09 /3

po -1355+ 0.1
pL 201.7+ 0.0

= -4.9(3é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,6,7)

rnue 3.21e+09/3

po -1425% 0.1
p1 2036 0.0

= -4.91 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(7, 6, 11)

Tonun3.344e+09/ 3

po -1146 + 0.1
pL 1905+ 0.0

= -5.25 [ps/ch
- ﬁ[p |

100
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Tonan3.524e+09/ 3

TVC(c,b,ch)=(7, 6, 15)

po 1315 0.1
pl 198.7+ 0.0
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TVC(cbch) (7 7,0)

LAl 5U10€+09/3
-830.5+ 0.1
168.2+ 0.0

= -5.95I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 7,4

“rnun Z.byoe+09 /3
pO -939.2+ 0.1
pl 176.4:+ 0.0

= -5.67I [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (7 7,8

Tonunz./49e+09/3
pO 1069+ 0.1
pl 182.4+ 0.0

‘= -5.48 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (7 7,12

T 3.190e+09 /3
-1482+ 0.1
199.7+ 0.0
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100
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TVC(cbch) (7.7,1)

)( 1 nal s 1e+09/3
1069+01
1828+00

= -5.4Zé [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 7,5

AT Lﬂue+09/3
-1106 £ 0.1
1844+ 0.0

‘= -5.42 [ps/ch]
= 5

100
TP delay [ns]

TVCEebeh)=(7, 7

rnany mbe+09/3
-1194 £ 0.1
190 5+ 0.0

= -5.25I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (7 7,13)

T ¢ Uue+09/3
-1469+ 0.1
1993+ 0.0

£ 5,02 [ps/ch]

100

TP delay [ns]

15000
10000

5000

15000
10000
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15000
10000
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0

15000
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TVC(cbch) (7 7,2)

ALY suwe+09/3
-1045+ 0.1
1826+ 0.0

= -5.48I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (7 7,6

S Ubae+09 13
-1040+ 0.1
192 3+ 0.0

= -5.20 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (7 7 10

ALV a\soe+09/3
-1078+ 0.1
182 4+ 0.0

= -5.48I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 7,14)

5000 [~
=

T 4 swe+09 /3
-1316+ 0.1
1955+ 0.0

= -5.12I [ps/ch]

1
50 100

TP delay [ns]

15000

10000
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15000

10000
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15000

10000

5000

15000

10000

5000

TVC(cbch) (7 7.3)

Tnun g :iube+09/3
-1107 + 0.1
184+ 0.0

= -5.445}6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 7

Sz, /b/e+09/3
-1035+ 0.1
- 1804+ 0.0

‘= -5.54 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7 7

Tz u4ze+09/3
-1122+£ 0.1
184 6+ 0.0

= -5.42 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (7 7,15)

T 4 UUHe+09/3
-1395+ 0.1
196 3+ 0.0
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15000
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15000
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0

15000

10000
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P

TVC(cbch) (7 8,0)

Trnang, u<e+09/3
-1329+ 0.1
1904+ 0.0

= -5.25I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 8,4

S rnan3.14/e+09/3
pO -1192+ 0.1
pl 185.1+ 0.0

= -5.40 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (7 8,8

T Zpobe+09 /3
PD -1050+ 0.1
pl 178.9+ 0.0

= -5.59 [ps/ch]
= 5(‘) 100

TP delay [ns]

TVC(cbch) (7,812

Tonu g112e+09/3
-1357+ 0.1
P1 191. 1+ 0.0

-5.23I [ps/ch]

100

TP delay [ns]
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Trna ¢ lee+09/3
-1549+ 0.1
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.-
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0 —
50 100
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TVC(cbch) (7 8, 1)

Trnang uuse+09/3
-1223+ 0.1
1853+ 0.0

= -5.4(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 8,5

Ty, ubye+09/3
-1242+ 0.1
1869+ 0.0

= -5.35 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (7, ;3

rnany mze+09 13
-1301% 0.1
195 9+ 0.0

= -5.10 [ps/ch]
- 5

100

TP delay [ns]

TVC(C, bch) (7 8,13)
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15000
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15000
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5000
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15000

10000
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5000 [~
Fa.

TVC(cbch) (7 8,2)

LAl sque+09/3
-1164 + 0.1
1864+00

= -5.37I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (7 8,6

Srnun 3.133e+09/3
pO 1272+ 0.1
pl 189.3+ 0.0

= -5.28 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (7 8,10

aal 4tsatse+09/3
-686.3+ 0.1
1673+00

= -5.98I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 8 14)

T 1 4u4e+09 12
-1432+ 0.1
2082+ 0.0
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TVC(cbch) (7 8,3)

Tnan g uue+09/3
-1006+ 0.1
177.7+ 0.0

- -5.6:; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 8,7

S 2 3U4&+09/3
-1316+ 0.1
191 2+ 0.0

‘= -5.23 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (7 8

Sl 1mse+09/3
-956 + 0.1
187B+ 0.0

= -5.33 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (7 8,15)

T 4 134e+09/3
-1375+ 0.1
194.1+ 0.0
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I

TVC(c,b,ch)=(7, 9,
T r

Wiy 743e+08 /2
-1601+ 0.1

20000
0
z1 / 2154+ 0.0
15000~ ]
10000~ ]
5000 - 7
G£ -4.64 [ps/ch]
0 = = 100
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TVC(c,b,ch)=(7,9,4)
; X" 1w $211e+09/ 3
po -1585+ 0.
p1 / zéz,:: o.o1
15000~ 7]
10000~ 7
5000 - 71
= -4.94 [ps/ch]
0 50 100
TP delay [ns]
TVC(c,b,ch)=(7, 9, 8)
r X™ 1 2881e+09 /3
po 1143+ 0.1
ol p1 / 186+ 0.0
10000~ T
5000 [~ 7
= -5.38 [ps/ch]
0y £ 5[') 100
TP delay [ns]
TVC(c,b,ch)=(7, 9, 12)
r A- 1 z2881e+09 /3
0 -961.6% 0.
n/ tanies
10000~ 7
5000 - T
‘= -5.67 [ps/ch]
[ - (E—

TP delay [ns]
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10000
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15000
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15000

10000
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T g.s89e+09 /3

TVC(c,b,ch)=(7,9,1)
T A
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pL

-1524+ 0.1
199.4+ 0.0

= -5'035 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,9,5)

po
pl

“nun3155e+09 /3
-1398+ 0.1
195.5+ 0.0

= -5.12 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(7,9,9)

po

1 2. 8y8e+09 /3

-1081# 0.1
pl 184.8+ 0.0

= -5.41I [ps/ch]
50

100

TP delay [ns]

TVC(c,b,ch)=(7,9

po

.13)

Tinuaz914e+09/3

1349+ 0.1
pl 192.5+ 0.0
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-

TVC(c,b,ch)=(7, 9
T X

:2)

nun 3.202e+09 /3
-1505+ 0.1
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p1 1984+ 0.0

G4 -5.04 [ps/ch]

5(') 100

TP delay [ns]

TVC(eh,ch)=(7,9,6) _

T X~ 3.130e+09 / 3

; 5/ _‘

G4 -5.03 [ps/ch]

5(') 100

TP delay [ns]

TVC(c,b,ch)=(7,9,10)
r X™ 1w 295e+09 /3
[ PO 1186+ 0.1
15000} p1 / 1863+ 0.0
10000 L ]
5000 L ]
[ (A= -5.37 [ps/ch]
% = EY %

TP delay [ns]

TVC(c,b,ch)=(7, 9, 14)
- r X- 1w 2913e+09 /3
[ 0 1292+ 0.
i i/ s
15000~ 7]
10000:— _
so00|- '
[ &= -5.24 [ps/ch]
[ - EEE——T

TP delay [ns]

15000

10000

5000

15000

10000
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15000
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15000
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5000

T g1 /se+09 /3

TVC(c,b,ch)=(7,9, 3)
T A
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pL

-1706+ 0.1
210.3+ 0.0

= -4.7% [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,9,7)

S nu2.9y4e+09 /3

s
‘= -5.05 [ps/ch]
50 100
TP delay [ns]
TVC(c,b,ch)=(7,9,11)
i X~ rnun 2lyne+09/3
0 - + 0.
3 21/ 11317?1301
= -5.34 [ps/ch]
= gé 100
TP delay [ns]
TVC(c,b,ch)=( 7,9, 15)
: X~ 1w 3.09/e+09/3
n/ s
G4 -4.88 [ps/ch]
e N [11]
TP delay [ns]
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15000
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TVC(cbch) (7 10,0)

'f'u1¢34/e+09/3
-1182+ 0.1
186.1+ 0.0

= -5.37I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (7.10,4

Sz, 7526409/ 3
1355+ 0.1
pl 193.6+ 0.0

= -5.17 [ps/ch]
£

100
TP delay [ns]

TVC(c,b, ch) (7,10,8

T 3.0ube+09 /3
PD -1346+ 0.1
pl 194.6 + 0.0

= -5.14 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (7.10,12

Tonun 2852e+09/3
-1385+ 0.1
P1 195.6 + 0.0

-5.11 I[ps/ch]
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15000

10000
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10000
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b

TVC(cbch) (7 10, 1)

Ao 4 3b/e+09/3
-1342+ 0.1
1934+ 0.0

= -5.1Zé [ps/ch]

100

TP delay [ns]

TVC(c, bch) (7 10,5)

sz, Hb45+09/3
-1365+ 0.1
195+ 0.0

= -5.13 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (7 10,9

T, HU4&+09/3
-1217+ 0.1
1873+ 0.0

= -5.34I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (7 10,13)

AL 4 Ible+09/3
-1417+ 0.1
197+ 0.0
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TVC(cbch) (7 10,2)

15000

10000
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Lt suzze+09/3
-837.6+ 0.1
172+ 0.0

= -5.81I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (7 10,6

S rnu 2.818e+09 /3
-1292+ 0.1
191.9+ 0.0

15000
10000 :— —:
5000 -— —:
[ G4 -5.21 [ps/ch]
0 - =5 T00

TP delay [ns]

TVC(cbch) (7 10 10

15000

10000

5000~
P

T 2947e+09/3
-1320+ 0.1
189.8+ 0.0

= -5.27I [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (7 10, 14

15000

10000

5000~
3

T 2824e+09 /3
-1246+ 0.1
190.. 1+ 0.0

= -5.26I [ps/ch]

1
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15000

10000

5000

15000

10000
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15000

10000

5000

15000

10000
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TVC(C, bch) (7 10, 3)

-1097+ 0.1

ATz, /:13e+09/3
[ 132 3+ 00

5 -5.426 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (7 10,7)

-1433+ 0.1

SRRITTIPX :44':|E+09/3
197 3% 0.0

= -5.07 [ps/ch]
5

100
TP delay [ns]

TVC(eb,ch)= (7 10,11)

-1154 £ 0.1

Tnun g U::ae+09/3
- 1844+ 0.0

= -5.42 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (7 10,15)

-1418+ 0.1

A z 344e+09/3
196+ 0.0
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10000
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10000

5000 =

0

15000

10000
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TVC(CbCh) (7, 11 0)

T g.zze+09 /3
pO -1516+ 0.1
pl 198.7+ 0.0

= -5.03 [ps/ch]

100

TP delay [ns]

TVC(cbch) (7,11,4

‘= -5.39 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (7,11,8

= -5.49 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (7 11,12)

= -5.51I [ps/ch]

100
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15000

10000
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- rnun 2.969e+09 /3
pO -1090+ 0.1
pl 1854+ 0.0 15000
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TVC(cbch) (7,11,1)

T 8.033e+09 /3
pO -1385+ 0.1
p1 194+ 0.0

= -5.1(;»é [ps/ch]

100

TP delay [ns]

TVC(cbch) (7 1,5)

5000 [~

T 2.508e+09 /3
PD -1028+ 0.1
[ pl 182.2+ 0.0 15000

10000

Sy, /yye+09/3
-827.2+ 0.1
1719+ 0.0

'~ -5.82 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7 11

5000 7

T 4 /ue+09/3
-1086+ 0.1
- 181 4+ 0.0 15000

10000

T, /ﬁée+09/3
-940.4% 0.1
1768+ 0.0

= -5.65 [ps/ch]
= 5

100

TP delay [ns]

TVC(cbch) (7 11,13)
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S 4 rsve+09 /3
-1115+ 0.1
1836+00
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100
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10000
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15000

10000
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T s192e+09/3
pO -1452+ 0.1
pl 199.8+ 0.0

= -5.00 [ps/ch]

100

TP delay [ns]

TVC(cbch) (7 1,6)

- -5.67I [ps/ch]

50 100
TP delay [ns]

TVC(cbch) (7 11,10)

= -5.19I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 11,14)

T s uzze+09 /3
-1347+ 0.1
1966+ 0.0

= -5.09I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

S zﬁﬁle+09/3
L -879.5+ 0.1
- 1765+ 0.0 15000

10000

5000

RERLEIICE 1¢Je+09/3
-1271+ 0.1
192 6+ 00 15000

10000

5000

15000

10000

5000

TVC(cbch) (7,11,3)

“rnun 3.143e+09 /3
pO -1469+ 0.1
pl 199.8+ 0.0

= -5.0é[ps/ch]

100

TP delay [ns]

TVC(cbch) (7 1,7)

T2 dzde+09 13
-997.9+ 0.1
- 180 8+ 0.0

'~ -5.53 [ps/ch]
= 5

100
TP delay [ns]

TVC(Ebeh)= (7 1,11)

Tz u//e+09/3
-1084+ 0.1
[ 182.1+ 0.0

= -5.49 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (7 11,15)

S 4 vaze+09 /3
-1192+ 0.1
189+ 0.0
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TVC sigma (RMS) (c,b,ch)=(0,0,0)
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2F T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,8)

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,1)
2

05 =1

TVC sigma (RMS) (c,b,ch)=(0,0,5)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,2)

2 T T

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,0,6)

2 T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,0,14)

15

05

TVC sigma (RMS) (c,b,ch)=(0,0,3)

2F T T B

15 1

05 -1

TVC sigma (RMS) (c,b,ch)=(0,0,7)

= T T ]

15 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,11)
T T
ok ]

05 .

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,15)




TVC sigma (RMS) (c,b,ch)=(0,1,0)

TVC sigma (RMS) (c,b,ch)=(0,1,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,8)

T T
2

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,1)

= T L

15 =1

05 =1

TVC sigma (RMS) (c,b,ch)=(0,1,5)

T T
2k -

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,9)

T T
2k -

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,1,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,1,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,1,3)

TVC sigma (RMS) (c,b,ch)=(0,1,7)

T T
2k m

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,15)




TVC sigma (RMS) (c,b,ch)=(0,2,0)

TVC sigma (RMS) (c,b,ch)=(0,2,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,8)

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,1)

TVC sigma (RMS) (c,b,ch)=(0,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,9)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,2,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,2,14)

15

05

TVC sigma (RMS) (c,b,ch)=(0,2,3)

TVC sigma (RMS) (c,b,ch)=(0,2,7)

15F -

05F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(0,3,0)

TVC sigma (RMS) (c,b,ch)=(0,3,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,8)

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,3,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,1)

TVC sigma (RMS) (c,b,ch)=(0,3,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,9)

151 1

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,3,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,3,14)

15

05

TVC sigma (RMS) (c,b,ch)=(0,3,3)

TVC sigma (RMS) (c,b,ch)=(0,3,7)

15F -1

1 1
0 EY 100

TVC sigma (RMS) (c,b,ch)=(0,3,11)

15 1

05F -1

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,3,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(0,4,0)

TVC sigma (RMS) (c,b,ch)=(0,4,4)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,1)

>F T T

15

05

TVC sigma (RMS) (c,b,ch)=(0,4,5)

oF T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,9)

2F T T

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,13)

2F T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,2)

2 T T

TVC sigma (RMS) (c,b,ch)=(0,4,6)

2 T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,10)

o
T T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,4,14)

TVC sigma (RMS) (c,b,ch)=(0,4,3)

SF T T ]

15 -

05 1

TVC sigma (RMS) (c,b,ch)=(0,4,7)

2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,11)
T T
2 ]

15 1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,15)




TVC sigma (RMS) (c,b,ch)=(0,5,0)

.F T T ]

0.5 -1

TVC sigma (RMS) (c,b,ch)=(0,5,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,5,12)

2F T T 3

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,1)

2F T T =

15 -1

o5 -1

TVC sigma (RMS) (c,b,ch)=(0,5,5)

2F T T =

15 =1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,9)

2 T T

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,13)

2F T T =

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,2)

0.5

TVC sigma (RMS) (c,b,ch)=(0,5,6)

2 T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,5,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,5,3)

2F T T B

15 1

05 -

TVC sigma (RMS) (c,b,ch)=(0,5,7)

15F -

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,11)

2F T T ]

15F -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,15)

2F T T .




TVC sigma (RMS) (c,b,ch)=(0,6,0)

TVC sigma (RMS) (c,b,ch)=(0,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,8)

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,1)

TVC sigma (RMS) (c,b,ch)=(0,6,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,9)

15 -

05 _

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,6,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(0,6,14)

15

05

TVC sigma (RMS) (c,b,ch)=(0,6,3)

TVC sigma (RMS) (c,b,ch)=(0,6,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(0,7,0)

TVC sigma (RMS) (c,b,ch)=(0,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,1)

TVC sigma (RMS) (c,b,ch)=(0,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,7,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(0,7,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,7,3)

15F

TVC sigma (RMS) (c,b,ch)=(0,7,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,11)

15F

05F

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(0,8,0)

TVC sigma (RMS) (c,b,ch)=(0,8,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,1)

TVC sigma (RMS) (c,b,ch)=(0,8,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,9)

15 b

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,8,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,10)

15

0.5

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,8,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,8,3)

TVC sigma (RMS) (c,b,ch)=(0,8,7)

15 -

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,11)

15[ 1

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(0,9,0)

TVC sigma (RMS) (c,b,ch)=(0,9,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,1)

TVC sigma (RMS) (c,b,ch)=(0,9,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,9)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,9,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,9,14)

15

05

TVC sigma (RMS) (c,b,ch)=(0,9,3)

15}

05

TVC sigma (RMS) (c,b,ch)=(0,9,7)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,11)

15F

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(0,10,0)

2F

1
100

TVC sigma (RMS) (c,b,ch)=(0,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(0,10,8)

1
100

TVC sigma (RMS) (c,b,ch)=(0,10,12)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,10,13)

TVC sigma (RMS) (c,b,ch)=(0,10,1)

TVC sigma (RMS) (c,b,ch)=(0,10,5)

1
100

TVC sigma (RMS) (c,b,ch)=(0,10,9)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(0,10,2)

2 T

0.5

.
LI e s e L B

TVC sigma (RMS) (c,b,ch)=(0,10,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(0,10,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(0,10,14)

1
100

T
2

15

0.5

15

05

15

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,10,15)

TVC sigma (RMS) (c,b,ch)=(0,10,3)

TVC sigma (RMS) (c,b,ch)=(0,10,7)

1
100

TVC sigma (RMS) (c,b,ch)=(0,10,11)

1
100

1
100




TVC sigma (RMS) (c,b,ch)=(0,11,0)

TVC sigma (RMS) (c,b,ch)=(0,11,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,11,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,11,12)

TVC sigma (RMS) (c,b,ch)=(0,11,1)

TVC sigma (RMS) (c,b,ch)=(0,11,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,11,9)

T T
2k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,11,13)

15

0.5

15

2

15

05

0

15

05

TVC sigma (RMS) (c,b,ch)=(0,11,2)

TVC sigma (RMS) (c,b,ch)=(0,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,11,14)

TVC sigma (RMS) (c,b,ch)=(0,11,3)

TVC sigma (RMS) (c,b,ch)=(0,11,7)

= T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,11,11)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,11,15)




TVC sigma (RMS) (c,b,ch)=(0,12,0)

TVC sigma (RMS) (c,b,ch)=(0,12,4)

1
100

TVC sigma (RMS) (c,b,ch)=(0,12,8)

1
100

0 50

TVC sigma (RMS) (c,b,ch)=(0,12,12)

1
100

TVC sigma (RMS) (c,b,ch)=(0,12,1)

1
100

TVC sigma (RMS) (c,b,ch)=(0,12,5)

1
100

TVC sigma (RMS) (c,b,ch)=(0,12,9)

T
2k

1
100

TVC sigma (RMS) (c,b,ch)=(0,12,13)

TVC sigma (RMS) (c,b,ch)=(0,12,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,12,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(0,12,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(0,12,14)

1
100

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,12,3)

TVC sigma (RMS) (c,b,ch)=(0,12,7)

1
100

15k

TVC sigma (RMS) (¢,b,ch)=(0,12,11)

1
100

15

TVC sigma (RMS) (c,b,ch)=(0,12,15)

1
100




TVC sigma (RMS) (c,b,ch)=(0,13,0)

TVC sigma (RMS) (c,b,ch)=(0,13,4)

1
100

TVC sigma (RMS) (c,b,ch)=(0,13,8)

1
100

TVC sigma (RMS) (c,b,ch)=(0,13,12)

1
100

2k

TVC sigma (RMS) (c,b,ch)=(0,13,1)

TVC sigma (RMS) (c,b,ch)=(0,13,5)

1
100

TVC sigma (RMS) (c,b,ch)=(0,13,9)

1
100

TVC sigma (RMS) (c,b,ch)=(0,13,13)

1
100

15

0.5

15

TVC sigma (RMS) (c,b,ch)=(0,13,2)

TVC sigma (RMS) (c,b,ch)=(0,13,6)

1
100

TVC sigma (RMS) (c,b,ch)=(0,13,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(0,13,14)

1
100

15

0.5

15

2

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,13,15)

TVC sigma (RMS) (c,b,ch)=(0,13,3)

TVC sigma (RMS) (c,b,ch)=(0,13,7)

1
100

TVC sigma (RMS) (c,b,ch)=(0,13,11)

1
100

1
100




TVC sigma (RMS) (c,b,ch)=(0,14,0)

TVC sigma (RMS) (c,b,ch)=(0,14,4)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,8)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,12)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,1)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,5)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,9)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,13)

05

TVC sigma (RMS) (c,b,ch)=(0,14,2)

TVC sigma (RMS) (c,b,ch)=(0,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,10)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,14)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,3)

1
100

TVC sigma (RMS) (c,b,ch)=(0,14,7)

T
2k

1
100

TVC sigma (RMS) (¢,b,ch)=(0,14,11)

T
2k

TVC sigma (RMS) (c,b,ch)=(0,14,15)

1
100




TVC sigma (RMS) (c,b,ch)=(0,15,0)

TVC sigma (RMS) (c,b,ch)=(0,15,4)

1
100

SF T

TVC sigma (RMS) (c,b,ch)=(0,15,8)

1
100

TVC sigma (RMS) (c,b,ch)=(0,15,12)

1
100

T
2

TVC sigma (RMS) (c,b,ch)=(0,15,1)

2k

TVC sigma (RMS) (c,b,ch)=(0,15,5)

1
100

TVC sigma (RMS) (c,b,ch)=(0,15,9)

1
100

TVC sigma (RMS) (c,b,ch)=(0,15,13)

1
100

2F

TVC sigma (RMS) (c,b,ch)=(0,15,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,15,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(0,15,10)

1
100

2 T

15

05

0

TVC sigma (RMS) (c,b,ch)=(0,15,14)

1
100

T
2

15

0.5

TVC sigma (RMS) (c,b,ch)=(0,15,3)

oF T

15F

05

TVC sigma (RMS) (c,b,ch)=(0,15,7)

1
100

T
2k

15F

TVC sigma (RMS) (c,b,ch)=(0,15,11)

1
100

2F T

15[

TVC sigma (RMS) (c,b,ch)=(0,15,15)

1
100




TVC sigma (RMS) (c,b,ch)=(1,0,0)

TVC sigma (RMS) (c,b,ch)=(1,0,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,1)

15

TVC sigma (RMS) (c,b,ch)=(1,0,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,9)

T T
2k

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,0,6)

15

1
0 50 00

TVC sigma (RMS) (c,b,ch)=(1,0,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(1,0,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,0,3)

15

05

TVC sigma (RMS) (c,b,ch)=(1,0,7)

15[

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,11)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(1,1,0)

05 -

TVC sigma (RMS) (c,b,ch)=(1,1,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,1)

,F T T ]

15 -

05 -1

TVC sigma (RMS) (c,b,ch)=(1,1,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,9)

T T
2k -

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,1,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,1,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,1,3)
T T
ok ]

15 -1

05 1

TVC sigma (RMS) (c,b,ch)=(1,1,7)
T T
s ]

1 1
0 EY 100

TVC sigma (RMS) (c,b,ch)=(1,1,11)

T T
2k .

15 -1

05F -1

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,1,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(1,2,0)

T T
2k

05

TVC sigma (RMS) (c,b,ch)=(1,2,4)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,1)

T T
2

15

05

TVC sigma (RMS) (c,b,ch)=(1,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,2)

T T
2

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,2,6)

F T T 3
2 ]
15| 3
1 ]
osf ]
0 EY 0
TVC sigma (RMS) (c,b,ch)=(1,2,10)
T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,2,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,2,3)

T T
2k .

15 -

05 1

TVC sigma (RMS) (c,b,ch)=(1,2,7)

T T
2k .

15F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,15)




TVC sigma (RMS) (c,b,ch)=(1,3,0)

TVC sigma (RMS) (c,b,ch)=(1,3,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,1)

TVC sigma (RMS) (c,b,ch)=(1,3,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,9)

15[ _

05 _

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,13)

2F T T =

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,3,6)

15

1
0 50 00

TVC sigma (RMS) (c,b,ch)=(1,3,10)

15

0.5

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(1,3,14)

0.5

TVC sigma (RMS) (c,b,ch)=(1,3,3)

TVC sigma (RMS) (c,b,ch)=(1,3,7)

15F -1

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,11)
T T
oF ]

15 -1

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,15)




TVC sigma (RMS) (c,b,ch)=(1,4,0)

TVC sigma (RMS) (c,b,ch)=(1,4,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,4,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,4,1)

T T
2F -

15 -1

05 =

TVC sigma (RMS) (c,b,ch)=(1,4,5)

T T
2 -

15 -1

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,4,9)

15 -1

05 -

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,4,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,4,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,4,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,4,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(1,4,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,4,3)

TVC sigma (RMS) (c,b,ch)=(1,4,7)
T T
ok ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,4,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,4,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(1,5,0)

TVC sigma (RMS) (c,b,ch)=(1,5,4)

T T
2

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,1)

T T
2

15

05

TVC sigma (RMS) (c,b,ch)=(1,5,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,5,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,5,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,5,3)

TVC sigma (RMS) (c,b,ch)=(1,5,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,11)

T T
2k .

15 -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,15)




TVC sigma (RMS) (c,b,ch)=(1,6,0)

TVC sigma (RMS) (c,b,ch)=(1,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,8)

T T
2

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,1)

TVC sigma (RMS) (c,b,ch)=(1,6,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,9)

15[ 1

05 -

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,6,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(1,6,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,6,3)

TVC sigma (RMS) (c,b,ch)=(1,6,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,11)
T T
ok J

15[ 1

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,15)




TVC sigma (RMS) (c,b,ch)=(1,7,0)

TVC sigma (RMS) (c,b,ch)=(1,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,1)

T T
2k -

15 -1

o5 -1

TVC sigma (RMS) (c,b,ch)=(1,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,9)

T T
2k -

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,7,6)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,7,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,7,3)

> T T

15

05

TVC sigma (RMS) (c,b,ch)=(1,7,7)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,11)

2 T T

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(1,8,0)

2F T T ]

05 -

TVC sigma (RMS) (c,b,ch)=(1,8,4)

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,1)

TVC sigma (RMS) (c,b,ch)=(1,8,5)

T T
2k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,9)

1517 _

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,8,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,10)

15

05

1 1
% 50 00

TVC sigma (RMS) (c,b,ch)=(1,8,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,8,3)

TVC sigma (RMS) (c,b,ch)=(1,8,7)

15[ 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,11)

T T
2k .

15 -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,15)




TVC sigma (RMS) (c,b,ch)=(1,9,0)

TVC sigma (RMS) (c,b,ch)=(1,9,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,8)

2 T T

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,9,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,1)

TVC sigma (RMS) (c,b,ch)=(1,9,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,9)

T T
2k -

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,2)

5 T T

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,9,6)

- T T <4
2 ]
15k .
s ]
osf 3
0 EY 0
TVC sigma (RMS) (c,b,ch)=(1,9,10)
T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,9,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,9,3)

T T
2k m

05 -1

TVC sigma (RMS) (c,b,ch)=(1,9,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,11)

T T
2k .

15F -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,15)




TVC sigma (RMS) (c,b,ch)=(1,10,0)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,8)

0 50

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,12)

TVC sigma (RMS) (c,b,ch)=(1,10,1)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,5)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,9)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,13)

0.5

TVC sigma (RMS) (c,b,ch)=(1,10,2)

TVC sigma (RMS) (c,b,ch)=(1,10,6)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,10)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,14)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,3)

TVC sigma (RMS) (c,b,ch)=(1,10,7)

1
100

T T
2k
15[
1
05
0, 1 1
50 100
TVC sigma (RMS) (c,b,ch)=(1,10,11)
T T
ok
1F
0, 1 1
50 00
TVC sigma (RMS) (c,b,ch)=(1,10,15)
T T
PR R |
50 100




TVC sigma (RMS) (c,b,ch)=(1,11,0)

TVC sigma (RMS) (c,b,ch)=(1,11,4)

T T
2

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,12)

15

15

0.5

2

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,11,1)

TVC sigma (RMS) (c,b,ch)=(1,11,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,13)

TVC sigma (RMS) (c,b,ch)=(1,11,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,11,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,11,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,11,3)

15

TVC sigma (RMS) (c,b,ch)=(1,11,7)

T T
2k

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,11)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,15)




TVC sigma (RMS) (c,b,ch)=(1,12,0)

TVC sigma (RMS) (c,b,ch)=(1,12,4)

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,8)

1
100

0 50

TVC sigma (RMS) (c,b,ch)=(1,12,12)

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,1)

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,5)

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,9)

2k

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,13)

TVC sigma (RMS) (c,b,ch)=(1,12,2)

TVC sigma (RMS) (c,b,ch)=(1,12,6)

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,10)

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,14)

1
100

o
T

TVC sigma (RMS) (c,b,ch)=(1,12,3)

2F T

15F

05

TVC sigma (RMS) (c,b,ch)=(1,12,7)

1
100

TVC sigma (RMS) (¢,b,ch)=(1,12,11)

1
100

TVC sigma (RMS) (c,b,ch)=(1,12,15)

1
100




TVC sigma (RMS) (c,b,ch)=(1,13,0)

T
2k

05

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,4)

T
2

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,8)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,12)

TVC sigma (RMS) (c,b,ch)=(1,13,1)

15

05

TVC sigma (RMS) (c,b,ch)=(1,13,5)

1
100

T
2k

15

TVC sigma (RMS) (c,b,ch)=(1,13,9)

1
100

2F T

05

TVC sigma (RMS) (c,b,ch)=(1,13,13)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,13,6)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(1,13,10)

1
100

15

05

0 1

TVC sigma (RMS) (c,b,ch)=(1,13,14)

1
100

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,13,3)

TVC sigma (RMS) (c,b,ch)=(1,13,7)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,11)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,15)

1
100




TVC sigma (RMS) (c,b,ch)=(1,14,0)

TVC sigma (RMS) (c,b,ch)=(1,14,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,14,8)

2F T T =

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,14,12)

TVC sigma (RMS) (c,b,ch)=(1,14,1)

TVC sigma (RMS) (c,b,ch)=(1,14,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,14,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,14,13)

TVC sigma (RMS) (c,b,ch)=(1,14,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,14,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,14,10)

T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,14,14)

15

05

TVC sigma (RMS) (c,b,ch)=(1,14,3)

15

TVC sigma (RMS) (c,b,ch)=(1,14,7)

1
50 100

TVC sigma (RMS) (¢,b,ch)=(1,14,11)

T T
2k

15F

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,14,15)




2

TVC sigma (RMS) (c,b,ch)=(1,15,0)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,4)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,8)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,12)

TVC sigma (RMS) (c,b,ch)=(1,15,1)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,5)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,9)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,13)

TVC sigma (RMS) (c,b,ch)=(1,15,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,15,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(1,15,10)

1
100

15

05

0 1

TVC sigma (RMS) (c,b,ch)=(1,15,14)

1
100

T
2

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,15,3)

15

TVC sigma (RMS) (c,b,ch)=(1,15,7)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,11)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,15)

1
100

2
15
1
05
P 1
0 50 T00




TVC sigma (RMS) (c,b,ch)=(2,0,0)

TVC sigma (RMS) (c,b,ch)=(2,0,4)

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,8)

1
100

05

0 50

TVC sigma (RMS) (c,b,ch)=(2,0,12)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,1)

15

05

TVC sigma (RMS) (c,b,ch)=(2,0,5)

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,9)

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,13)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,0,6)

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,10)

1
100

15

05
% 5 00
TVC sigma (RMS) (c,b,ch)=(2,0,14)
T T
2

15

05

TVC sigma (RMS) (c,b,ch)=(2,0,3)

15

05

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,7)

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,11)

1
100

TVC sigma (RMS) (c,b,ch)=(2,0,15)

1
100



TVC sigma (RMS) (c,b,ch)=(2,1,0)

05 -

TVC sigma (RMS) (c,b,ch)=(2,1,4)

SF T T ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,1)

15 =1

05 =1

TVC sigma (RMS) (c,b,ch)=(2,1,5)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,9)

15 b

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,1,6)

2 T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,1,14)

15

05

TVC sigma (RMS) (c,b,ch)=(2,1,3)

TVC sigma (RMS) (c,b,ch)=(2,1,7)

T T
2F m

15 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,15)




TVC sigma (RMS) (c,b,ch)=(2,2,0)

T T
2k m

0.5 -1

TVC sigma (RMS) (c,b,ch)=(2,2,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,1)

TVC sigma (RMS) (c,b,ch)=(2,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,9)

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,2,6)

T T
2 ]
15 m
1 ]
osf ]
0 EY 0
TVC sigma (RMS) (c,b,ch)=(2,2,10)
T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,2,14)

15

05

TVC sigma (RMS) (c,b,ch)=(2,2,3)

15 -1

05 -

TVC sigma (RMS) (c,b,ch)=(2,2,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,11)

T T
2k .

15F -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,15)




TVC sigma (RMS) (c,b,ch)=(2,3,0)

TVC sigma (RMS) (c,b,ch)=(2,3,4)

T T
2k m

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,1)

TVC sigma (RMS) (c,b,ch)=(2,3,5)

T T
2k

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,9)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,2)

TVC sigma (RMS) (c,b,ch)=(2,3,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,10)

05
% 5 00
TVC sigma (RMS) (c,b,ch)=(2,3,14)
2 T T

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,3,3)

TVC sigma (RMS) (c,b,ch)=(2,3,7)

oF T T 3

15pF -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,11)

T T
2k .

15[ 1

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,15)




TVC sigma (RMS) (c,b,ch)=(2,4,0)

TVC sigma (RMS) (c,b,ch)=(2,4,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,1)

oF T T ]

15 =1

05 =1

TVC sigma (RMS) (c,b,ch)=(2,4,5)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,9)

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,4,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,4,14)

15

05

TVC sigma (RMS) (c,b,ch)=(2,4,3)

,F T T ]

15

05

TVC sigma (RMS) (c,b,ch)=(2,4,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,11)

15 1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,15)

2F T T ]




TVC sigma (RMS) (c,b,ch)=(2,5,0)

TVC sigma (RMS) (c,b,ch)=(2,5,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,8)

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,5,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,1)

TVC sigma (RMS) (c,b,ch)=(2,5,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,9)

15 -

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,5,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,5,14)

15

05

TVC sigma (RMS) (c,b,ch)=(2,5,3)

TVC sigma (RMS) (c,b,ch)=(2,5,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,15)




TVC sigma (RMS) (c,b,ch)=(2,6,0)

TVC sigma (RMS) (c,b,ch)=(2,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,12)

2F T T .

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,1)

TVC sigma (RMS) (c,b,ch)=(2,6,5)

2F T T =

15 =1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,6,6)

2 T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(2,6,14)

15

05

TVC sigma (RMS) (c,b,ch)=(2,6,3)

TVC sigma (RMS) (c,b,ch)=(2,6,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,11)

05 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,6,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(2,7,0)

TVC sigma (RMS) (c,b,ch)=(2,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,1)

TVC sigma (RMS) (c,b,ch)=(2,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,7,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(2,7,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,7,3)

TVC sigma (RMS) (c,b,ch)=(2,7,7)

05F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,11)

15 -1

05 .

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,7,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(2,8,0)

TVC sigma (RMS) (c,b,ch)=(2,8,4)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,8)

T T
2k

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,8,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,1)

TVC sigma (RMS) (c,b,ch)=(2,8,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,9)

T T
2k -

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,8,6)

2 T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,8,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,8,3)

TVC sigma (RMS) (c,b,ch)=(2,8,7)
T T
oF ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,11)

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(2,9,0)

TVC sigma (RMS) (c,b,ch)=(2,9,4)

1
100

T
2k

TVC sigma (RMS) (c,b,ch)=(2,9,8)

1
100

T
2F

05

0 50

TVC sigma (RMS) (c,b,ch)=(2,9,12)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,1)

T
2F

15

05

TVC sigma (RMS) (c,b,ch)=(2,9,5)

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,9)

1
100

T
2k

05

TVC sigma (RMS) (c,b,ch)=(2,9,13)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,2)

2

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,9,6)

15

15

05

0

15

05

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,10)

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,14)

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,3)

2

15

05

TVC sigma (RMS) (c,b,ch)=(2,9,7)

15

0.5

15

0.5

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,11)

1
100

TVC sigma (RMS) (c,b,ch)=(2,9,15)

1
100




TVC sigma (RMS) (c,b,ch)=(2,10,0)

TVC sigma (RMS) (c,b,ch)=(2,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,8)

1
100

T
2

15
1

05
0 1
0 50

TVC sigma (RMS) (c,b,ch)=(2,10,12)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,1)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,5)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,9)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,13)

TVC sigma (RMS) (c,b,ch)=(2,10,2)

TVC sigma (RMS) (c,b,ch)=(2,10,6)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,10)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,14)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(2,10,3)

TVC sigma (RMS) (c,b,ch)=(2,10,7)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,11)

1
100

T T
2k
15
1
05F
0 | 1
50 100

TVC sigma (RMS) (c,b,ch)=(2,10,15)




TVC sigma (RMS) (c,b,ch)=(2,11,0)

TVC sigma (RMS) (c,b,ch)=(2,11,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,8)

05 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,11,12)

TVC sigma (RMS) (c,b,ch)=(2,11,1)

TVC sigma (RMS) (c,b,ch)=(2,11,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,13)

TVC sigma (RMS) (c,b,ch)=(2,11,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,11,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(2,11,14)

15

05

TVC sigma (RMS) (c,b,ch)=(2,11,3)

TVC sigma (RMS) (c,b,ch)=(2,11,7)

15[

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,11)

05F

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,15)




TVC sigma (RMS) (c,b,ch)=(2,12,0)

TVC sigma (RMS) (c,b,ch)=(2,12,4)

1
100

T
2

TVC sigma (RMS) (c,b,ch)=(2,12,8)

1
100

T
2k

0 50

TVC sigma (RMS) (c,b,ch)=(2,12,12)

1
100

TVC sigma (RMS) (c,b,ch)=(2,12,1)

T
2k

TVC sigma (RMS) (c,b,ch)=(2,12,5)

1
100

TVC sigma (RMS) (c,b,ch)=(2,12,9)

1
100

TVC sigma (RMS) (c,b,ch)=(2,12,13)

1
100

TVC sigma (RMS) (c,b,ch)=(2,12,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,12,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(2,12,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(2,12,14)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(2,12,3)

TVC sigma (RMS) (c,b,ch)=(2,12,7)

1
100

T
2k

15F

TVC sigma (RMS) (¢,b,ch)=(2,12,11)

1
100

15

TVC sigma (RMS) (c,b,ch)=(2,12,15)

1
100

oF
15
1
05

PP B 1
0 50 T00




TVC sigma (RMS) (c,b,ch)=(2,13,0)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,4)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,8)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,12)

TVC sigma (RMS) (c,b,ch)=(2,13,1)

TVC sigma (RMS) (c,b,ch)=(2,13,5)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,9)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,13)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,2)

TVC sigma (RMS) (c,b,ch)=(2,13,6)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,10)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,14)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,3)

T
2F

15

TVC sigma (RMS) (c,b,ch)=(2,13,7)

1
100

TVC sigma (RMS) (c,b,ch)=(2,13,11)

1
100

15F

TVC sigma (RMS) (c,b,ch)=(2,13,15)

1
100




TVC sigma (RMS) (c,b,ch)=(2,14,0)

TVC sigma (RMS) (c,b,ch)=(2,14,4)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,8)

1
100

05

0 50

TVC sigma (RMS) (c,b,ch)=(2,14,12)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,1)

T
2k

15

TVC sigma (RMS) (c,b,ch)=(2,14,5)

1
100

T
2k

15

TVC sigma (RMS) (c,b,ch)=(2,14,9)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(2,14,13)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,2)

TVC sigma (RMS) (c,b,ch)=(2,14,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(2,14,10)

1
100

15

05

0 1

TVC sigma (RMS) (c,b,ch)=(2,14,14)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(2,14,3)

2F T

15F

05

TVC sigma (RMS) (c,b,ch)=(2,14,7)

1
100

TVC sigma (RMS) (¢,b,ch)=(2,14,11)

1
100

15[

05

TVC sigma (RMS) (c,b,ch)=(2,14,15)

1
100




TVC sigma (RMS) (c,b,ch)=(2,15,0)

T
2

05

TVC sigma (RMS) (c,b,ch)=(2,15,4)

1
100

T
2

TVC sigma (RMS) (c,b,ch)=(2,15,8)

1
100

TVC sigma (RMS) (c,b,ch)=(2,15,12)

1
100

TVC sigma (RMS) (c,b,ch)=(2,15,1)

2F T

1
100

TVC sigma (RMS) (c,b,ch)=(2,15,5)

2F

1
100

TVC sigma (RMS) (c,b,ch)=(2,15,9)

1
100

TVC sigma (RMS) (c,b,ch)=(2,15,13)

TVC sigma (RMS) (c,b,ch)=(2,15,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,15,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(2,15,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(2,15,14)

1
100

T
2

15

0.5

TVC sigma (RMS) (c,b,ch)=(2,15,3)

TVC sigma (RMS) (c,b,ch)=(2,15,7)

1
100

TVC sigma (RMS) (c,b,ch)=(2,15,11)

1
100

2k

15F

TVC sigma (RMS) (c,b,ch)=(2,15,15)

1
100




TVC sigma (RMS) (c,b,ch)=(3,0,0)

T T
2

05

TVC sigma (RMS) (c,b,ch)=(3,0,4)

T T
2F

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,1)

TVC sigma (RMS) (c,b,ch)=(3,0,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,0,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,0,14)

15

05

TVC sigma (RMS) (c,b,ch)=(3,0,3)

TVC sigma (RMS) (c,b,ch)=(3,0,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,0,15)




TVC sigma (RMS) (c,b,ch)=(3,1,0)

TVC sigma (RMS) (c,b,ch)=(3,1,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,1)

15

05

TVC sigma (RMS) (c,b,ch)=(3,1,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,9)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,1,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,1,14)

15

05

TVC sigma (RMS) (c,b,ch)=(3,1,3)

TVC sigma (RMS) (c,b,ch)=(3,1,7)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,11)

15

05F

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,15)




TVC sigma (RMS) (c,b,ch)=(3,2,0)

T T
2 m

0.5 -1

TVC sigma (RMS) (c,b,ch)=(3,2,4)

SF T T ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,8)

T T
2k .

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,1)

TVC sigma (RMS) (c,b,ch)=(3,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,9)

15[ 1

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,2,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,2,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,2,3)

15 -

05 -

TVC sigma (RMS) (c,b,ch)=(3,2,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,11)

15F -1

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,15)




TVC sigma (RMS) (c,b,ch)=(3,3,0)

TVC sigma (RMS) (c,b,ch)=(3,3,4)

1
100

TVC sigma (RMS) (c,b,ch)=(3,3,8)

1
100

TVC sigma (RMS) (c,b,ch)=(3,3,12)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(3,3,1)

TVC sigma (RMS) (c,b,ch)=(3,3,5)

1
100

TVC sigma (RMS) (c,b,ch)=(3,3,9)

1
100

T
2k

05

TVC sigma (RMS) (c,b,ch)=(3,3,13)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(3,3,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,3,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(3,3,10)

1
100

15

05

0 1

TVC sigma (RMS) (c,b,ch)=(3,3,14)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(3,3,3)

TVC sigma (RMS) (c,b,ch)=(3,3,7)

1
100

T
2k

15

TVC sigma (RMS) (c,b,ch)=(3,3,11)

1
100

TVC sigma (RMS) (c,b,ch)=(3,3,15)

1
100




TVC sigma (RMS) (c,b,ch)=(3,4,0)

TVC sigma (RMS) (c,b,ch)=(3,4,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,1)

TVC sigma (RMS) (c,b,ch)=(3,4,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,4,6)

15

o
2
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,4,14)

15

05

TVC sigma (RMS) (c,b,ch)=(3,4,3)

TVC sigma (RMS) (c,b,ch)=(3,4,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,11)

T T
2k .

15 b

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,15)




TVC sigma (RMS) (c,b,ch)=(3,5,0)

TVC sigma (RMS) (c,b,ch)=(3,5,4)

2F T L

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,5,8)

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,5,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,5,1)

2

15

05

TVC sigma (RMS) (c,b,ch)=(3,5,5)

2F T T =

15 =1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,5,9)

15 _

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,5,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,5,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,5,6)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,5,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,5,14)

15

05

TVC sigma (RMS) (c,b,ch)=(3,5,3)

TVC sigma (RMS) (c,b,ch)=(3,5,7)
T T
ok ]

15[ 1

1
0 EY 100

TVC sigma (RMS) (c,b,ch)=(3,5,11)

05 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,5,15)




TVC sigma (RMS) (c,b,ch)=(3,6,0)

TVC sigma (RMS) (c,b,ch)=(3,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,1)

TVC sigma (RMS) (c,b,ch)=(3,6,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,9)

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,2)

~
T

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,6,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,6,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,6,3)

TVC sigma (RMS) (c,b,ch)=(3,6,7)

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,11)

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(3,7,0)

TVC sigma (RMS) (c,b,ch)=(3,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,1)

SF T T ]

15 -

05 -1

TVC sigma (RMS) (c,b,ch)=(3,7,5)

oF T T 7]

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,9)

15[ _

05 _

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,7,6)

5 T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(3,7,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,7,3)

TVC sigma (RMS) (c,b,ch)=(3,7,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,11)

T T
2k m

15 -1

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,15)




TVC sigma (RMS) (c,b,ch)=(3,8,0)

TVC sigma (RMS) (c,b,ch)=(3,8,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,8)

T T
2 m

05 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,8,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,1)

TVC sigma (RMS) (c,b,ch)=(3,8,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,8,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,8,14)

15

05

TVC sigma (RMS) (c,b,ch)=(3,8,3)

15

TVC sigma (RMS) (c,b,ch)=(3,8,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,11)

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(3,9,0)

1
100

TVC sigma (RMS) (c,b,ch)=(3,9,4)

TVC sigma (RMS) (c,b,ch)=(3,9,1)

15

1
100

TVC sigma (RMS) (c,b,ch)=(3,9,2)

15

0.5

1
100

TVC sigma (RMS) (c,b,ch)=(3,9,5)

TVC sigma (RMS) (c,b,ch)=(3,9,6)

TVC sigma (RMS) (c,b,ch)=(3,9,3)

2

15

05

1
100

TVC sigma (RMS) (c,b,ch)=(3,9,7)

TVC sigma (RMS) (c,b,ch)=(3,9,8)

1
100

TVC sigma (RMS) (c,b,ch)=(3,9,12)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(3,9,9)

1
100

15[

05

TVC sigma (RMS) (c,b,ch)=(3,9,13)

1
100

1
100

15

2

TVC sigma (RMS) (c,b,ch)=(3,9,10)

1
100

15

05

0 1

TVC sigma (RMS) (c,b,ch)=(3,9,14)

1
100

15 1

TVC sigma (RMS) (c,b,ch)=(3,9,11)

1
100

05

TVC sigma (RMS) (c,b,ch)=(3,9,15)

1
100

1
100




TVC sigma (RMS) (c,b,ch)=(3,10,0)

TVC sigma (RMS) (c,b,ch)=(3,10,4)

1
100

2k

TVC sigma (RMS) (c,b,ch)=(3,10,8)

1
100

0

0

TVC sigma (RMS) (c,b,ch)=(3,10,12)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,1)

TVC sigma (RMS) (c,b,ch)=(3,10,5)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,9)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,13)

1
100

2k

TVC sigma (RMS) (c,b,ch)=(3,10,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,10,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(3,10,10)

1
100

T
2

15

05

0

TVC sigma (RMS) (c,b,ch)=(3,10,14)

1
100

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,10,3)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,7)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,11)

15

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,15)




TVC sigma (RMS) (c,b,ch)=(3,11,0)

1
100

TVC sigma (RMS) (c,b,ch)=(3,11,4)

TVC sigma (RM

1
100

S) (c,b,ch)=(3,11,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,11,12)

TVC sigma (RMS) (c,b,ch)=(3,11,1)

1
100

TVC sigma (RMS) (c,b,ch)=(3,11,5)

2F

15

1
100

TVC sigma (RMS) (c,b,ch)=(3,11,9)

15

05

1
100

TVC sigma (RMS) (c,b,ch)=(3,11,13)

2

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,11,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,11,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(3,11,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(3,11,14)

1
100

T
2

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,11,3)

TVC sigma (RMS) (c,b,ch)=(3,11,7)

1
100

15

TVC sigma (RMS) (c,b,ch)=(3,11,11)

1
100

15[

05

1
100

TVC sigma (RMS) (c,b,ch)=(3,11,15)




TVC sigma (RMS) (c,b,ch)=(4,0,0)

TVC sigma (RMS) (c,b,ch)=(4,0,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,1)

oF T T ]

15 =1

05 =1

TVC sigma (RMS) (c,b,ch)=(4,0,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,0,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,0,3)

TVC sigma (RMS) (c,b,ch)=(4,0,7)
T T
2F ]

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,11)

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,15)




TVC sigma (RMS) (c,b,ch)=(4,1,0)

0.5 -1

TVC sigma (RMS) (c,b,ch)=(4,1,4)

T T
2k .

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,8)

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,1)

AN T T

15

05

TVC sigma (RMS) (c,b,ch)=(4,1,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,9)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,1,6)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,1,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,1,3)

2

15

05

TVC sigma (RMS) (c,b,ch)=(4,1,7)
T T
ok ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,11)

T T
2k m

15 -1

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,15)




TVC sigma (RMS) (c,b,ch)=(4,2,0)

TVC sigma (RMS) (c,b,ch)=(4,2,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,1)

TVC sigma (RMS) (c,b,ch)=(4,2,5)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,9)

15 1

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,2,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,2,14)

15

05

TVC sigma (RMS) (c,b,ch)=(4,2,3)

TVC sigma (RMS) (c,b,ch)=(4,2,7)

15 -

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,11)

15 -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,15)




TVC sigma (RMS) (c,b,ch)=(4,3,0)

TVC sigma (RMS) (c,b,ch)=(4,3,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,1)

TVC sigma (RMS) (c,b,ch)=(4,3,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,9)

15 _

05 _

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,3,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,3,14)

15

05

TVC sigma (RMS) (c,b,ch)=(4,3,3)

TVC sigma (RMS) (c,b,ch)=(4,3,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,11)

15 1

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(4,4,0)

TVC sigma (RMS) (c,b,ch)=(4,4,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,1)

TVC sigma (RMS) (c,b,ch)=(4,4,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,2)

5 T T

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,4,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,4,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,4,3)

TVC sigma (RMS) (c,b,ch)=(4,4,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,11)

05F 7

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,15)




TVC sigma (RMS) (c,b,ch)=(4,5,0)

TVC sigma (RMS) (c,b,ch)=(4,5,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,8)

05 T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,5,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,1)

T T
2F -

15 =

05 =

TVC sigma (RMS) (c,b,ch)=(4,5,5)

05 N

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,9)

15 1

05 N

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,5,6)

15

05
0 EY 0
TVC sigma (RMS) (c,b,ch)=(4,5,10)
[ T T ]
2F -
15[ ]
i ]
05 —
% 5 00
TVC sigma (RMS) (c,b,ch)=(4,5,14)
- T T <4
2k ]
sk ]
i -
osf 3
0, n n 5(I) n n n n 160 n

TVC sigma (RMS) (c,b,ch)=(4,5,3)

15 N

05 -

TVC sigma (RMS) (c,b,ch)=(4,5,7)

15 -1

05 T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,11)

05F 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(4,6,0)

(O] o 1

TVC sigma (RMS) (c,b,ch)=(4,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,8)

T T
2 -

05 T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,1)

T T
2F -

15 -1

05 -1

TVC sigma (RMS) (c,b,ch)=(4,6,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,6,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,6,14)

15

05

TVC sigma (RMS) (c,b,ch)=(4,6,3)

TVC sigma (RMS) (c,b,ch)=(4,6,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,11)

05 T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,15)




TVC sigma (RMS) (c,b,ch)=(4,7,0)

TVC sigma (RMS) (c,b,ch)=(4,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,1)

TVC sigma (RMS) (c,b,ch)=(4,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,9)

151 -1

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,7,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,7,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,7,3)

TVC sigma (RMS) (c,b,ch)=(4,7,7)

15 1

1 1
0 EY 100

TVC sigma (RMS) (c,b,ch)=(4,7,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(4,8,0)

TVC sigma (RMS) (c,b,ch)=(4,8,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,8)

T T
2

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,8,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,1)

TVC sigma (RMS) (c,b,ch)=(4,8,5)

oF T T 7]

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,9)

T T
2F -

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,2)

T T
2

TVC sigma (RMS) (c,b,ch)=(4,8,6)

5 T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,8,14)

TVC sigma (RMS) (c,b,ch)=(4,8,3)

2

15

05

TVC sigma (RMS) (c,b,ch)=(4,8,7)

T T
2k m

15 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,15)

2F T T 3




TVC sigma (RMS) (c,b,ch)=(4,9,0)

TVC sigma (RMS) (c,b,ch)=(4,9,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,8)

05 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,9,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,1)

TVC sigma (RMS) (c,b,ch)=(4,9,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,9)

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,9,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,9,14)

15

05

TVC sigma (RMS) (c,b,ch)=(4,9,3)

TVC sigma (RMS) (c,b,ch)=(4,9,7)

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,9,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(4,10,0)

TVC sigma (RMS) (c,b,ch)=(4,10,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,10,12)

oF T T

TVC sigma (RMS) (c,b,ch)=(4,10,1)

TVC sigma (RMS) (c,b,ch)=(4,10,5)

oF T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,13)

TVC sigma (RMS) (c,b,ch)=(4,10,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,10,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,10,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,10,3)

TVC sigma (RMS) (c,b,ch)=(4,10,7)

T T
2k

15

1
50 100

TVC sigma (RMS) (¢,b,ch)=(4,10,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,15)

oF
15
1
05

PP R
0 50 T00




TVC sigma (RMS) (c,b,ch)=(4,11,0)

2F T T

05

TVC sigma (RMS) (c,b,ch)=(4,11,4)

oF T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,12)

TVC sigma (RMS) (c,b,ch)=(4,11,1)

TVC sigma (RMS) (c,b,ch)=(4,11,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,9)

T T
2k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,13)

TVC sigma (RMS) (c,b,ch)=(4,11,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,11,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,10)

T T
2

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(4,11,14)

15

05

TVC sigma (RMS) (c,b,ch)=(4,11,3)

2F T T

05

TVC sigma (RMS) (c,b,ch)=(4,11,7)

15F

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,15)




TVC sigma (RMS) (c,b,ch)=(4,12,0)

2F

0.5

TVC sigma (RMS) (c,b,ch)=(4,12,4)

1
100

2k

TVC sigma (RMS) (c,b,ch)=(4,12,8)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,12)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,1)

2F

TVC sigma (RMS) (c,b,ch)=(4,12,5)

1
100

2k

2

TVC sigma (RMS) (c,b,ch)=(4,12,9)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,13)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,2)

TVC sigma (RMS) (c,b,ch)=(4,12,6)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,10)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,14)

1
100

2 T

TVC sigma (RMS) (c,b,ch)=(4,12,3)

2F

TVC sigma (RMS) (c,b,ch)=(4,12,7)

1
100

2F

TVC sigma (RMS) (¢,b,ch)=(4,12,11)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,15)

1
100

2k




TVC sigma (RMS) (c,b,ch)=(4,13,0)

TVC sigma (RMS) (c,b,ch)=(4,13,4)

oF T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,8)

oF T T

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,13,12)

TVC sigma (RMS) (c,b,ch)=(4,13,1)

TVC sigma (RMS) (c,b,ch)=(4,13,5)

oF T T ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,13)

T T
2

TVC sigma (RMS) (c,b,ch)=(4,13,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,13,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,10)

2 T T

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,13,14)

T T
2

15

0.5

TVC sigma (RMS) (c,b,ch)=(4,13,3)
T T

TVC sigma (RMS) (c,b,ch)=(4,13,7)
T T

1
50 100

TVC sigma (RMS) (¢,b,ch)=(4,13,11)

2F T T =

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,15)




TVC sigma (RMS) (c,b,ch)=(4,14,0)

TVC sigma (RMS) (c,b,ch)=(4,14,4)

1
100

SF T

TVC sigma (RMS) (c,b,ch)=(4,14,8)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,12)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,1)

2F

TVC sigma (RMS) (c,b,ch)=(4,14,5)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,9)

1
100

2k

TVC sigma (RMS) (c,b,ch)=(4,14,13)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,2)

TVC sigma (RMS) (c,b,ch)=(4,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,10)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,14)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,3)

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,7)

1
100

TVC sigma (RMS) (¢,b,ch)=(4,14,11)

2F T

15

1
100

TVC sigma (RMS) (c,b,ch)=(4,14,15)




TVC sigma (RMS) (c,b,ch)=(4,15,0)

T T
2

TVC sigma (RMS) (c,b,ch)=(4,15,4)

SF T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,12)

2F T T

TVC sigma (RMS) (c,b,ch)=(4,15,1)

2F T T ]

TVC sigma (RMS) (c,b,ch)=(4,15,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,9)

T T
2k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,2)

TVC sigma (RMS) (c,b,ch)=(4,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,15,14)

05

TVC sigma (RMS) (c,b,ch)=(4,15,3)
T T

TVC sigma (RMS) (c,b,ch)=(4,15,7)

T T
2k .

1
50 100

TVC sigma (RMS) (¢,b,ch)=(4,15,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,15)

oF ]
15 —
i ]
05 -
PP R
0 50 T00




TVC sigma (RMS) (c,b,ch)=(5,0,0)

TVC sigma (RMS) (c,b,ch)=(5,0,4)

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,1)

T T
2

15

05

TVC sigma (RMS) (c,b,ch)=(5,0,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,0,6)

F T T 3
2 ]
ik ]
1 ]
osk ]
0 EY 0
TVC sigma (RMS) (c,b,ch)=(5,0,10)
T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,0,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,0,3)

TVC sigma (RMS) (c,b,ch)=(5,0,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,11)

15[ 1

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,15)




TVC sigma (RMS) (c,b,ch)=(5,1,0)

TVC sigma (RMS) (c,b,ch)=(5,1,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,1)

TVC sigma (RMS) (c,b,ch)=(5,1,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,1,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,1,14)

05

TVC sigma (RMS) (c,b,ch)=(5,1,3)

TVC sigma (RMS) (c,b,ch)=(5,1,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,11)

T T
2k .

15[ 1

05 .

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,15)




TVC sigma (RMS) (c,b,ch)=(5,2,0)

05

TVC sigma (RMS) (c,b,ch)=(5,2,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,8)

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,1)

15 -1

05 =1

TVC sigma (RMS) (c,b,ch)=(5,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,9)

15 =1

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,2,6)

5 T T 3
S .
15k .
s .
osk .
0 EY 0
TVC sigma (RMS) (c,b,ch)=(5,2,10)
T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,2,14)

15

05

TVC sigma (RMS) (c,b,ch)=(5,2,3)

15 1

05 -

TVC sigma (RMS) (c,b,ch)=(5,2,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,11)

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,15)




TVC sigma (RMS) (c,b,ch)=(5,3,0)

2F T T

05

TVC sigma (RMS) (c,b,ch)=(5,3,4)

SF T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,1)

SF T T

15

05

TVC sigma (RMS) (c,b,ch)=(5,3,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,9)

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,2)

2 T T

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,3,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(5,3,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,3,3)

2F T T ]

15k -

05 -

TVC sigma (RMS) (c,b,ch)=(5,3,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,15)




TVC sigma (RMS) (c,b,ch)=(5,4,0)

TVC sigma (RMS) (c,b,ch)=(5,4,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,8)

T T
2k

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,1)

05 =1

TVC sigma (RMS) (c,b,ch)=(5,4,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,9)

15 1

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,2)

2 T T

=
L e B B B .

TVC sigma (RMS) (c,b,ch)=(5,4,6)

T T
2

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,4,14)

TVC sigma (RMS) (c,b,ch)=(5,4,3)

2F T T ]

15k -

05 -

TVC sigma (RMS) (c,b,ch)=(5,4,7)

T T
2F .

15k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,11)

T T
2k .

15 -1

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,15)

2F T T =




TVC sigma (RMS) (c,b,ch)=(5,5,0)

T T
2 m

05 -

TVC sigma (RMS) (c,b,ch)=(5,5,1)

15 =1

05 =1

TVC sigma (RMS) (c,b,ch)=(5,5,2)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(5,5,3)

15 -1

05 N

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(5,5,4)

SF T T .

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,8)

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,5,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,5)

TVC sigma (RMS) (c,b,ch)=(5,5,6)

T T
2F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,9)

15 -

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,13)

1
50 100

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,5,10)

15

05

0

1
100

TVC sigma (RMS) (c,b,ch)=(5,5,14)

15

05

TVC sigma (RMS) (c,b,ch)=(5,5,7)
T T
s ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,11)

T T
2k .

15 1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,15)




TVC sigma (RMS) (c,b,ch)=(5,6,0)

SF T T ]

05 -

TVC sigma (RMS) (c,b,ch)=(5,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,1)

2

15

05

TVC sigma (RMS) (c,b,ch)=(5,6,5)

T T
2k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,9)

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,2)

2

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,6,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(5,6,14)

15

05

TVC sigma (RMS) (c,b,ch)=(5,6,3)

TVC sigma (RMS) (c,b,ch)=(5,6,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,11)

T T
2k .

15 -1

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,6,15)




TVC sigma (RMS) (c,b,ch)=(5,7,0)

SF T T

05

TVC sigma (RMS) (c,b,ch)=(5,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,8)

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,1)

15 =1

05 =1

TVC sigma (RMS) (c,b,ch)=(5,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,9)

15 n

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,7,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,7,14)

4 T T

TVC sigma (RMS) (c,b,ch)=(5,7,3)

TVC sigma (RMS) (c,b,ch)=(5,7,7)

15[ 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,15)

4F T T ]




TVC sigma (RMS) (c,b,ch)=(5,8,0)

T T
2 m

05 1

TVC sigma (RMS) (c,b,ch)=(5,8,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,8)

T T
2k m

05 -1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,8,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,1)

TVC sigma (RMS) (c,b,ch)=(5,8,5)

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,8,9)

T T
2F -

05 1

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,8,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(5,8,14)

15

05

TVC sigma (RMS) (c,b,ch)=(5,8,3)

T T
2F m

05 -1

TVC sigma (RMS) (c,b,ch)=(5,8,7)

T T
2k .

15F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,11)
T T
oF ]

15F -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,15)




TVC sigma (RMS) (c,b,ch)=(5,9,0)

2 T T

05

TVC sigma (RMS) (c,b,ch)=(5,9,4)

2F T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,1)

o5

TVC sigma (RMS) (c,b,ch)=(5,9,5)

oF T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,9)

T T
2k

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,2)

2 T T

=
LI e o i e s B Lo e
PRRTEEN TR BT ERT I U S ST U T T

TVC sigma (RMS) (c,b,ch)=(5,9,6)

2 T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,9,14)

TVC sigma (RMS) (c,b,ch)=(5,9,3)

>F T T ]

15F -

05 -

TVC sigma (RMS) (c,b,ch)=(5,9,7)
T T
s ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,11)
2fF T T 3

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,15)




TVC sigma (RMS) (c,b,ch)=(5,10,0)

2k

TVC sigma (RMS) (c,b,ch)=(5,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,8)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,12)

1
100

2F

TVC sigma (RMS) (c,b,ch)=(5,10,1)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,5)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,9)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,13)

2k

TVC sigma (RMS) (c,b,ch)=(5,10,2)

TVC sigma (RMS) (c,b,ch)=(5,10,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,14)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,3)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,7)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,11)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,15)




0.5

TVC sigma (RMS) (c,b,ch)=(5,11,0)

TVC sigma (RMS) (c,b,ch)=(5,11,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,12)

TVC sigma (RMS) (c,b,ch)=(5,11,1)

TVC sigma (RMS) (c,b,ch)=(5,11,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,13)

TVC sigma (RMS) (c,b,ch)=(5,11,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,11,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,11,14)

T T
2

15

0.5

15

TVC sigma (RMS) (c,b,ch)=(5,11,3)
T T

TVC sigma (RMS) (c,b,ch)=(5,11,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,15)




TVC sigma (RMS) (c,b,ch)=(5,12,0)

TVC sigma (RMS) (c,b,ch)=(5,12,4)

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,8)

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,12)

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,1)

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,5)

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,9)

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,13)

TVC sigma (RMS) (c,b,ch)=(5,12,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,12,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(5,12,10)

1
100

15

05

0 1

TVC sigma (RMS) (c,b,ch)=(5,12,14)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(5,12,3)

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,7)

1
100

TVC sigma (RMS) (¢,b,ch)=(5,12,11)

T
2k

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,12,15)




TVC sigma (RMS) (c,b,ch)=(5,13,0)

TVC sigma (RMS) (c,b,ch)=(5,13,4)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,8)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,12)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,1)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,5)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,9)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,13)

2k

15

0.5

TVC sigma (RMS) (c,b,ch)=(5,13,2)

TVC sigma (RMS) (c,b,ch)=(5,13,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,14)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,3)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,7)

1
100

TVC sigma (RMS) (c,b,ch)=(5,13,11)

TVC sigma (RMS) (c,b,ch)=(5,13,15)

1
100




TVC sigma (RMS) (c,b,ch)=(5,14,0)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,4)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,8)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,12)

TVC sigma (RMS) (c,b,ch)=(5,14,1)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,5)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,9)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,13)

TVC sigma (RMS) (c,b,ch)=(5,14,2)

TVC sigma (RMS) (c,b,ch)=(5,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,14)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,3)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,7)

1
100

TVC sigma (RMS) (¢,b,ch)=(5,14,11)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,15)




TVC sigma (RMS) (c,b,ch)=(5,15,0)

2F T T ]

TVC sigma (RMS) (c,b,ch)=(5,15,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,15,12)

TVC sigma (RMS) (c,b,ch)=(5,15,1)

TVC sigma (RMS) (c,b,ch)=(5,15,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,13)

TVC sigma (RMS) (c,b,ch)=(5,15,2)

TVC sigma (RMS) (c,b,ch)=(5,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,15,14)

05

TVC sigma (RMS) (c,b,ch)=(5,15,3)
T T

TVC sigma (RMS) (c,b,ch)=(5,15,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,15)




TVC sigma (RMS) (c,b,ch)=(6,0,0)

.F T T

TVC sigma (RMS) (c,b,ch)=(6,0,4)

T T
2

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,1)

TVC sigma (RMS) (c,b,ch)=(6,0,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,0,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(6,0,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,0,3)

,F T T ]

15

05

TVC sigma (RMS) (c,b,ch)=(6,0,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,11)
T T
ok ]

15 -1

05 .

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,15)




TVC sigma (RMS) (c,b,ch)=(6,1,0)

05 -

TVC sigma (RMS) (c,b,ch)=(6,1,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,1)

TVC sigma (RMS) (c,b,ch)=(6,1,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,9)

T T
2F -

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,1,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,1,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,1,3)

TVC sigma (RMS) (c,b,ch)=(6,1,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,11)

T T
2k .

15F -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,15)




TVC sigma (RMS) (c,b,ch)=(6,2,0)

TVC sigma (RMS) (c,b,ch)=(6,2,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,1)

TVC sigma (RMS) (c,b,ch)=(6,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,9)

15F 4

05 -

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,2,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(6,2,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,2,3)

15 -1

05 -1

TVC sigma (RMS) (c,b,ch)=(6,2,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(6,3,0)

T T
2 m

0.5 -1

TVC sigma (RMS) (c,b,ch)=(6,3,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,1)

TVC sigma (RMS) (c,b,ch)=(6,3,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,9)

15 1

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,2)

TVC sigma (RMS) (c,b,ch)=(6,3,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,3,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,3,3)

15 -1

TVC sigma (RMS) (c,b,ch)=(6,3,7)

15F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,15)




TVC sigma (RMS) (c,b,ch)=(6,4,0)

TVC sigma (RMS) (c,b,ch)=(6,4,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,1)

TVC sigma (RMS) (c,b,ch)=(6,4,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,4,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(6,4,14)

15

05

TVC sigma (RMS) (c,b,ch)=(6,4,3)

TVC sigma (RMS) (c,b,ch)=(6,4,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,11)

T T
2F -

15 -1

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,15)




TVC sigma (RMS) (c,b,ch)=(6,5,0)

05

TVC sigma (RMS) (c,b,ch)=(6,5,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,8)

T T
2

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,5,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,1)

T T
2k -

05 =1

TVC sigma (RMS) (c,b,ch)=(6,5,5)

2F T T ]

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,9)

T T
2k -

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,5,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,5,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,5,3)

15

05

TVC sigma (RMS) (c,b,ch)=(6,5,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,11)

T T
2k

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(6,6,0)

T T
2k

0.5

TVC sigma (RMS) (c,b,ch)=(6,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,8)

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,1)

AN T T

15

05

TVC sigma (RMS) (c,b,ch)=(6,6,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,9)

T T
2k

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,6,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,6,14)

15

05

TVC sigma (RMS) (c,b,ch)=(6,6,3)

TVC sigma (RMS) (c,b,ch)=(6,6,7)

15 -1

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,15)




TVC sigma (RMS) (c,b,ch)=(6,7,0)

0.5 -

TVC sigma (RMS) (c,b,ch)=(6,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,1)

15 -

05 =1

TVC sigma (RMS) (c,b,ch)=(6,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,9)

151 _

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,7,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(6,7,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,7,3)

15

05

TVC sigma (RMS) (c,b,ch)=(6,7,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,11)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(6,8,0)

2 T T =

05 1

TVC sigma (RMS) (c,b,ch)=(6,8,4)

oF T T =

] -

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,1)

AN T T ]

15

05

TVC sigma (RMS) (c,b,ch)=(6,8,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,9)

15 -

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,8,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(6,8,14)

15

05

TVC sigma (RMS) (c,b,ch)=(6,8,3)

2F T T ]

15 -

05 -

TVC sigma (RMS) (c,b,ch)=(6,8,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,11)

2F T T ]

15[ .

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,15)




TVC sigma (RMS) (c,b,ch)=(6,9,0)

T T
2k .

05 -

TVC sigma (RMS) (c,b,ch)=(6,9,4)

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,1)

TVC sigma (RMS) (c,b,ch)=(6,9,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,9)

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,9,6)

[ T T ]

ok ]
15 [ —-

WP ]
1

0 EY 0

TVC sigma (RMS) (c,b,ch)=(6,9,10)
T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,9,14)

15

05

TVC sigma (RMS) (c,b,ch)=(6,9,3)

TVC sigma (RMS) (c,b,ch)=(6,9,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,11)

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(6,10,0)

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,8)

05

0 50

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,12)

TVC sigma (RMS) (c,b,ch)=(6,10,1)

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,5)

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,9)

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,13)

TVC sigma (RMS) (c,b,ch)=(6,10,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,10,6)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(6,10,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(6,10,14)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(6,10,3)

15

05

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,7)

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,11)

1
100

TVC sigma (RMS) (c,b,ch)=(6,10,15)




0.5

TVC sigma (RMS) (c,b,ch)=(6,11,0)

TVC sigma (RMS) (c,b,ch)=(6,11,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,12)

TVC sigma (RMS) (c,b,ch)=(6,11,1)

TVC sigma (RMS) (c,b,ch)=(6,11,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,13)

TVC sigma (RMS) (c,b,ch)=(6,11,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,11,6)

N
T

15

05

1
0 50 00

TVC sigma (RMS) (c,b,ch)=(6,11,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(6,11,14)

15

05

TVC sigma (RMS) (c,b,ch)=(6,11,3)

15

05

TVC sigma (RMS) (c,b,ch)=(6,11,7)

15

05F

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,15)




TVC sigma (RMS) (c,b,ch)=(6,12,0)

2F T

05

1
100

TVC sigma (RMS) (c,b,ch)=(6,12,4)

05

1
100

TVC sigma (RMS) (c,b,ch)=(6,12,8)

0 50

1
100

TVC sigma (RMS) (c,b,ch)=(6,12,12)

TVC sigma (RMS) (c,b,ch)=(6,12,1)

1
100

TVC sigma (RMS) (c,b,ch)=(6,12,5)

1
100

TVC sigma (RMS) (c,b,ch)=(6,12,9)

1
100

TVC sigma (RMS) (c,b,ch)=(6,12,13)

TVC sigma (RMS) (c,b,ch)=(6,12,2)

2 T

0.5

=
LI e o B e B B 1 B

TVC sigma (RMS) (c,b,ch)=(6,12,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(6,12,10)

1
100

T
2

15

05

0

TVC sigma (RMS) (c,b,ch)=(6,12,14)

1
100

T
2

15

0.5

TVC sigma (RMS) (c,b,ch)=(6,12,3)

15

1
100

TVC sigma (RMS) (c,b,ch)=(6,12,7)

15

05

TVC sigma (RMS) (¢,b,ch)=(6,12,11)

1
100

15

TVC sigma (RMS) (c,b,ch)=(6,12,15)

1
100




TVC sigma (RMS) (c,b,ch)=(6,13,0)

TVC sigma (RMS) (c,b,ch)=(6,13,4)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,8)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,12)

1
100

2F

TVC sigma (RMS) (c,b,ch)=(6,13,1)

TVC sigma (RMS) (c,b,ch)=(6,13,5)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,9)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,13)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,2)

TVC sigma (RMS) (c,b,ch)=(6,13,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,14)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,3)

TVC sigma (RMS) (c,b,ch)=(6,13,7)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(6,13,11)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(6,13,15)

1
100




TVC sigma (RMS) (c,b,ch)=(6,14,0)

TVC sigma (RMS) (c,b,ch)=(6,14,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,14,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,14,12)

T T
2

TVC sigma (RMS) (c,b,ch)=(6,14,1)

TVC sigma (RMS) (c,b,ch)=(6,14,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,14,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,14,13)

TVC sigma (RMS) (c,b,ch)=(6,14,2)

TVC sigma (RMS) (c,b,ch)=(6,14,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,14,10)

2

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,14,14)

TVC sigma (RMS) (c,b,ch)=(6,14,3)

T T
2F m

15 -

TVC sigma (RMS) (c,b,ch)=(6,14,7)
T T

1
50 100

TVC sigma (RMS) (¢,b,ch)=(6,14,11)

2

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,14,15)




TVC sigma (RMS) (c,b,ch)=(6,15,0)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,4)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,8)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,12)

TVC sigma (RMS) (c,b,ch)=(6,15,1)

2F T

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,5)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,9)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,13)

TVC sigma (RMS) (c,b,ch)=(6,15,2)

TVC sigma (RMS) (c,b,ch)=(6,15,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,14)

1
100

05

TVC sigma (RMS) (c,b,ch)=(6,15,3)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,7)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,11)

T
2

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,15)




TVC sigma (RMS) (c,b,ch)=(7,0,0)

TVC sigma (RMS) (c,b,ch)=(7,0,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,1)

TVC sigma (RMS) (c,b,ch)=(7,0,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,9)

15 -

05 -

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,0,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,0,14)

15

05

TVC sigma (RMS) (c,b,ch)=(7,0,3)

TVC sigma (RMS) (c,b,ch)=(7,0,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,11)

T T
2k .

15 1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(7,1,0)

TVC sigma (RMS) (c,b,ch)=(7,1,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,1)

T T
2F -

15 -1

o5 -1

TVC sigma (RMS) (c,b,ch)=(7,1,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,1,6)

- T T <4
2 .
1sf ]
i .
osf 3
0 EY 0
TVC sigma (RMS) (c,b,ch)=(7,1,10)
T T
2

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,1,14)

15

05

TVC sigma (RMS) (c,b,ch)=(7,1,3)

TVC sigma (RMS) (c,b,ch)=(7,1,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,11)

2F T T .

15 -1

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,15)




TVC sigma (RMS) (c,b,ch)=(7,2,0)

TVC sigma (RMS) (c,b,ch)=(7,2,4)

Py T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,8)

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,2,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,1)

TVC sigma (RMS) (c,b,ch)=(7,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,9)

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,2)

TVC sigma (RMS) (c,b,ch)=(7,2,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,2,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,2,3)

2

15

05

TVC sigma (RMS) (c,b,ch)=(7,2,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,15)




TVC sigma (RMS) (c,b,ch)=(7,3,0)

TVC sigma (RMS) (c,b,ch)=(7,3,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,1)

TVC sigma (RMS) (c,b,ch)=(7,3,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,9)

05 -

1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,3,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,3,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(7,3,14)

15

05

TVC sigma (RMS) (c,b,ch)=(7,3,3)

TVC sigma (RMS) (c,b,ch)=(7,3,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,11)

T T

2k .

15[ 1

1 -

05 -1
0 | 1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(7,4,0)

TVC sigma (RMS) (c,b,ch)=(7,4,4)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,1)

TVC sigma (RMS) (c,b,ch)=(7,4,5)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,9)

05 7

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,13)

= T T =

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,4,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(7,4,10)

1
100

15

05

0

TVC sigma (RMS) (c,b,ch)=(7,4,14)

1
100

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,4,3)

TVC sigma (RMS) (c,b,ch)=(7,4,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,11)

T T
ok m

15 T

05 7

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(7,5,0)

TVC sigma (RMS) (c,b,ch)=(7,5,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,1)

2k T T 3

15 -1

o5 -1

TVC sigma (RMS) (c,b,ch)=(7,5,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,9)

15 b

05 _

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,5,6)

15

1
0 50 00

TVC sigma (RMS) (c,b,ch)=(7,5,10)

15

05

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(7,5,14)

15

05

TVC sigma (RMS) (c,b,ch)=(7,5,3)

TVC sigma (RMS) (c,b,ch)=(7,5,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,11)

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(7,6,0)

TVC sigma (RMS) (c,b,ch)=(7,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,1)

TVC sigma (RMS) (c,b,ch)=(7,6,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,9)

T T
2k -

05 _

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,6,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,6,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,6,3)

TVC sigma (RMS) (c,b,ch)=(7,6,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,11)

oF T T =

15 -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,15)




TVC sigma (RMS) (c,b,ch)=(7,7,0)

SF T T ]

05 -

TVC sigma (RMS) (c,b,ch)=(7,7,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,1)

.F T T ]

15

05

TVC sigma (RMS) (c,b,ch)=(7,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,9)

151~ _

05 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,7,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,7,14)

15

05

TVC sigma (RMS) (c,b,ch)=(7,7,3)

TVC sigma (RMS) (c,b,ch)=(7,7,7)

15[ 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,11)

05F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,7,15)

1
50 100



TVC sigma (RMS) (c,b,ch)=(7,8,0)

TVC sigma (RMS) (c,b,ch)=(7,8,4)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,8)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,12)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,1)

2

15

05

TVC sigma (RMS) (c,b,ch)=(7,8,5)

1
100

2k

15

TVC sigma (RMS) (c,b,ch)=(7,8,9)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(7,8,13)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,2)

15

0.5

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,6)

15

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,10)

15

05

0

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,8,3)

TVC sigma (RMS) (c,b,ch)=(7,8,7)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,11)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,15)

1
100




TVC sigma (RMS) (c,b,ch)=(7,9,0)

TVC sigma (RMS) (c,b,ch)=(7,9,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,8)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,1)

SF T T ]

15 -1

05 -1

TVC sigma (RMS) (c,b,ch)=(7,9,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,9)

T T
2k -

05 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(7,9,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,10)

15

05

0

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,9,14)

15

05

TVC sigma (RMS) (c,b,ch)=(7,9,3)

TVC sigma (RMS) (c,b,ch)=(7,9,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,11)

T T
2k .

15F -1

05 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,9,15)

1
50 100



